

ANNUAL PROCUREMENT PLAN FOR 2014
For Common-Use Supplies and Equipment

INSTRUCTIONS IN FILLING OUT THE ANNUAL PROCUREMENT PLAN (APP) FORM:

1. Indicate the agency's monthly requirement per item in the APP form. The form will automatically compute for the Total Amount per item and the Grand Total.
2. Do not delete any field in the APP Form.
3. For Other items not available from the Procurement Service but regularly purchased from other sources, agency must specify/indicate the item name under each category and unit price based on their last purchase of the item/s.
4. Submit the duly accomplished APP form in two (2) soft copies and two (2) hard copies (duly signed by Agency officials) to the Agency's respective Budget Management Bureau in the DBM Central Office or to the DBM Regional Office.
5. Consistent with DBM Circular No. 2011-6, the APP for FY 2011 must be submitted on or before September 15, 2011 and the APP for FY 2012 must be submitted on or before November 15, 2011.
6. For further assistance/clarification, agencies may call the Planning Division of the Procurement Service at telephone nos. 561-6116 or 563-9397.

Department/Bureau/Office: CITY GOVERNMENT OF TAGUIG
Region: NCR
Address: TAGUIG CITY HALL, GEN. ANTONIO LUNA ST.,
TUKTUKAN, TAGUIG CITY

Contact Person: ATTY. JOSE LUIS G. MONTALES
Position: OIC, OFFICE OF THE CITY ADMINISTRATOR
E-mail: _____
Telephone/Mobile Nos: 355-7800

Item & Specifications	Unit of Measure	Quantity Requirement												** PS Price Catalogue as of (08.22.2011)	Total Amount	
		Jan	Feb	March	April	May	June	July	Aug	Sept	Oct	Nov	Dec			Total
A. Available at Procurement Service Stores																
COMMON ELECTRICAL SUPPLIES																
BALLAST, 1 x 40 watts	piece	84	48	48	45	45	83	45	45	45	48	63	45	504	247.00	149,188.00
BALLAST, 18/20 watts	piece	91	35	37	35	35	87	35	35	35	37	47	35	524	87.27	35,249.48
BALLAST, 36 watts	piece	48	40	40	40	40	40	46	40	40	40	40	40	494	72.54	35,834.76
BATTERY, size AA, alkaline, 2 pcs./packet	packet	173	111	142	111	149	124	147	111	162	111	129	125	1596	60.00	95,700.00
BATTERY, size AAA, alkaline, 2 pcs./packet	packet	120	78	94	88	88	88	109	78	88	86	84	88	1100	47.00	51,700.00
BATTERY, size D, alkaline, 2 pcs./packet	packet	88	74	80	74	88	74	80	74	88	74	80	74	948	100.00	94,800.00
COMPACT FLUORESCENT LIGHT, 17 watts	piece	42	37	37	42	37	37	42	37	37	42	37	37	484	103.79	48,158.56
FLUORESCENT LIGHTING FIXTURE, 1 x 20W	set	91	57	57	57	57	57	57	57	57	57	57	57	748	280.54	209,843.92
FLUORESCENT LIGHTING FIXTURE, 1 x 40W	set	110	62	72	84	72	82	90	82	82	94	72	62	924	368.94	340,900.56
FLUORESCENT TUBE, 18 watts	piece	97	72	72	79	72	90	79	72	72	79	90	72	946	32.14	30,404.44
FLUORESCENT TUBE, 36 watts	piece	104	77	77	84	77	146	90	77	77	84	88	134	1116	33.85	37,776.60
FUSE, 30 amperes	piece	63	50	50	50	52	70	56	50	50	50	52	50	643	10.90	7,008.70
FUSE, 60 amperes	piece	77	45	47	45	47	50	47	45	47	45	47	50	592	25.48	15,084.16
STARTER, 4-40 watts	piece	110	57	69	57	70	138	69	67	69	67	82	124	997	3.73	3,718.81
TAPE, electrical	roll	60	49	47	56	49	49	56	49	49	56	47	51	618	18.20	11,247.60
COMMON COMPUTER SUPPLIES																
CD DRIVE CLEANER	piece	20	20	20	20	20	20	20	20	20	20	20	20	240	64.22	15,412.80
COMPACT DISK CASE	piece	150	1	6	2	56	1	57	1	56	2	6	1	339	50.84	17,234.76
COMPACT DISK RECORDABLE, min. of 650MB, 70 min. running time	piece	400	100	100	150	150	150	400	100	120	150	100	100	2020	10.40	21,008.00

COMPACT DISK REWRITABLE, 650MB/74 min. capacity	piece	300	100	120	150	150	120	300	100	120	200	120	120	1900	16.09	30,571.00
COMPUTER CONTINUOUS FORMS, 1 ply, 11" x 14-7/8", 2000 pcs./box	box	30	30	30	30	30	30	30	30	30	30	30	30	360	618.40	294,624.00
COMPUTER CONTINUOUS FORMS, 1 ply, 11" x 9-1/2", 2000 pcs./box	box	30	30	30	30	30	30	30	30	30	30	30	30	360	529.00	187,200.00
COMPUTER CONTINUOUS FORMS, 2 ply, 11" x 14-7/8", 1000 sets/box	box	30	30	30	30	30	30	30	30	30	30	30	30	360	912.60	328,536.00
COMPUTER CONTINUOUS FORMS, 2 ply, 11" x 9-1/2", 1000 sets/box	box	30	30	30	30	30	30	30	30	30	30	30	30	360	591.67	209,401.20
COMPUTER CONTINUOUS FORMS, 3 ply, 11" x 9-1/2", 500	box	30	30	30	30	30	30	30	30	30	30	30	30	360	480.48	172,972.80
COMPUTER CONTINUOUS FORMS, 3 ply, 11 x 14-7/8", 500	box	30	30	30	30	30	30	30	30	30	30	30	30	360	778.96	280,425.60
COMPUTER CONTINUOUS FORMS, 4 ply, 11 x 9-1/2", 250 sets/box	box	10	10	10	10	10	10	10	10	10	10	10	10	120	407.68	48,921.60
COMPUTER CONTINUOUS FORMS, 4 ply, 11" x 14-7/8", 250 sets/box	box	10	10	10	10	10	10	10	10	10	10	10	10	120	722.80	86,736.00
DVD RECORDABLE, 16x speed, 4.7GB capacity	piece	400	150	150	250	200	200	300	200	200	250	200	200	2700	14.02	37,854.00
DVD RE-WRITABLE, 4x speed, 4.7GB capacity	piece	200	100	100	100	100	200	200	100	100	100	100	100	1500	22.34	33,510.00
FLASH DRIVE, 4GB, USB 2.0 and play	piece	100	50	50	50	50	100	50	50	50	50	50	50	700	292.66	204,456.00
FLASH DRIVE, 8GB, USB 2.0 and play	piece	200	50	50	50	50	100	100	50	50	100	50	50	900	372.32	335,088.00
INK CARTRIDGE, HP 51645A (HP 45)	cart	50	50	50	50	50	50	50	50	50	50	50	50	800	1,216.66	730,116.00
INK CARTRIDGE, HP 703, Black	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	322.32	386,784.00
INK CARTRIDGE, HP 703, Tricolor	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	322.32	386,784.00
INK CARTRIDGE, HP 704, Black	cart	150	150	150	150	150	150	150	150	150	150	150	150	1800	322.32	580,176.00
INK CARTRIDGE, HP 704, Tricolor	cart	150	150	150	150	150	150	150	150	150	150	150	150	1800	322.32	580,176.00
INK CARTRIDGE, HP 920XL, Black	cart	50	50	50	50	50	50	50	50	50	50	50	50	600	747.66	448,596.00
INK CARTRIDGE, HP 920XL, Cyan	cart	50	50	50	50	50	50	50	50	50	50	50	50	600	561.00	336,600.00
INK CARTRIDGE, HP 920XL, Magenta	cart	50	50	50	50	50	50	50	50	50	50	50	50	600	561.00	336,600.00
INK CARTRIDGE, HP 920XL, Yellow	cart	50	50	50	50	50	50	50	50	50	50	50	50	600	561.00	336,600.00
INK CARTRIDGE, HP C6578A/D (HP 78)	cart	10	10	10	10	10	10	10	10	10	10	10	10	120	1,352.52	162,302.40
INK CARTRIDGE, HP C6615A (HP 15A)	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	3,264.32	0.00
INK CARTRIDGE, HP C672A (HP 27)	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	740.58	0.00
INK CARTRIDGE, HP C6728A (HP 28)	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	873.12	0.00
INK CARTRIDGE, HP C6766WA (HP 95)	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.80	0.00
INK CARTRIDGE, HP C6767WA (HP 96)	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	1,320.80	0.00
INK CARTRIDGE, HP C9351A (HP 21)	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	627.12	752,544.00
INK CARTRIDGE, HP C9352A (HP 22)	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	722.80	867,360.00
INK CARTRIDGE, HP C9364WA (HP 98)	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	882.38	0.00
INK CARTRIDGE, HP CB314A	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	258.02	0.00
INK CARTRIDGE, HP CB315A	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	329.46	0.00
INK CARTRIDGE, HP CC640WA (HP 60) Black	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	588.54	706,248.00
INK CARTRIDGE, HP CC643WA (HP 60) Tricolor	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	706.86	848,232.00
MOUSE, P5/2 type, optical	piece	100	100	100	100	100	100	100	100	100	100	100	100	1200	197.60	237,120.00
RIBBON, Epson LX-300	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	76.75	92,100.00
RIBBON, Epson RN 8750	cart	10	10	10	10	10	10	10	10	10	10	10	10	120	76.75	9,210.00
TONER CARTRIDGE, HP C9721A	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	8,710.80	0.00
TONER CARTRIDGE, HP C9722A	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	8,710.80	0.00
TONER CARTRIDGE, HP CB354A (HP 35A)	cart	100	100	100	100	100	100	100	100	100	100	100	100	1200	2,491.86	2,990,232.00
TONER CARTRIDGE, HP CB325A (HP 85A)	cart	200	200	200	200	200	200	200	200	200	200	200	200	2400	2,855.06	6,372,144.00

TONER CARTRIDGE, HP Q7583A (HP 53A)	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,301.74	0.00	
TONER CARTRIDGE, HP C7115A	cart	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,523.48	0.00	
TONER CARTRIDGE, HP Q2612A (HP #12A)	cart	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	2,922.40	1,753,440.00	
COMMON OFFICE SUPPLIES																			
ACETATE, gauge #3, 50m in length	roll	70	50	50	50	50	50	50	50	50	50	50	50	50	50	50	603.20	373,984.00	
AIR FRESHENER, 280ml/can	can	200	200	200	200	200	200	200	200	200	200	200	200	200	200	200	89.44	214,656.00	
ALCOHOL, 70% isopropyl, 500 ml	bottle	250	250	250	250	250	250	250	250	250	250	250	250	250	250	250	40.04	120,120.00	
AUDIO CASSETTE TAPE, 90min	piece	25	4	4	4	4	24	4	4	4	4	4	4	4	4	4	96	1,547.52	
CARBON FILM, 216mm x 330mm, 1000s/box	box	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	364.00	43,680.00	
CARBON FILM, polyethylene, A-4, 1000s/box	box	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	348.44	41,932.80	
CARTOLINA, assorted color, 20s/pack	pack	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	72.80	43,680.00	
CARTOLINA, white, 20s/pack	pack	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	57.20	34,120.00	
CHALK, white enamel, approx. 140s/box	box	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	34.81	20,896.00	
CLIP, backfold, 19mm, 12s/box	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1203	7.54	9,048.00
CLIP, backfold, 25mm, 12s/box	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1203	10.42	12,504.00
CLIP, backfold, 32mm, 12s/box	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1203	17.42	20,904.00
CLIP, backfold, 50mm, 12s/box	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1203	43.68	52,416.00
CLIP, bulldog (3")	piece	150	150	150	150	150	150	150	150	150	150	150	150	150	150	150	1800	8.42	15,156.00
COLUMNAR NOTEBOOK, 12 cols	piece	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	605	19.64	11,784.00
COLUMNAR PAD, 4 cols, 55gsm	pad	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	21.84	5,241.60
COLUMNAR PAD, 14 cols, 55 gsm	pad	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	45.76	10,982.40
COLUMNAR PAD, 16 cols, 55 gsm	pad	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	45.76	10,982.40
COLUMNAR PAD, 18 cols, 55 gsm	pad	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	67.60	16,224.00
CORRECTION FLUID, 15ml	bottle	200	200	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	9.82	23,568.00
CORRECTION TAPE	piece	250	250	250	250	250	250	250	250	250	250	250	250	250	250	250	3000	30.73	62,250.00
DATA FILE BOX, (5"x9"x15-3/4")	box	300	300	300	300	300	300	300	300	300	300	300	300	300	300	300	3600	81.38	220,896.00
DATA FOLDER, w/ finger ring, (3" x 9" x 15")	piece	300	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1800	87.07	107,312.00
ENVELOPE, documentary (10"x15"), 500s/box	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	613.60	736,320.00
ENVELOPE, expanding, kraft, legal size, 1000s/box	box	200	200	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	675.88	1,622,064.00
ENVELOPE, expanding, plastic, legal size	piece	1500	300	300	500	200	300	500	200	200	500	300	200	200	5000		41.38	206,800.00	
ENVELOPE, mailing white with window, 500s	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	207.58	249,096.00
ENVELOPE, mailing white, long, 500s/box	box	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	158.81	95,286.00
ENVELOPE, pay, kraft, (4"x7-1/2"), 500s/box	box	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	198.04	47,049.60
ENVELOPE, documentary, A4, 500s/box	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	499.20	599,040.00
ENVELOPE, documentary, legal, 500s/box	box	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	499.20	599,040.00
ERASER, blackboard/whiteboard	piece	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	12.98	15,576.00
ERASER, rubber	piece	250	149	184	154	119	152	137	99	124	127	94	119	1688			6.24	10,533.12	
FILE ORGANIZER, expanding, legal, assorted colors	piece	300	200	200	200	200	200	200	200	200	200	200	200	200	200	200	2500	85.20	208,000.00
FOLDER, clear plastic, L-type, A4 size, 50s/pack	pack	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	247.52	148,512.00
FOLDER, clear plastic, L-type, legal size, 50s/pack	pack	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	232.68	121,608.00
FOLDER, morocco/fancy, A4 size, 50s/pack	bundle	200	200	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	312.00	748,800.00
FOLDER, morocco/fancy, legal size, 50s/pack	pack	200	200	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	301.60	723,840.00
FOLDER, pressboard, plain, legal, 100s/box	pack	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	851.64	510,984.00
FOLDER, tagboard, A4 size, 100s/box	pack	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	311.88	187,128.00
FOLDER, tagboard, legal size, 100s/box	pack	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	435.24	261,144.00
GLUE, all purpose with applicator, 200 grams min.	jar	125	55	57	76	59	93	78	48	57	73	58	78	857			45.75	39,216.32	
ILLUSTRATION BOARD, (30"x40"), 2 ply	piece	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	32.97	19,782.00
ILLUSTRATION BOARD, (760mm x 1000)	piece	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	33.97	20,382.00
INDEX CARD BOX, 4-3/8"x5-5/8" x 4"	box	50	5	7	7	7	8	8	5	7	7	7	7	7	7	7	122	41.50	5,063.00
INDEX CARD BOX, 5-3/8"x8-7/8" x 6"	box	50	6	8	8	8	8	8	6	10	8	8	8	8	8	8	132	56.88	7,481.76
INDEX CARD, 3"x5", ruled both sides, 500s/pack	pack	35	35	35	35	35	35	35	35	35	35	35	35	35	35	35	420	44.45	18,660.00

STAMP PAD INK, violet, 50ml	bottle	150	100	100	100	100	100	100	100	100	100	100	100	1250	21.84	27,300.00
STAMP PAD, felt pad	piece	150	50	100	70	70	70	85	50	70	70	80	50	890	24.99	22,214.40
STAPLE REMOVER, twin jaws, assfd. colors	piece	175	48	77	80	84	51	92	54	80	90	30	45	881	19.84	17,302.84
STAPLE WIRE, standard, #35	box	215	200	200	200	200	200	200	200	200	200	200	200	2415	25.98	62,741.70
STAPLER, Standard Type	piece	185	99	98	84	88	84	109	73	88	85	88	88	1029	162.84	167,562.36
STENCIL INK, # 217, 400ml.	tube	10	10	10	10	10	10	10	10	10	10	10	10	120	246.00	29,520.00
STENCIL PAPER, ordinary, universal	quize	10	10	10	10	10	10	10	10	10	10	10	10	120	246.00	29,520.00
TAPE DISPENSER, heavy duty	piece	155	52	83	58	54	61	89	51	53	58	54	52	520	52.00	42,640.00
TAPE, adding machine	roll	15	10	10	15	10	15	10	15	10	15	10	10	140	48.00	6,720.00
TAPE, blank, for micro-cassette recorder, 60 mins.	pack	51	1	1	1	1	1	1	1	1	1	1	1	62	91.50	5,673.00
TAPE, masking (1"), 24mm, 50 meters length	roll	500	500	500	500	500	500	500	500	500	500	500	500	6000	43.68	262,080.00
TAPE, masking (2"), 48mm, 50 meters length	roll	500	500	500	500	500	500	500	500	500	500	500	500	6000	87.36	524,160.00
TAPE, packaging, 48mm, 50 meters length	roll	500	500	500	500	500	500	500	500	500	500	500	500	6000	30.99	185,940.00
TAPE, transparent, (1"), 24mm, 50 meters	roll	500	500	500	500	500	500	500	500	500	500	500	500	6000	14.98	89,880.00
TAPE, transparent, (2"), 48mm, 50 meters	roll	500	500	500	500	500	500	500	500	500	500	500	500	6000	30.11	180,660.00
TIME CARD, for Armano Bundy Clock, 100s/hr/dl	bundle	10	10	10	10	10	10	10	10	10	10	10	10	120	97.78	11,731.20
TOILET TISSUE, 12 rolls/pack	pack	500	500	500	500	500	500	500	500	500	500	500	500	6000	88.84	411,840.00
TWINE, plastic, one kilo per roll	roll	20	20	20	20	20	20	20	20	20	20	20	20	240	57.30	13,728.00
WRAPPING PAPER, kraft, 65gsm, approx 40M.	roll	20	20	20	20	20	20	20	20	20	20	20	20	240	186.40	39,936.00
COMMON OFFICE DEVICES																
BLADE, heavy duty cutter(L500), 10 pcs / pack	pack	54	31	82	37	32	32	38	31	33	36	32	32	480	10.40	4,680.00
CUTTER BLADE, for Heavy Duty Cutter, 18pcs/tube	tube	54	28	80	34	31	31	36	28	32	33	30	31	428	10.40	4,451.20
CUTTER, heavy duty.	piece	117	34	36	46	43	47	80	34	44	42	40	38	599	27.04	16,196.96
PUNCHER, heavy duty	piece	119	35	74	45	48	42	89	35	52	44	40	38	861	114.40	75,618.40
SCISSORS, (6")	pair	161	44	73	73	52	47	119	44	52	73	43	45	826	18.72	15,462.72
SHARPENER, single cutterhead	piece	95	32	59	35	37	34	53	29	29	38	29	31	510	147.35	75,148.50
STAMPING DATE, self-inking stamp	piece	92	20	50	25	19	27	30	20	20	25	24	21	373	436.80	162,926.40
STAPLE REMOVER, twin jaws	piece	106	42	72	52	41	46	86	44	42	50	41	45	650	19.64	12,766.00
STAPLER, heavy duty, standard	piece	127	51	79	56	48	52	90	51	49	46	38	41	728	162.84	118,547.52
TAPE DISPENSER, heavy duty, for 24mm(1")	piece	121	25	54	39	24	29	72	20	19	41	19	21	484	40.23	19,471.32
WASTE BASKET, plastic	piece	174	57	84	58	54	65	137	55	55	55	65	57	918	28.00	23,816.00
COMMON JANITORIAL SUPPLIES																
BATHROOM SOAP, 70gms.	piece	133	55	59	77	99	55	82	55	99	77	59	58	908	14.55	13,191.36
BROOM, soft (bambo)	piece	108	30	86	71	55	33	128	31	36	70	37	38	580	119.80	81,328.00
BROOM, STICK (tingling)	piece	107	25	58	84	27	29	125	25	28	86	30	29	814	19.78	12,132.64
CLEANSER, powder, 350gms.	canister	141	83	98	75	118	65	111	83	118	75	88	85	1059	17.32	18,341.88
DETERGENT BAR	bar	75	51	51	61	80	50	82	49	61	61	50	50	681	18.72	12,748.32
DETERGENT POWDER, 500gms.	pouch	139	64	78	84	108	66	88	64	111	84	68	86	1013	22.88	23,177.44
DISINFECTANT SPRAY, 340 gm.	can	121	73	115	86	88	80	123	74	84	88	79	81	1100	190.83	209,693.00
DUST PAN, plastic w handle, large	piece	112	25	61	41	35	28	118	25	36	41	31	28	577	26.00	15,002.00
FLOOR WAX, liquid type, 3.75l.	can	37	15	20	27	22	18	32	15	25	27	20	15	273	331.50	90,499.50
FLOOR WAX, paste, natural, 2kg.	can	19	8	7	12	7	2	17	0	9	12	5	2	92	218.40	20,092.80
FLOOR WAX, paste, red, 2kg.	can	20	1	6	13	8	1	18	1	8	13	6	1	98	306.80	29,452.80
FURNITURE CLEANER, 400ml/can	can	84	16	22	57	24	17	85	16	24	57	22	17	421	104.00	43,784.00
INSECTICIDE, 600ml (430g)/can	can	68	47	50	64	50	49	78	47	50	64	50	49	888	134.88	89,696.88
MOPHANDLE, screw type, wooden handle	piece	122	38	71	61	43	38	131	38	43	61	41	39	738	88.40	64,178.40
MOPHEAD, 100% rayon, 400g	piece	112	55	58	80	57	58	91	55	80	87	57	57	820	78.00	63,960.00
RAG, COTTON, (7") in diameter	kilo	118	65	109	91	119	65	109	85	79	91	79	87	1057	43.68	46,169.76
SCOURING PAD, economy size	pack	59	33	38	48	38	33	51	33	36	48	36	53	502	131.98	66,243.92

TOILET BOWL & URINAL CLEANER, 900ml	bottle	109	76	87	88	95	77	100	75	95	88	88	87	1076	62.40	67,142.40
TOILET DEODORANT CAKE, 99%, 50grams	box	75	47	48	84	57	47	67	47	61	60	53	68	895	33.28	23,129.60
TRASHBAG, plastic, black, (XL)	roll	294	252	342	262	277	279	275	249	307	271	283	299	3370	144.25	486,122.50
LEGAL SIZE PAPER																
PAPER, bond, Premium Grade	ream	520	500	500	500	500	500	500	500	500	500	500	500	8000	119.22	715,320.00
PAPER, for PPC	ream	200	200	200	200	200	200	200	200	200	200	200	200	2400	159.17	382,008.00
PAPER, mimeo, Groundwood	ream	150	150	150	150	150	150	150	150	150	150	150	150	1800	91.52	164,736.00
PAPER, mimeo, Whitewave	ream	150	150	150	150	150	150	150	150	150	150	150	150	1800	120.02	216,036.00
PAPER, multicopy, legal, for laser printing	ream	200	200	200	200	200	200	200	200	200	200	200	200	2400	174.72	419,328.00
PAPER, various colors	ream	150	150	150	150	150	150	150	150	150	150	150	150	1800	525.00	936,000.00
COMMON OFFICE EQUIPMENT																
AIRPOT, 4.0 liters, w/ dispenser	unit	9	0	0	5	0	0	0	0	0	0	0	0	14	1,144.00	16,016.00
AUTOMATIC VOLTAGE REGULATOR, 500watts	unit	54	6	30	0	6	2	27	10	0	0	2	0	137	5,000.00	685,000.00
CALCULATOR, 12 digits, Canon or equivalent	piece	96	18	48	23	18	18	48	22	18	13	13	13	368	155.88	55,495.28
CALCULATOR, compact, electronic, LCD, desktop display, 12 digits, two-way power source	unit	26	0	0	0	0	0	2	4	0	0	0	0	34	161.08	5,476.72
CALCULATOR, desktop, heavy duty printing, 12 digits, two(2) color print/illuminated display AC power source, Canon	unit	7	0	0	4	0	0	4	0	0	4	0	0	19	1,892.80	35,963.20
CALCULATOR, desktop, mini-printer type, 12 digits, AC/DC power source, with ink roller & adaptor	unit	3	0	0	0	0	0	0	0	0	0	0	0	3	825.80	2,476.80
CALCULATOR, scientific, 10 digits, dot matrix display, programmable, with case	unit	40	7	8	6	7	8	6	7	7	6	6	13	121	341.12	41,225.52
CHAIR, monobloc, without armrest, beige/white	unit	832	12	80	50	50	250	87	50	50	50	50	50	1620	250.00	405,000.00
DOCUMENT CAMERA, w/ DVI port, four (4) reference points demarcate viewing area, 8 times (800%) consecutive zoom, PC and Doc Cam VS	unit	50	0	1	0	0	1	1	0	0	0	0	0	53	19,582.00	1,036,256.00
ELECTRIC FAN, orbit type	unit	55	5	5	5	0	0	0	5	5	5	5	5	90	1,028.55	92,570.45
ELECTRIC FAN, wall type	unit	60	5	5	5	1	2	5	1	5	5	5	5	104	746.68	77,250.72
ELECTRIC FAN, with stand	unit	70	1	32	14	0	6	8	12	1	0	0	0	142	764.40	108,544.80
FACSIMILE TRANSMITTER, uses thermal paper 50m/roll, for documents 216mm x 600mm, 15 sec transmission speed, scanning width 208mm, document feeder holds 10 pages, with automatic paper cutter, redial, and fax/tel switchover	unit	51	0	1	0	0	1	0	0	0	0	0	0	53	4,451.20	235,913.60
FIRE EXTINGUISHER, dry chemical, for ABC class of fire, squeeze type non-electrical conductor, non-toxic, non-corrosive, 4.5kg (10lbs), brand new	unit	59	0	0	0	0	0	12	0	0	0	0	0	71	1,130.48	80,264.08
FIRE EXTINGUISHER, pure HCFC 123, with fire rating of 1A, 1BC for ABC class of fire, squeeze type non-electrical conductor, 4.5kg (10 lbs), brand new	unit	15	0	0	0	0	0	12	0	0	0	0	0	27	4,726.80	127,623.60
INDUSTRIAL FAN, 18" metal blade	unit	16	0	0	0	0	0	6	0	0	0	0	0	22	934.84	20,566.48
MULTIMEDIA PROJECTOR, 2000 ansi Lumens, 2000 hours lamp life, supports SVGA to SXGA (compressed) resolutions	unit	14	1	1	0	0	5	2	0	0	0	0	0	23	24,899.20	573,601.60
PAPER SHREDDER, 220mm feed opening, 4mm shred width, 0.06m/sec shred speed, 6-8 sheets performance, approx 5kg in weight	unit	16	8	2	0	0	1	0	0	0	0	0	0	27	6,238.96	168,451.92

PAPER TRIMMER/CUTTING MACHINE, 300MM cutting size, 30 sheets cutting cap, automatic clamping, stationary blade guard, A4-A6 format indications	unit	8	6	0	0	8	1	0	0	0	0	0	0	21	3,838.96	185,618.16
PRINTER, automatic data processing, impact dot matrix, 24-pins, 136 columns, complete w/ ribbons, cables and manual, Epson LQ-2180	unit	0	1	0	0	0	0	0	0	0	0	0	0	1	18,158.32	18,158.32
PRINTER, automatic data processing, impact dot matrix, 24-pins, 136 columns, complete w/ ribbons, cables and manual, Epson LQ-2190	unit	1	0	1	0	0	0	0	0	0	0	0	0	2	30,992.00	61,984.00
PRINTER, automatic data processing, impact dot matrix, 9-pins, 136 columns, complete w/ ribbons, cables and manual, Epson FX-2190	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	16,840.00	0.00
PRINTER, impact dot matrix, 9-pin, 80 columns, with ribbon, cables and manual ribbons, cables and manual, Epson LX-300+	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	7,124.00	0.00
PRINTER, laser, 20ppm printing speed, 1200 x 1200 dpi, with power cord, interface cable software drivers and complete documentation, ML-2250	unit	40	6	8	7	0	1	6	1	0	1	0	1	88	4,130.20	285,604.80
PUNCHING/BINDING MACHINE, two(2) hand lever system, 34cm or 13" (24 holes) punching width adjustable to any format, binds 425 sheets or up to 2" thick, all metal construction	unit	4	0	1	0	0	0	0	0	0	0	0	0	5	10,398.96	51,994.80
RADIO CASSETTE RECORDER, with AM/ FM Radio	unit	11	0	0	0	0	0	6	0	0	0	0	0	17	1,663.60	28,111.30
TIME RECORDER, (for attendance), electronic, stylish/compact design, large display, 2-color ribbon, with dot matrix printer, bell and buzzer, wall or desk mount, 220 volts	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	6,188.00	0.00
UNINTERRUPTIBLE POWER SUPPLY(UPS) line interactive topology, with sealed maintenance free batteries, 520VA-600VA	unit	43	0	2	0	7	0	4	0	7	0	1	8	70	2,038.40	142,688.00
HANDBOOKS ON PROCUREMENT																
HANDBOOK ON PUBLIC BIDDING DOCUMENTS, 8-1/2" x 11", offset printing, one color print, laminated kromcote cover, newsprint inside pages, perfect binding for:																
a. Procurement of Goods & Services, 110-115 pages	piece	4	0	1	0	1	0	4	0	1	0	1	0	12	32.24	366.88
b. Procurement of Civil Works, 139-149 pages	piece	4	0	1	0	1	0	4	0	1	0	1	0	12	37.85	451.80
c. Procurement of Consulting Services, 139-149 pages	piece	4	0	1	0	1	0	4	0	1	0	1	0	12	22.38	268.52
d. Sample Forms, 8-1/4" x 11-3/4", 328 pages	piece	4	0	1	0	1	0	4	0	1	0	1	0	12	88.40	1,060.80
HANDBOOK ON PHILIPPINE GOVERNMENT PROCUREMENT(4th Edition), 6" x 9", 228 pages.	piece	4	0	1	0	1	0	4	0	1	0	1	0	12	32.40	388.80
HANDBOOK ON PUBLIC BIDDING CHECKLIST, 6" x 9", 70 pages.	piece	4	0	1	0	1	0	4	0	1	0	1	0	12	13.52	162.24
HANDBOOK ON GENERIC PROCUREMENT MANUAL (GPM), A4 size(210mm x 297mm), foldcote 12 w/ plastic lamination, one (1) set of four (4) volumes as follows: Volume I (103 pages) - white color Volume II (138 pages) - light blue color Volume III (124 pages) - light yellow color Volume IV (118 pages) - light green color	set	2	0	1	0	1	0	2	0	1	0	1	0	8	130.00	1,040.00

B. OTHER ITEMS NOT AVAILABLE AT PS BUT REGULARLY PURCHASED FROM OTHER SOURCES (Note: Please indicate price of items)																	
Office Equipment and Accessories																	
COMMUNICATION SYTEM w/ portable radios, accessories	lot	0	1	0	0	0	0	0	0	0	0	0	0	0	1	27,500,000.00	27,500,000.00
COOLING FAN	units	8	0	0	0	0	0	0	0	0	0	0	0	0	8	1,100.00	8,800.00
DIGITAL RECORDER	units	4	4	4	4	4	4	4	4	4	4	4	4	4	38	7,950.00	286,200.00
FLOOR POLISHER, heavy duty, electric	units	6	0	0	0	0	2	0	0	0	0	0	0	0	8	2,500.00	20,000.00
GENERATOR SET	units	6	0	0	0	0	0	0	0	0	0	0	0	0	6	40,000.00	240,000.00
HAND DRYER	units	5	0	0	0	0	2	0	0	0	0	0	0	0	7	6,000.00	56,000.00
LAMINATING MACHINE	units	10	0	0	0	0	0	0	0	0	0	0	0	0	10	3,900.00	39,000.00
LETTERING MACHINE	units	3	0	0	0	0	0	0	0	0	0	0	0	0	3	17,000.00	51,000.00
RECOGRAPH MACHINE	units	3	0	0	0	0	0	0	0	0	0	0	0	0	3	350,000.00	1,050,000.00
SMOKE DETECTOR	units	10	0	0	0	0	0	0	0	0	0	0	0	0	10	1,800.00	18,000.00
TELEPHONE	units	24	10	3	0	2	0	7	0	2	0	2	0	0	50	2,560.00	129,000.00
TYPEWRITER, electric	units	7	0	0	0	0	1	0	0	0	0	0	0	0	8	9,800.00	78,400.00
TYPEWRITER, manual	units	9	0	0	0	0	1	0	0	0	0	0	0	0	10	6,900.00	69,000.00
VACUUM CLEANER	units	10	0	0	0	0	0	1	0	0	0	0	0	0	13	5,600.00	72,800.00
Office Supplies																	
1 GB DDR	pcs	45	0	3	0	0	3	0	0	3	0	0	0	3	57	900.00	51,300.00
1 TERA BYTE HDD (INTERNAL)	pcs	18	0	1	2	0	0	2	0	0	2	0	0	0	25	6,000.00	150,000.00
1 TERA BYTE HDD 2.5 PORTABLE	pcs	23	5	6	5	5	0	0	0	0	0	0	0	0	44	5,000.00	220,000.00
2 GB DDR2 800	pcs	22	0	0	0	0	0	0	0	0	0	0	0	0	22	1,500.00	33,000.00
2 GB DDR3 1333	pcs	26	0	0	0	0	0	4	0	0	0	0	0	0	30	2,000.00	60,000.00
ADDING MACHINE 14 DIGITS	units	5	0	4	0	4	0	4	0	4	0	0	4	25	6,800.00	170,000.00	
ADDING MACHINE RIBBON	rolls	9	6	6	2	6	6	6	6	6	6	6	6	6	64	30.00	2,520.00
ADHESIVE, MIGHTY BOND OR EQUIVALENT	pcs	90	90	90	90	90	90	90	90	90	90	90	90	90	1080	85.00	91,800.00
BALLPEN, BLACK	piece	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	24000	15.00	360,000.00
BALLPEN, BLUE	piece	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	12000	14.75	177,000.00
BALLPEN, RED	piece	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	12000	14.75	177,000.00
BATTERY, 9V	piece	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	160.00	192,000.00
BATTERY, SIZE AA, rechargeable	pcs	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	37.50	45,000.00
BATTERY, SIZE C	packs	50	50	50	50	50	50	50	50	50	50	50	50	50	600	30.00	18,000.00
BLACK INK, for czi80 riso machine	tube	30	30	30	30	30	30	30	30	30	30	30	30	30	360	1,335.00	480,600.00
BLOWER / VACUUM	units	8	0	0	0	0	0	0	0	0	0	0	0	0	8	8,890.00	70,880.00
BOND PAPER, sheet	pcs	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	18000	115.00	2,070,000.00
BOOK BINDER, 8 1/2" x 14", Red	pcs	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	690.00	828,000.00
C CLAMP, SMALL	piece	150	150	150	150	150	150	150	150	150	150	150	150	150	1800	2,300.00	4,140,000.00
CABLE TESTER FOR UTP & USB	pieces	30	30	30	30	30	30	30	30	30	30	30	30	30	360	900.00	324,000.00
CABLE TIE 14" (100 pcs/pack)	packs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	1,477.20	1,772,640.00
CABLE WIRE # 2	rolls	10	10	10	10	10	10	10	10	10	10	10	10	10	120	2,960.00	355,200.00
CALCULATOR, 14 digits	units	39	12	23	12	25	14	25	12	26	13	12	23	237	490.00	116,130.00	
CANDLE (2PCS. / PACK) BIG	packs	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	30.00	216,000.00
CANDLE (5PCS. / PACK) SMALL	packs	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	50.00	120,000.00
CARBON PAPER, 8 1/2" X 11"	box	25	25	25	25	25	25	25	25	25	25	25	25	25	300	400.00	120,000.00
CARBON PAPER, 8 1/2" X 13"	box	25	25	25	25	25	25	25	25	25	25	25	25	25	300	420.00	126,000.00
CARD READER	pcs	60	2	5	2	5	7	11	2	5	2	5	7	113	336.00	37,968.00	
CD ROM DRIVE	pcs	6	0	6	0	0	2	2	0	0	0	0	0	0	16	300.00	4,800.00
CDR / DVD	pcs	174	160	155	155	150	150	150	70	50	50	50	50	50	1204	24.00	30,336.00
CEILING FAN 16"	units	30	0	0	30	0	0	30	0	0	30	0	0	0	120	2,250.00	270,000.00
CERTIFICATE FRAME, LEGAL SIZE / A4	pcs	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	200.00	480,000.00

CHAIR, 3 seater, monobloc	piece	100	0	0	0	0	0	100	0	0	0	0	0	200	2,255.00	451,000.00
CLEARBOOK, A4	piece	100	100	100	100	100	100	100	100	100	100	100	100	1200	140.00	168,000.00
CLEARBOOK, LONG	piece	200	200	200	200	200	200	200	200	200	200	200	200	2400	150.00	360,000.00
CLIP BOARD	pieces	200	200	200	200	200	200	200	200	200	200	200	200	2400	30.00	72,000.00
COCO CLOTH	rolls	150	150	150	150	150	150	150	150	150	150	150	150	1800	100.00	180,000.00
COLORED PENS, VARIOUS COLORS, SET OF 10, FINE	sets	50	50	50	50	50	50	50	50	50	50	50	50	600	290.00	168,000.00
COLUMNAR NOTEBOOK, 20 COLS, 55GSM	pcs	15	15	15	15	15	15	15	15	15	15	15	15	180	44.00	7,920.00
COLUMNAR PAD, 30 COLS, 55GSM	pad	15	15	15	15	15	15	15	15	15	15	15	15	180	50.00	9,000.00
COLUMNAR PAD, 6 COLS, 55GSM	pad	20	20	20	20	20	20	20	20	20	20	20	20	240	21.00	5,040.00
COMPUTER TABLE	pcs	56	0	30	0	6	0	50	0	0	3	0	0	145	1,338.00	197,055.00
CORK / BULLETIN BOARD	pcs	77	15	5	5	5	5	15	5	5	5	5	5	162	456.00	73,872.00
CORKBOARD 2' X 3/2' X 2'	pieces	60	10	10	10	10	10	10	10	10	10	10	10	170	900.00	85,000.00
CORKBOARD 3 x 6	pieces	60	10	10	10	10	10	10	10	10	10	10	10	170	1,748.00	297,330.00
CORRECTION FLUID	btl	300	300	300	300	300	300	300	300	300	300	300	300	3600	30.00	108,000.00
CORRECTION TAPE, 6MX5MM	piece	300	300	300	300	300	300	300	300	300	300	300	300	3600	23.00	82,800.00
CRIMPLING TOOLS	piece	5	1	1	5	1	1	5	1	1	5	1	4	31	2,000.00	62,000.00
CYAN INK CART FOR OJ 6800	cartr	0	0	0	0	10	0	0	0	0	0	0	0	10	800.00	8,000.00
CYAN TONER CART CLJ 2600	cartr	0	0	0	0	0	0	0	0	0	0	0	0	0	3,799.00	0.00
DATA FILE STORAGE BOX	pcs	250	50	50	250	50	50	250	50	50	250	50	50	1400	280.00	392,000.00
DATA POWER CABLE	pcs	5	0	0	0	0	0	5	0	0	0	0	0	10	50.00	500.00
DATER	pcs	100	15	15	15	15	15	100	15	15	15	15	15	300	180.00	63,000.00
DIGITAL CAMERA	unit	60	7	9	2	2	3	7	2	2	2	2	3	101	4,000.00	404,000.00
DOCUMENT TRAY, for in and out of documents	piece	100	21	49	19	19	24	71	18	19	25	19	18	398	350.00	139,300.00
DOUBLE ADHESIVE TAPE	rolls	250	250	250	250	250	250	250	250	250	250	250	250	3000	30.00	90,000.00
DUCT TAPE	pcs	300	300	300	300	300	300	300	300	300	300	300	300	3600	168.00	594,000.00
DVD DRIVE	pcs	20	0	0	0	20	0	0	0	20	0	0	0	50	2,100.00	105,000.00
DVD PLAYER	units	10	0	0	0	0	0	10	0	0	0	0	0	20	2,000.00	40,000.00
DVD WRITER, EXTERNAL, PC	unit	40	0	0	0	0	1	4	0	0	0	0	0	45	3,000.00	135,000.00
ELECTRIC FAN, WALL TYPE	units	30	1	1	1	1	1	50	1	1	1	1	1	110	1,500.00	165,000.00
ELECTRIC FAN, WITH STAND	units	50	5	5	5	5	5	50	5	5	5	5	5	150	1,000.00	150,000.00
ENVELOPE, expanding, plastic, short size	piece	600	600	600	600	600	600	600	600	600	600	600	600	7200	7.50	54,000.00
EXHAUST FAN	pcs	50	0	0	0	0	0	50	0	0	0	0	0	100	1,000.00	100,000.00
FAX MACHINE	pcs	30	0	5	0	0	5	0	5	0	5	0	0	70	3,620.00	253,400.00
FILER 75mm x 230mm x 380mm	pieces	600	300	300	300	300	300	300	300	300	300	300	300	4100	200.00	820,000.00
FLASH DRIVE 16 GB	pcs	200	20	20	20	20	20	20	20	20	20	20	20	420	1,300.00	546,000.00
FLASH DRIVE 8 GB	pcs	50	20	20	20	20	20	20	20	20	20	20	20	270	1,000.00	270,000.00
FLASHLIGHT, HEAVY DUTY	pcs	500	50	0	0	60	6	12	80	0	0	25	0	703	300.00	210,900.00
FOLDER, expanding, green, long	pieces	1500	600	600	600	600	600	1500	600	600	600	600	600	9600	26.00	249,600.00
FOLDER, expanding, green, short	pieces	1000	600	600	600	600	600	1000	600	600	600	600	600	8000	13.00	104,000.00
FRAME, for parchment paper, A4 size, landscape or portrait orientation, wooden	piece	1000	500	500	500	500	600	1000	500	500	500	500	500	7000	200.00	1,400,000.00
GANG CHAIR, 5 SEATER, PLASTIC SEATS	pcs	10	0	0	0	0	0	10	0	0	0	0	0	20	6,000.00	120,000.00
GLUE GUN	pcs	51	28	58	30	29	28	33	28	29	31	28	28	401	115.00	46,115.00
GLUE STICK (FOR GLUE GUN), PACK OF 4	pack	200	200	200	200	200	200	200	200	200	200	200	200	2400	33.00	79,200.00
GLUE STICK, ELMER'S GLUE OR EQUIVALENT	pcs	200	200	200	200	200	200	200	200	200	200	200	200	2400	38.00	91,200.00
GUEST BOOK	pcs	100	100	100	100	100	100	100	100	100	100	100	100	1200	1,850.00	2,220,000.00
GUNTACKER T-50 (HEAVY DUTY)	pcs	50	0	0	1	0	0	50	0	0	3	0	3	108	2,700.00	294,300.00
GUNTACKER WIRE SIZE 10MM/8MM	bags	100	100	100	100	100	100	100	100	100	100	100	100	1200	545.00	654,000.00
HAIRNET	pcs	100	100	100	100	100	100	100	100	100	100	100	100	1200	25.00	30,000.00
HARD DISK DOCK 3.5	pcs	10	0	0	0	0	0	10	0	0	0	0	0	20	896.00	17,920.00

NETWORK SWITCH (16 PORT)	pcs	17	0	2	0	2	0	2	0	2	0	2	0	2	0	27	1,455.00	37,935.00
NETWORK SWITCH (24 PORT)	pcs	5	1	0	1	0	1	0	1	0	1	0	1	0	1	11	3,685.00	40,535.00
NETWORK SWITCH (8 PORT)	pcs	1	0	0	1	0	0	1	0	1	0	1	0	1	5		828.00	4,140.00
NEWSPRINT, 8 1/2" X 11"	reams	200	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	70.00	168,000.00
NEWSPRINT, 8 1/2" X 13"	reams	200	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	77.00	184,800.00
NUMBERING MACHINE, automatic	pcs	8	0	0	0	0	0	1	0	0	0	0	0	0	9		1,534.00	13,806.00
NUMERIC SECURITY LOCK	pcs	50	0	0	0	0	0	50	0	0	0	0	0	0	100		120.00	12,000.00
OFFICE CHAIR, WITH WHEELS	piece	150	9	39	17	11	29	30	9	11	9	9	9	16	339		1,850.00	610,200.00
OFFICE TABLES	piece	80	9	5	15	9	29	8	8	5	5	9	5	184			5,000.00	920,000.00
ONION SKIN, long	ream	50	50	50	50	50	50	50	50	50	50	50	50	50	600		115.00	69,000.00
ONION SKIN, short	ream	50	50	50	50	50	50	50	50	50	50	50	50	600			95.00	57,000.00
PACKAGING TAPE, 2"	pieces	200	200	200	200	200	200	200	200	200	200	200	200	2400			35.00	84,000.00
PADLOCK HEAVY DUTY 60MM	pieces	200	200	200	200	200	200	200	200	200	200	200	200	2400			265.00	636,000.00
PAPER A3 500'S	reams	50	50	50	50	50	50	50	50	50	50	50	50	600			325.00	195,000.00
PAPER CUTTER, WOOD	units	29	0	5	0	5	0	7	0	5	0	5	0	56			1,200.00	67,200.00
PAPER FASTENER, PLASTIC, 50 SETS/BOX	boxes	150	150	150	150	150	150	150	150	150	150	150	150	1800			25.00	45,000.00
PAPER PUNCHER, single hole	pcs	29	2	33	2	2	2	9	2	2	2	2	4	91			80.00	7,280.00
PAPER SHREDDER	pcs	18	0	1	0	0	1	0	0	0	0	0	0	20			5,800.00	130,000.00
PAPER, VARIOUS COLORS, MULTI-PURPOSE, A4, PACK OF 25, SPECIALTY	packs	50	50	50	50	50	50	50	50	50	50	50	50	600			140.00	
PARCHMENT PAPER	packs	100	100	100	100	100	100	100	100	100	100	100	100	1200			340.00	408,000.00
PASTE, 200G, WITH APPLICATOR	jar	50	50	50	50	50	50	50	50	50	50	50	50	600			21.86	13,116.00
PENCIL, staedler F or equivalent	box	30	50	50	30	50	50	50	50	50	50	50	50	600			55.00	33,000.00
PHOTO PAPER, 4R SIZE, 290GSM, 20/PACK	packs	100	100	100	100	100	100	100	100	100	100	100	100	1200			100.00	120,000.00
PHOTO PAPER, A4 SIZE, 230 GSM, 20/PACK	packs	100	100	100	100	100	100	100	100	100	100	100	100	1200			220.00	264,000.00
PLASTIC COVER GAUGE 4	rolls	50	50	50	50	50	50	50	50	50	50	50	50	600			1,325.00	795,000.00
PLASTIC CUPS	packs	3000	200	200	200	200	200	3000	200	200	200	200	200	6000			58.85	454,800.00
PLASTIC ENVELOPE LONG	pcs	300	300	300	300	300	300	300	300	300	300	300	300	3600			18.00	64,800.00
PLASTIC RING BINDS	pcs	200	200	200	200	200	200	200	200	200	200	200	200	2400			31.00	74,400.00
POWER CORD	pcs	34	0	0	0	0	0	3	0	0	0	0	0	37			100.00	3,700.00
PREMIUM IVORY PAPER, 8 1/2" x 11"	ream	150	150	150	150	150	150	150	150	150	150	150	150	1800			250.00	450,000.00
PROJECTOR SLIDE	ream	10	10	10	10	10	10	10	10	10	10	10	10	120			175.00	21,000.00
REDSTONE PASTE	bottles	15	15	15	15	15	15	15	15	15	15	15	15	180			90.00	16,200.00
REFRIGERATOR, AT LEAST 2 C.F.	units	25	0	0	0	0	0	5	0	0	0	0	0	30			8,030.00	240,900.00
REFRIGERATOR, SINGLE DOOR	units	10	0	0	0	0	0	5	0	0	0	0	0	15			9,990.00	149,850.00
RIBBON CARTRIDGE for LQ-2180	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120			4.15	498.00
RIBBON FOR Tally Genicom	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120			7,030.00	840,000.00
RJ 45	pcs	650	150	150	150	450	150	150	150	450	150	150	250	3000			4.15	12,450.00
RUBBER BOOTS, FOR LADIES AND MEN, 100% RUBBER, (VARIOUS SIZES)	pcs	420	0	0	0	0	61	32	7	0	0	0	30	550			410.25	
RUBBERBAND, BIG	boxes	100	100	100	100	100	100	100	100	100	100	100	100	1200			98.75	118,500.00
RUBBERBAND, SMALL	boxes	100	100	100	100	100	100	100	100	100	100	100	100	1200			120.00	144,000.00
SAT A POWER CABLE	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0			50.00	0.00
SCREW DRIVER	set	48	0	0	0	2	0	1	0	2	0	0	1	54			216.00	11,772.00
SEEDING BAGS	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120			0.75	90.00
SHARPENER	pcs	58	13	23	13	23	13	25	13	28	13	23	13	258			385.00	99,330.00
SIGN PEN, BLACK	pieces	500	500	500	500	500	500	500	500	500	500	500	500	6000			53.00	318,000.00
SIGN PEN, BLUE	pieces	500	500	500	500	500	500	500	500	500	500	500	500	6000			53.00	318,000.00
SIGN PEN, RED	pieces	500	500	500	500	500	500	500	500	500	500	500	500	6000			53.00	318,000.00
SPECIALTY BOARD, 10 SHEETS PER PACK	packs	100	100	100	100	100	100	100	100	100	100	100	100	1200			20.00	24,000.00

SPECIALTY PAPER FOR TCR	packs	8	20	20	20	5	5	20	5	5	5	5	20	138	150.00	20,400.00
STAMP FOR NUMBERING	piece	29	4	4	4	4	4	7	4	4	4	4	5	77	150.00	11,550.00
STAMP PAD INK, black	bboxes	100	100	100	100	100	100	100	100	100	100	100	100	1200	20.00	24,000.00
STAPLE WIRE #10	bboxes	50	50	50	50	50	50	50	50	50	50	50	50	600	110.00	66,000.00
STAPLER WITH REMOVER, MAX OR EQUIVALENT	piece	43	9	7	9	7	9	27	9	7	9	7	9	152	320.00	48,640.00
STICKER PAPER, A4	packs	100	100	100	100	100	100	100	100	100	100	100	100	1200	250.00	300,000.00
STICKY NOTE, post-it or equivalent, 3 x 3 inches, assorted colors, 5pcs	packs	150	150	150	150	150	150	150	150	150	150	150	150	1800	240.00	432,000.00
STORAGE BOX, Plastic, 5 Gallons	pieces	50	50	50	50	50	50	50	50	50	50	50	50	600	1,200.00	720,000.00
SWITCH HUB, 16 PORT	piece	5	0	0	0	0	0	5	0	0	0	0	0	10	6,000.00	60,000.00
SWITCH HUB, 24 PORT	piece	5	0	0	0	0	0	5	0	0	0	0	0	10	8,500.00	85,000.00
SWITCH HUB, 8 PORT	piece	5	0	0	0	0	0	5	0	0	0	0	0	10	2,000.00	20,000.00
TABLE, round, monobloc	piece	23	0	3	0	3	0	3	0	3	0	3	0	38	3,899.00	151,962.00
TAPE MEASURE, RETRACTABLE, 8M	piece	13	1	1	1	1	1	3	1	1	1	1	1	36	500.00	13,000.00
TELEVISION, AT LEAST 21" SLIM TV	units	37	0	0	0	0	0	10	0	0	0	0	0	47	7,500.00	352,500.00
THERMAL PAPER, queuing machine, 57 x 30 mm	rolls	30	30	30	30	30	30	30	30	30	30	30	30	360	23.00	8,280.00
TONER, FOR PHOTOCOPYING MACHINE	cart	20	20	20	20	20	20	20	20	20	20	20	20	240	2,150.00	516,000.00
TRACING PAPER, 20x30	rolls	10	10	10	10	10	10	10	10	10	10	10	10	120	300.00	36,000.00
TRANSISTOR RADIO AM/FM, AC/DC	units	29	0	0	0	0	0	5	0	0	0	0	0	34	550.00	18,700.00
USB CABLE EXTENSION	pcs	43	0	0	0	0	0	5	0	0	0	0	0	48	60.00	2,880.00
USB HUB, 4 PORTS	pcs	5	0	0	0	0	0	5	0	0	0	0	0	10	175.50	1,755.00
USB TO SATA / IDE CABLE CONVERTER	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00
UTP CABLE	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	8,900.00	0.00
UTP CABLE CAT 5	box	0	0	0	0	0	0	0	0	0	0	0	0	0	1,405.00	0.00
UTP CABLE CAT 6	box	5	5	5	5	5	5	5	5	5	5	5	5	60	2,352.00	141,120.00
VGA CABLE	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	175.50	0.00
VGA SPLITTER	pcs	2	2	2	2	2	0	0	0	0	0	0	0	10	4,000.00	40,000.00
VIDEO CARD 128mb	pcs	8	0	0	0	0	0	0	0	0	0	0	0	8	700.00	5,600.00
WALL CLOCK	pcs	43	0	0	0	0	0	1	0	0	0	0	0	44	300.00	13,200.00
WATER CONTAINER with FAUCET	units	70	64	64	64	64	64	66	64	64	64	64	65	777	195.00	151,515.00
WATER DISPENSER, HOT AND COLD	units	35	0	0	0	0	11	0	1	0	0	0	0	47	9,000.00	423,000.00
WHITEBOARD 3' X 4' / 2 x 3	pcs	25	2	0	2	2	0	25	2	0	2	2	0	62	1,225.00	75,950.00
WHITEBOARD 3 x 6	pcs	20	0	0	0	1	3	20	0	0	2	0	3	49	2,250.00	110,250.00
WHITEBOARD 6 x 4	pcs	20	0	0	0	1	3	20	0	0	1	0	3	48	3,105.00	149,040.00
YELLOW PAD	pads	150	150	150	150	150	150	150	150	150	150	150	150	1800	34.50	62,100.00
Audio and visual presentation and composing equipment																
AMPLIFIER	units	0	1	0	0	0	0	0	0	0	0	0	0	1	2,500.00	2,500.00
AUDIO SYSTEM	lot	0	3	0	0	0	0	0	0	0	0	0	0	3	3,600,000.00	10,800,000.00
BACKPACK, with divider, for camera	pieces	0	3	0	0	0	0	0	0	0	0	0	0	3	4,200.00	12,600.00
ETV Package inclusive of 32 inch LCD TV, DVD Player and 31 volumes of ETV shows	pieces	0	0	4	0	0	2	0	0	2	0	2	0	10	65,000.00	650,000.00
LAPEL	units	0	25	0	0	0	0	0	0	0	0	0	0	25	1,252.00	31,325.00
MICROPHONE, for Public Address System	pieces	0	24	0	0	0	0	0	0	0	0	0	0	24	400.00	9,600.00
PROJECTOR SCREEN, tripod	units	0	8	0	0	0	0	0	0	0	0	0	0	8	3,100.00	24,800.00
PROJECTOR SYSTEM	lot	0	5	0	0	0	0	0	0	0	0	0	0	5	1,200,000.00	6,000,000.00
PUBLIC ADDRESS SYSTEM, portable, with built in FM Radio and CD Player	units	0	0	2	0	0	0	0	0	0	0	0	0	2	29,000.00	58,000.00
PUBLIC ADDRESS SYSTEM W/ INSTALLATION, VARIOUS		0	0	0	0	0	0	0	0	0	0	0	0	0	6,000.00	0.00

<p>MAIN PA SYSTEM (2 Sets) INCLUSIONS: 4 Units 3 Way-Line-Array Module Hornloaded, Component: 1 x8' + 6.5'+2.1', Dispersion: 100 x 15, 2 Units active bandpass subwoofer active 18mm birch multiplex cabinet, black stracted paint, 18" Neodymium woofer, Class D Digital Power amplifier Power output: 1000 watts, 2 Sets Fly bar suspending bar for array system, 2 Sets Link bar, 2 Sets Quick Lock pins, 1 Unit Mixing Console 32 Channels, 2 Units Dual 31 band graphic equalizer, 1 Unit Dual compressor/limiter/gate, 1 Unit Active crossover network 2 channel, 1 Unit Dual reverb processor, 2 Units Wireless handheld microphone UHF Dual Diversity/ Multi Channel, 4 Units SMS8 Vocal Microphone, 2 sets Condenser microphone for choir, 1 Unit Power distribution unit with meter/lamps/ and surge protector, 1 unit DVD player, 4 Pcs. Stage Monitor 12" powdered 800 watts, 2 Sets Heavy duty crank type line array stand, 16 units 54c3 watts R.G.B. + white LED par 64 lights , 2 Units DM x 200 controller, 2 Units Mini follow spot manual 575, 2 pcs. crank type par 64 stand, 1 Roll Stereo cable for signal and microphone 300 meters, 1 set 32 Channels snake cable with storage box & connectors (50 meters), 1 Roll DMX Cable, 1 Unit Heavy Duty metal amplifier rack with glass door, 32 Pcs. XLR Connector male Heavy Duty, 32 XLR Connector female heavy duty, 1 Lot Patch Cable, 16 Sets Intrlink/patch cable with connecties for LED PAR, 16 Pcs. Clamp for LED Light, 1 Lot Hardware for LED Lights</p>	sets																				0.00
<p>REINFORCEMENT PA SYSTEM, 5 Units DJ mixer, 5 Units DVD Player, 10 Units Powered Aspeaker Pro 15" 600W, 10 units PG 58 Microphone, 20 Pcs. Heavy duty Male XLR, 20 Pcs. Heavy female XLR, 2 Rolls Mic Cable pro, 20 Pcs Connectors PL 55 Heavy Duty, 20 Pcs. Connectors RCA Heavy Duty, 6 Pcs. Mic Stand with boom, 4 Pcs. Mic stand straight</p>	sets																				0.00
<p>TCU/ ADDITIONAL PA SYSTEM, 4 Sets UHF Wireless Mic Dual Diversity Multi Channel, 3 Sets Head Worn Wireless mic, 2 units Headset Double muff, 2 pcs condenser mic, 2 units 6 channel dimmer pack 6KW per channel, 4 pcs PAR 64 bulb, 4 Pcs Moving Head Bulb, 1 Unit DVD Player, 6 Pcs. Mic Stand Boom Type, 10 Sets Mic Cable 10m with XLR to XLR, Neutrik (10male, 10 female), 10 pcs Power cord 1 EC to standard, 40 Pcs. RCA Connector Heavy Duty, 3 Pcs. RCA to Mini PL Stereo Heavy Duty, 3 Pcs Male XLR to mini PL Stereo Heavy Duty, 3 Sets Production Communication System</p>	sets																				0.00

EMULSION WAX	gallons				144										144	296.00	34,160.00
FEATHER DUSTER	pieces				372										372	80.00	29,760.00
GLASS CLEANER	gallons				411										411	180.00	73,980.00
HAND BRUSH	pieces				279										279	35.00	9,765.00
HAND GLOVES (CLOTH)	pairs				348										348	80.00	27,840.00
HAND GLOVES (RUBBER)	pairs				1221										1221	185.00	225,885.00
HAND SANITIZER	gallons				806										806	490.00	296,940.00
HAND SANITIZER HOLDER	pieces				414										414	120.00	49,680.00
HAND SOAP (LIQUID)	gallons				618										618	390.00	241,020.00
INSECT SPRAY (BAYGON OR EQUIVALENT)	cans				1300										1300	159.00	206,700.00
LARGE SANDO BAG	bundles				1200										1200	1,000.00	1,200,000.00
LIQUID WAX	gallons				198										198	580.00	114,840.00
MEDIUM SANDO BAG	bundles				1134										1134	750.00	793,800.00
MOP SQUEEZER WITH BUCKET	pieces				45										45	3,450.00	155,250.00
MURIATIC ACID	gallons				315										315	185.00	58,275.00
PLASTIC DIPPER (TARO) MEDIUM	pieces				417										417	15.00	6,255.00
PLASTIC PAIL WITH COVER	pieces				423										423	315.00	133,245.00
POWDERED SOAP	kilos				759										759	250.00	191,800.00
PUSH BRUSH	pieces				372										372	185.00	68,820.00
RUG (CLOTH)	pieces				4281										4281	5.00	21,405.00
SCOURING PAD	packs				741										741	120.00	88,920.00
SOAP HOLDER	pcs				198										198	150.00	29,700.00
SPRAYER	pieces				360										360	80.00	28,800.00
TISSUE HOLDER	pcs				309										309	120.00	37,080.00
TOILET BOWL CLEANER	bottles				873										873	95.00	82,935.00
TOILET BRUSH	pieces				414										414	210.00	86,940.00
TOILET PUMP	pieces				252										252	60.00	15,120.00
TRASH BAG BLACK (11X11X24)	pieces				28938										28938	2.75	79,579.50
TRASH BAG GREEN (11X11X24)	pieces				2106										2106	2.75	5,791.50
TRASH BAG YELLOW (11X11X24)	pieces				2088										2088	2.75	5,742.00
TRASH BAG YELLOW (18 1/2 X 18 1/2 X 40)	boxes				144										144	1,950.00	280,800.00
Paper Materials and Products																	
COLUMNAR PAD, 30 cols, 55gsm	pad	14	14	14	14	14	14	14	14	14	14	14	14	14	148	50.00	8,400.00
COLUMNAR PAD, 6 cols, 55gsm	pad	11	11	11	11	11	11	11	11	11	11	11	11	11	132	21.00	2,772.00
PAPER, ruled pad,216mmx330mm,100s/pad, yellow	pad	9	8	9	8	9	8	9	8	9	8	9	8	102	50.00	5,100.00	
PAPER, various colors, multi-purpose, A4, pack of 25	packs	11	5	8	10	8	6	12	6	8	10	7	5	98	27.50	2,640.00	
Lighting and fixtures and accessories																	
LIGHTING SYSTEM	lot	3	0	0	0	0	0	0	0	0	0	0	0	3		1,800,000.00	5,400,000.00
Electrical equipment and components and supplies																	
Computer Supplies																	
ADOBE READER 10.0.1	piece	31	2	2	2	2	2	2	2	2	2	2	2	53		2,650.00	132,500.00
ANTI VIRUS SOFTWARE	piece	53	2	2	2	2	2	2	2	2	2	2	2	75		1,810.00	120,750.00
AUTOCAD 2007	piece	3	2	2	2	2	2	2	2	2	2	2	2	25		35,000.00	875,000.00
CAD PRINTER	piece	3	2	2	2	2	2	2	2	2	2	2	2	25		75,000.00	1,875,000.00

Computer Equipment and Accessories																
CCTV SYSTEM (Monitor, DVR, Equipment & Desktop)	unit	52	0	0	0	0	0	4	0	0	0	0	0	56	196,000.00	10,976,000.00
DESKTOP COMPUTER	unit	126	5	25	5	16	8	50	5	5	5	5	5	261	36,000.00	9,396,000.00
DESKTOP WITH 2TB HDD 4GB DDR3, UNINTERRUPTED POWER SUPPLY (UPS) AND COMPUTER CHAIR	sets	20	5	5	5	5	5	20	5	5	5	5	5	80	76,800.00	6,914,700.00
DESKTOP WITH DOT MATRIX PRINTER, AND COMPUTER CHAIR	sets	5	1	0	0	0	0	0	0	0	0	0	0	21	52,500.00	1,103,256.00
DESKTOP WITH 3TB HDD 4GB DDR3, LARGE FORMAT SCANNER A3 SIZE, UNINTERRUPTED POWER SUPPLY (UPS), COMPUTER CHAIR	sets	5	0	0	5	0	0	5	0	0	5	0	0	20	87,750.00	1,755,000.00
DESKTOP WITH 3TB HDD 8GB DDR3, 3 IN 1 PRINTER, UNINTERRUPTED POWER SUPPLY (UPS), AND COMPUTER CHAIR	sets	15	10	10	15	10	10	15	10	0	15	0	0	110	67,800.00	7,378,800.00
DESKTOP WITH 4TB HDD 4GB DDR3, DOT MATRIX PRINTER WIDE FORMAT, UNINTERRUPTED POWER SUPPLY (UPS), AND COMPUTER CHAIR	sets	5	0	0	5	0	0	5	0	0	5	0	0	20	87,750.00	1,755,000.00
DESKTOP WITH 4TB HDD 8GB DDR3, 3 IN 1 PRINTER WIDE, UNINTERRUPTED POWER SUPPLY (UPS), COMPUTER CHAIR	sets	5	0	0	5	0	0	5	0	0	5	0	0	20	76,800.00	1,536,600.00
DESKTOP WITH INKJET PRINTER	sets	20	0	0	20	0	0	20	0	0	20	0	0	80	44,000.00	3,520,000.00
DESKTOP WITH LASER PRINTER, AND COMPUTER CHAIR	sets	25	0	0	0	0	0	10	0	0	0	0	0	35	47,910.00	1,677,060.00
DESKTOP WITH LASER JET PRINTER, UPS 1.5 KVA	sets	7	4	4	4	4	5	4	4	4	4	4	4	52	75,000.00	4,056,000.00
DIGITAL MULTIMEDIA PLAYER SYSTEM SET (Multimedia Deck, Mixer, Laptop, Flight Case)	unit	10	0	0	0	0	0	10	0	0	0	0	0	20	154,000.00	3,080,000.00
DISKETTE, 3.5 HD	piece	30	0	0	30	0	0	30	0	0	30	0	0	120	21.00	2,520.00
DOT MATRIX WIDE FORMAT PRINTER, DESKTOP AND COMPUTER CHAIR	sets	4	0	0	0	0	0	4	0	0	0	0	0	8	95,361.00	762,888.00
DUAL SIDED ID CARD PRINTER, DESKTOP, AND COMPUTER CHAIR	sets	3	0	0	0	0	0	1	0	0	0	0	0	4	220,360.00	881,440.00
FLAT 17" MONITOR w/ LCD SCREEN	unit	30	5	5	5	5	5	5	5	5	5	5	5	85	3,500.00	297,500.00
HARD DISK, Seagate sata or equivalent	piece	30	0	0	0	0	0	4	0	0	0	0	0	34	2,570.00	87,380.00
HARD DRIVE, 1TB, external	unit	15	0	0	0	0	1	2	0	0	0	0	0	18	3,600.00	64,800.00
HD CAMCORDER, LAPTOP	sets	10	0	0	0	0	0	5	0	0	0	0	0	15	188,000.00	2,820,000.00
HD HANDYCAM	sets	10	0	0	0	0	0	5	0	0	0	0	0	15	55,000.00	825,000.00
HEADSET	piece	31	0	0	0	0	0	0	0	0	0	0	0	31	250.00	7,750.00
LAN TESTER	piece	10	0	0	0	0	0	0	0	0	0	0	0	10	350.00	3,500.00
LAPTOP	unit	50	0	0	0	0	1	0	0	0	0	0	0	51	40,000.00	2,040,000.00
LAPTOP WITH GSM MODEM	sets	13	0	0	0	0	0	0	0	0	0	0	0	13	51,740.00	672,620.00
LAPTOP WITH 3 IN 1 PRINTER	sets	28	0	0	0	0	1	0	0	0	0	0	0	29	46,800.00	1,357,200.00
LAPTOP WITH LASER PRINTER	sets	11	0	0	0	0	0	0	0	0	0	0	0	11	46,250.00	508,805.00
LCD MULTI MEDIA SET	unit	5	0	0	0	0	0	0	0	0	0	0	0	5	3,500.00	17,500.00
LED 50"	unit	1	0	0	0	0	0	0	0	0	0	0	0	1	45,000.00	45,000.00
LED 60 INCH TV with LAPTOP	sets	2	0	0	0	0	0	0	0	0	0	0	0	2	515,000.00	1,030,000.00
LED PANEL SYSTEM (Flight Case, Stand Fabrication, UPS 9KB, Laptop)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	2,900,000.00	0.00
LICENSED ADOBE ESSENTIALS CS5	piece	5	0	0	0	0	0	0	0	0	0	0	0	5	12,500.00	62,500.00
LICENSED AUTOCAD 2007 (2008-85,000)	piece	7	0	0	0	0	0	0	0	0	0	0	0	7	35,000.00	245,000.00
LICENSED MICROSOFT SERVER 2003, operation system	piece	2	0	0	0	0	0	0	0	0	0	0	0	2	7,600.00	15,200.00
LICENSED MICROSOFT XP SP2, operating system, client	piece	5	0	0	0	0	0	0	0	0	0	0	0	5	15,000.00	75,000.00
LICENSED SQL SERVER 2008	piece	5	0	0	0	0	0	0	0	0	0	0	0	5	12,500.00	62,500.00
LICENSED TYPING MASTER, latest version	piece	2	0	0	0	0	0	0	0	0	0	0	0	2	12,500.00	25,000.00

LICENSED VISUAL STUDIO 2008	piece	2	0	0	0	0	0	0	0	0	0	0	0	0	0	2	3,500.00	7,000.00
LINE MATRIX PRINTER, DESKTOP 218 HDD, 4GB DORG, UNINTERRUPTED POWER SUPPLY (UPS), AND COMPUTER CHAIR	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	471,100.00	0.00
MEMORY (DDR2)	piece	27	0	0	0	0	0	0	0	0	0	0	0	0	0	27	1,500.00	40,500.00
MEMORY CARD, SD Lingstar, 4GB	piece	18	5	3	3	3	3	3	3	3	3	3	3	3	3	58	800.00	44,800.00
MOTHERBOARD	piece	37	0	0	0	0	0	0	0	0	0	0	0	0	0	37	588.00	22,163.00
MS OFFICE 2007	piece	12	0	0	0	0	0	0	0	0	0	0	0	0	0	12	2,800.00	31,200.00
MS VISUAL C++2008	piece	1	0	0	0	0	0	0	0	0	0	0	0	0	0	1	3,500.00	3,500.00
MS WEB DEVELOPER 2008	piece	2	0	0	0	0	0	0	0	0	0	0	0	0	0	2	3,500.00	7,000.00
MS WEB PUBLISHER	piece	2	0	0	0	0	0	0	0	0	0	0	0	0	0	2	3,500.00	7,000.00
NETBEANS 7.0	piece	2	0	0	0	0	0	0	0	0	0	0	0	0	0	2	8,000.00	16,000.00
NOTEPAD ++v.5.9.3	piece	2	0	0	0	0	0	0	0	0	0	0	0	0	0	2	6,800.00	13,000.00
PHOTOSHOP CS4	piece	4	0	0	0	0	0	0	0	0	0	0	0	0	0	4	3,500.00	14,000.00
PLOTTER WITH LARGE FORMAT SCANNER, DESKTOP, UNINTERRUPTED POWER SUPPLY (UPS), AND COMPUTER CHAIR	sets	1	0	0	0	0	0	0	0	0	0	0	0	0	0	1	812,145.00	812,145.00
POWER MODULE 4KVA	units	1	0	0	0	0	0	0	0	0	0	0	0	0	0	1	53,737.00	53,737.00
PRINTER, 3-in-1 (printer, scanner and photocopier), wireless	unit	22	0	5	1	0	0	10	0	0	1	0	0	0	0	39	8,900.00	331,500.00
PRINTER, dot matrix, fully generic or equivalent	unit	3	0	0	0	0	0	1	0	0	0	0	0	0	0	4	10,955.00	79,980.00
PRINTER, INK JET	unit	5	2	2	2	2	2	5	2	2	2	2	2	2	30	3,800.00	114,000.00	
PRO TYPING MASTER	piece	1	0	0	0	0	0	0	0	0	0	0	0	0	0	1	1,800.00	1,800.00
PROJECTOR with LAPTOP	sets	9	0	0	0	0	0	0	1	0	0	0	0	0	0	10	88,000.00	880,000.00
ROUTER (18 PORT)	piece	2	0	0	0	0	0	0	0	0	0	0	0	0	0	2	1,800.00	3,600.00
SCANNER	units	15	5	5	5	5	0	10	0	0	0	0	0	0	0	45	3,150.00	141,750.00
SCANNER, large format with feeder	units	5	0	0	0	0	0	5	0	0	0	0	0	0	0	10	41,888.00	419,888.00
TABLET, Apple iPad or equivalent	units	5	0	0	0	0	0	0	0	0	0	0	0	0	0	5	38,880.00	194,950.00
TURBO C+++3.0	piece	5	5	5	5	5	5	5	0	0	0	0	0	0	0	30	5,000.00	150,000.00
UPS 6kva	units	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	281,000.00	0.00
UPS 8kva	units	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	286,000.00	0.00
UPS 10kva	units	13	0	0	0	0	0	0	0	0	0	0	0	0	0	13	229,800.00	2,984,800.00
VINYL CUTTER, DESKTOP, COMPUTER CHAIR	piece	9	0	0	0	0	0	0	0	0	0	0	0	0	0	9	163,000.00	1,467,000.00
VISUAL BASIC 2008	piece	1	0	0	0	0	0	0	0	0	0	0	0	0	0	1	4,500.00	4,500.00
VISUAL STUDIO 8.0	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,500.00	0.00
WIRELESS MICROPHONE	unit	12	0	0	0	0	0	5	0	0	0	0	0	0	0	17	2,500.00	42,500.00
Food and Drinking Water																		
10 X 20 X .003 PLASTIC BAG, 100 pcs	packs	300	300	300	300	300	300	300	300	300	300	300	300	300	300	3600	300.00	1,080,000.00
20 X 30 X .003 PLASTIC BAG, 100 pcs	packs	300	300	300	300	300	300	300	300	300	300	300	300	300	300	3600	600.00	2,160,000.00
3 IN 1 COFFEE, NESCAFE ORIGINAL OR EQUIVALENT	dozens	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	12000	60.15	721,800.00	
4 X 12 PLASTIC BAG, WHITE HORSE OR EQUIVALENT	packs	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	24.70	29,640.00	
6 X 10 PLASTIC BAG, 100 pcs	packs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	24.70	2,964.00	
AJI GINISA MIX OR EQUIVALENT	dozens	15	15	15	15	15	15	15	15	15	15	15	15	15	180	32.75	5,895.00	
ALAMANG	pieces	5	5	5	5	5	5	5	5	5	5	5	5	5	60	20.00	1,200.00	
ALL PURPOSE CREAM, NESTLE OR EQUIVALENT, 250 ML.	packages	40	40	40	40	40	40	40	40	40	40	40	40	40	480	44.00	21,120.00	
ALUMINUM FOIL	roll	50	50	50	50	50	50	50	50	50	50	50	50	50	600	46.00	27,000.00	
AMPALAYA	kilo	20	20	20	20	20	20	20	20	20	20	20	20	20	240	81.50	19,560.00	
ANCHOVIES (DILIS)	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	120	50.00	6,000.00	
ANISADO WINE	bottles	15	30	30	30	30	30	30	30	30	30	30	30	30	360	20.00	7,200.00	
ASPARAGUS SOUP, INSTANT	pack	10	10	10	10	10	10	10	10	10	10	10	10	10	120	47.00	5,640.00	
ASSORTED CANDIES	pack	600	600	600	600	600	600	600	600	600	600	600	600	600	7200	27.50	198,000.00	

ASSORTED CUP CAKES, LEMON SQUARE OR EQUIVALENT	packs	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	18000	80.00	1,080,000.00	
BAGUIO BEANS	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	84.00	10,080.00	
BAKING POWDER	200 grams	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	19.90	1,194.00
BANANA, LAKATAN	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	87.80	24,408.00	
BANANA, LATUNDAN	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	87.80	24,408.00	
BANGUS	kilo	80	80	80	80	80	80	80	80	80	80	80	80	80	80	80	960	130.00	124,800.00	
BEEF CUBES, KNORR OR EQUIVALENT	boxes	60	60	60	60	60	60	60	60	60	60	60	60	60	60	60	720	48.50	34,920.00	
BEEF GINLING	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	245.00	88,200.00	
BEEF LAMAN	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	245.00	88,200.00	
BELL PEPPER	kilo	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	150.00	24,000.00	
BIFON, 500 GRAMS	kilo	8	8	8	8	8	8	8	8	8	8	8	8	8	8	8	96	112.00	10,752.00	
BISCUITS, FITA OR EQUIVALENT, 400 G.	container	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	140.00	33,600.00	
BLACK BEANS	cans	8	8	8	8	8	8	8	8	8	8	8	8	8	8	8	96	27.00	2,592.00	
BLACK PEPPER, GROUND, 100 G.	kilo	6	6	6	6	6	6	6	6	6	6	6	6	6	6	6	72	54.00	3,888.00	
BREAD CRUMBS	500 grams	8	8	8	8	8	8	8	8	8	8	8	8	8	8	8	96	41.00	3,936.00	
BROAS, 320 G.	container	60	60	60	60	60	60	60	60	60	60	60	60	60	60	60	720	147.00	105,840.00	
BROWN SUGAR	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	43.50	7,830.00	
BROWNIES, LEMON SQUARE OR EQUIVALENT	packs	100	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	56.00	67,200.00	
BUFFET MEAL	meals	5000	5000	5000	5000	5000	5000	5000	5000	5000	5000	5000	5000	5000	5000	5000	60000	350.00	21,000,000.00	
BURGER PATTIES, CDO OR EQUIVALENT	boxes	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	64.00	23,040.00	
BUTTER COOKIES, 400 G.	container	70	70	70	70	70	70	70	70	70	70	70	70	70	70	70	840	178.00	149,520.00	
BUTTER, 100GRAMS	pack	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	42.50	5,100.00	
CABBAGE	kilo	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	71.00	17,040.00	
CAKE FLOUR	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	60.00	7,200.00	
CALAMANSI	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	64.75	7,770.00	
CANTON NOODLES, 400 GRAMS	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	102.00	18,360.00	
CARAGEENAN	kilo	3	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	70.00	2,520.00	
CARROTS	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	70.00	12,600.00	
CASSAVA	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	15.00	2,700.00	
CATSUP	gallons	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	158.00	56,880.00	
CELERY	kilo	9	9	9	9	9	9	9	9	9	9	9	9	9	9	9	108	90.00	10,044.00	
CHEESE, BKG, EDEN OR EQUIVALENT, 450 GRAMS	boxes	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	188.00	33,840.00	
CHEESEDOG, CDO OR EQUIVALENT	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	224.00	80,640.00	
CHEEZ WHIZ or equivalent (Big)	pieces	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	139.50	33,480.00	
CHICKEN	kilo	160	160	160	160	160	160	160	160	160	160	160	160	160	160	160	1920	130.00	255,360.00	
CHICKEN BURGER, PUREFOODS OR EQUIVALENT	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	292.00	105,120.00	
CHICKEN CUBES, KNORR OR EQUIVALENT	boxes	60	60	60	60	60	60	60	60	60	60	60	60	60	60	60	720	48.50	34,920.00	
CHICKEN FRANKS, CDO OR EQUIVALENT	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	171.50	30,870.00	
CHOCOLATE BAR, FUDGHE BAR OR EQUIVALENT	packs	310	310	310	310	310	310	310	310	310	310	310	310	310	310	310	3720	57.00	212,040.00	
CHORIZO DE BILBAO	pieces	25	25	25	25	25	25	25	25	25	25	25	25	25	25	25	300	10.00	3,000.00	
CINNAMON	250 grams	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	37.65	6,777.00	
COCONUT (NIYOG)	piece	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	20.00	3,600.00	
COFFEE CREAMER, 480 GRAMS	packages	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	18000	90.00	1,620,000.00	
COFFEE CREAMER, 500 GRAMS	packages	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	114.50	41,220.00	
COFFEE CREAMER, 80 GRAMS	pack	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	17.50	6,300.00	
COFFEE, 100G, NESCAFE OR EQUIVALENT	packages	84	84	84	84	84	84	84	84	141	141	84	84	84	84	84	1122	79.00	88,638.00	
COFFEE, 50 GRAMS	pack	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	18000	38.25	688,500.00	
CONDENSED MILK, ALASKA OR EQUIVALENT	cans	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	52.50	18,900.00	
COOKIES, DEW BERRIES OR EQUIVALENT	packages	309	309	309	309	309	309	309	309	309	309	309	309	309	309	309	3708	85.00	315,180.00	

COOKING OIL	gallons	15	15	15	15	15	15	15	15	15	15	15	15	15	180	445.00	80,100.00
CORN STARCH	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	120	75.00	9,000.00
CORNEE BEEF, ARGENTINA OR EQUIVALENT	cans	50	50	50	50	50	50	50	50	50	50	50	50	50	800	85.50	39,300.00
CORNEE TUNA, SAN MARINO (RED) OR EQUIVALENT	cans	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	34.00	40,800.00
CRACKERS, INDIVIDUALLY WRAPPED BY 105, SKYFLAKES OR EQUIVALENT	packages	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	42.00	50,400.00
CRACKERS, SKYFLAKES OR EQUIVALENT, 2.8 KG.	container	10	10	10	10	10	10	10	10	10	10	10	10	10	120	239.75	28,770.00
CREAM OF CORN, DEL MONTE OR EQUIVALENT, 425 GRAMS	cans	30	30	30	30	30	30	30	30	30	30	30	30	30	360	30.00	10,800.00
CUCUMBER	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	120	72.00	8,640.00
CURRY POWDER 50g/pack	pieces	15	15	15	15	15	15	15	15	15	15	15	15	15	180	20.75	3,735.00
DALANGANG BUKID, BIC	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	195.00	35,100.00
DISHWASHING LIQUID, JOY OR EQUIVALENT	pieces	99	33	33	33	33	33	33	33	33	33	33	33	33	462	106.00	48,972.00
DISPOSABLE PLASTIC FORKS	pieces	900	2100	2400	2100	900	900	3600	2400	2400	2400	900	3600	24600	1.40	34,440.00	
DISPOSABLE PLASTIC SPOONS	pieces	900	900	2400	900	900	900	2400	2400	2400	2400	900	2400	18600	1.40	27,220.00	
DRIED DILIS	kilo	9	9	9	9	9	9	9	9	9	9	9	9	9	108	320.00	32,400.00
DRIED SHRIMP, 80 GRAMS	packages	9	9	9	9	9	9	9	9	9	9	9	9	9	108	428.00	44,064.00
DUCK EGG	dozens	45	45	45	45	45	45	45	45	45	45	45	45	45	540	96.00	51,840.00
EGGPLANT	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	51.00	9,180.00
EGGS	piece	45	45	45	45	45	45	45	45	45	45	45	45	45	540	5.00	2,700.00
ELBOW MACARONI	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	119.00	20,880.00
EVAPORATED MILK, ALASKA OR EQUIVALENT, 370ML.	cans	40	40	40	40	40	40	40	40	40	40	40	40	40	480	35.00	16,800.00
FISH (GALUNGGONG)	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	120.00	21,600.00
FISH CUBES, KNORR OR EQUIVALENT	boxes	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	48.50	116,400.00
FISH FILLET	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	120.00	21,600.00
FISH SAUCE	bottles	15	15	15	15	15	15	15	15	15	15	15	15	15	180	12.00	2,160.00
FLOUR	kilo	50	50	50	50	50	50	50	50	50	50	50	50	50	600	50.00	30,000.00
FOLDED NAPKIN	packages	9	9	9	9	9	9	9	9	9	9	9	9	9	108	29.50	3,186.00
FOLDED NAPKIN, Big Pack, 500 pcs.	packages	15	15	15	15	15	15	15	15	15	15	15	15	15	180	118.00	21,240.00
FOOD COLOR, 250 g	cans	15	15	15	15	15	15	15	15	15	15	15	15	15	180	80.00	14,400.00
FOOTLONG HOTDOG, HOLIDAY OR EQUIVALENT	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	380	151.47	54,529.20
FRUIT COCKTAIL, DEL MONTE OR EQUIVALENT, 3062 GRAMS	cans	45	45	45	45	45	45	45	45	45	45	45	45	45	540	188.00	101,844.00
FRUIT COCKTAIL, DEL MONTE OR EQUIVALENT, 439 GRAMS	cans	45	45	45	45	45	45	45	45	45	45	45	45	45	540	47.98	25,893.00
GABI	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	36.00	6,480.00
GARBANZOS, 225 GRAMS	cans	15	15	15	15	15	15	15	15	15	15	15	15	15	180	17.50	3,150.00
GARLIC	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	120	50.00	6,000.00
GELATIN, MR. GULAMAN OR EQUIVALENT, 24 GRAMS	boxes	15	15	15	15	15	15	15	15	15	15	15	15	15	180	13.00	2,340.00
GINGER	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	120	38.00	4,320.00
GRATED COCONUT	pcs	20	20	20	20	20	20	20	20	20	20	20	20	20	240	31.00	7,440.00
GREEN ONIONS	bundle	9	9	9	9	9	9	9	9	9	9	9	9	9	108	15.00	1,620.00
GREEN PEAS, 225g.	cans	15	15	15	15	15	15	15	15	15	15	15	15	15	180	16.00	2,880.00
GROUND PORK	kilo	20	20	20	20	20	20	20	20	20	20	20	20	20	240	173.00	41,520.00
GUYONG POWDER	50 grams	15	15	15	15	15	15	15	15	15	15	15	15	15	180	18.30	3,330.00
HASA HASA	kilo	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	282.25	314,700.00
HEAVY BREAKFAST/LUNCH/DINNER	packs	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	240000	196.00	36,000,000.00
HEAVY SNACK	packs	15000	15000	15000	15000	15000	15000	15000	15000	15000	15000	15000	15000	15000	180000	56.00	9,000,000.00
HOT DOG, PUREFOODS OR EQUIVALENT	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	173.50	31,230.00
ICE CREAM CLIPS W/ COVERS	packs	70	70	70	70	70	70	70	70	70	70	70	70	70	840	20.00	16,800.00

ICED TEA, 450 GRAMS x 24, NESTEA OR EQUIVALENT	boxes	30	30	30	30	30	30	30	30	30	30	30	30	360	2,450.00	882,000.00
ICED TEA, 800 GRAMS, NESTEA OR EQUIVALENT	packs	2700	2700	2700	2700	2700	2700	2700	2700	2700	2700	2700	2700	32400	82.00	2,656,800.00
INSTANT NOODLES	cup	90	90	90	90	90	90	90	90	90	90	90	90	1080	19.00	20,520.00
INSTANT NOODLES, BEEF	sachet	90	90	90	90	90	90	90	90	90	90	90	90	1080	8.15	8,802.00
INSTANT NOODLES, BEEF	cup	90	90	90	90	90	90	90	90	90	90	90	90	1080	15.00	16,200.00
INSTANT NOODLES, CHICKEN	sachet	90	90	90	90	90	90	90	90	90	90	90	90	1080	8.15	8,802.00
INSTANT NOODLES, CHICKEN	cup	90	90	90	90	90	90	90	90	90	90	90	90	1080	15.25	16,470.00
INSTANT NOODLES, ORIGINAL FLAVOR	sachet	90	90	90	90	90	90	90	90	90	90	90	90	1080	7.00	7,560.00
IODIZED ROCK SALT	kilo	15	15	15	15	15	15	15	15	15	15	15	15	180	17.00	3,060.00
IODIZED SALT	kilo	3	3	3	3	3	3	3	3	3	3	3	3	36	30.00	1,080.00
JACK FRUIT, preserved	bot	15	15	15	15	15	15	15	15	15	15	15	15	180	100.00	18,000.00
JELLY, JELLY ACE OR EQUIVALENT	packages	40	40	40	40	40	40	40	40	40	40	40	40	480	50.00	24,000.00
JUICE, TETRA	tetra	400	390	2790	390	390	390	1890	1890	1890	1890	1260	1890	15490	5.80	89,842.00
KAMOTE LEAVES	bundle	15	15	15	15	15	15	15	15	15	15	15	15	180	5.10	918.00
KANGKONG	bundle	15	15	15	15	15	15	15	15	15	15	15	15	180	5.10	918.00
KINCHAY	bundle	15	15	15	15	15	15	15	15	15	15	15	15	180	10.00	1,800.00
LABAHITA FISH, BIG	kilo	15	15	15	15	15	15	15	15	15	15	15	15	180	260.00	46,800.00
LARD COOKING OIL	grams	15	15	15	15	15	15	15	15	15	15	15	15	180	50.00	9,000.00
LAUNDRY BAR, TIDE OR EQUIVALENT	bar	30	30	30	30	30	30	30	30	30	30	30	30	360	19.00	6,840.00
LAUREL LEAVES	grams	15	15	15	15	15	15	15	15	15	15	15	15	180	25.00	4,500.00
LEMON GRASS	bundle	15	15	15	15	15	15	15	15	15	15	15	15	180	5.00	900.00
LIGHT SNACKS	packs	15000	15000	15000	15000	15000	15000	15000	15000	15000	15000	15000	15000	180000	30.00	5,400,000.00
LIVER SPREAD, 230 GRAMS	cans	15	15	15	15	15	15	15	15	15	15	15	15	180	31.50	5,670.00
LIVER SPREAD, 85 GRAMS	cans	60	60	60	60	60	60	60	60	60	60	60	60	720	14.50	10,440.00
LOAF BREAD	loaves	50	15	15	15	15	15	15	15	15	15	15	15	215	60.70	13,090.50
LOW FAT MILK, 1 LITER, MILK MAGIC OR EQUIVALENT	packages	20	15	15	15	15	15	15	15	15	15	15	15	185	71.25	13,181.25
LUMPIA WRAPPER	pieces	150	150	150	150	150	150	150	150	150	150	150	150	1800	1.40	2,520.00
LUNCHEON MEAT, MALING OR EQUIVALENT	cans	60	60	60	60	60	60	60	60	60	60	60	60	720	64.80	46,656.00
MACAPUNO, PRESERVED	bot	15	15	15	15	15	15	15	15	15	15	15	15	180	60.00	10,800.00
MAGGI MAGIC SARAP OR EQUIVALENT	dozens	12	12	12	12	12	12	12	12	12	12	12	12	144	37.00	5,328.00
MALAGKIT	kilo	10	10	10	10	10	10	10	10	10	10	10	10	120	55.00	6,600.00
MALLNGGAY	bundle	15	15	15	15	15	15	15	15	15	15	15	15	180	5.00	900.00
MANG TOMAS ALL AROUND SARSA OR EQUIVALENT	bottles	20	20	20	20	20	20	20	20	20	20	20	20	240	40.00	9,600.00
MARGARINE 250 g	pack	45	45	45	45	45	45	45	45	45	45	45	45	540	54.00	29,160.00
MARGARINE, 125G.	pack	15	15	15	15	15	15	15	15	15	15	15	15	180	25.00	4,500.00
MAYA MAYA (FRESH)	kilo	50	50	50	50	50	50	50	50	50	50	50	50	600	487.75	292,650.00
MAYONNAISE, LADIES CHOICE, BIG	bottles	50	50	50	50	50	50	50	50	50	50	50	50	600	235.00	141,000.00
MISUA NOODLES	kilo	15	15	15	15	15	15	15	15	15	15	15	15	180	50.00	9,000.00
MOLO WRAPPER, 1.5 x 1.5	packs	15	15	15	15	15	15	15	15	15	15	15	15	180	25.00	4,500.00
MONGO SEEDS, DRIED	kilo	495	15	15	15	15	15	15	15	15	15	15	15	660	60.00	32,800.00
MUSHROOMS (850g)	piece	45	45	45	45	45	45	45	45	45	45	45	45	540	88.00	47,520.00
MUSTASA	bundle	15	15	15	15	15	15	15	15	15	15	15	15	180	102.00	18,360.00
NUTMEG	150 grams	15	15	15	15	15	15	15	15	15	15	15	15	180	92.00	16,560.00
ONIONS	kilo	15	15	15	15	15	15	15	15	15	15	15	15	180	70.00	12,600.00
OYSTER SAUCE, BIG, MAMA SITA OR EQUIVALENT, 750 ML.	bottles	20	20	20	20	20	20	20	20	20	20	20	20	240	105.50	25,320.00
PACKED MEAL	packs	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	240000	60.00	14,400,000.00
PAPER PLATE, 100'S, LAMINATED	pack	33	18	48	18	33	33	48	48	48	48	33	48	458	153.00	69,768.00
PEANUT BUTTER, 900 GRAMS	bottles	12	12	12	12	12	12	12	12	12	12	12	12	144	189.00	27,216.00
PECHAY	bundle	15	15	15	15	15	15	15	15	15	15	15	15	180	50.00	9,000.00
PEPPERCORN (Paminta)	pieces	150	150	150	150	150	150	150	150	150	150	150	150	1800	10.00	18,000.00

PICKLE RELISH	bot	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	35.00	6,300.00
PINEAPPLE	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	65.00	10,800.00
PINEAPPLE JUICE	cans	390	240	390	240	390	240	240	390	390	390	390	390	390	390	4080	17.00	69,360.00
PINEAPPLE TIDBITS, DEL MONTE OR EQUIVALENT, 560 GRAMS	cans															390	50.00	18,000.00
PLASTIC CUP	pcs	300	300	790	300	300	300	1800	1800	1800	1800	750	1800	12000		140	16,400.00	
PLASTIC LABO (1KILO)	packages	60	60	60	60	60	60	60	60	60	60	60	60	60	60	720	19.95	14,364.00
PLASTIC LABO (2KILO)	packages	60	60	60	60	60	60	60	60	60	60	60	60	60	60	720	24.70	17,784.00
PLASTIC WRAP (CLING WRAP)	pieces	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	398.25	71,685.00
PORK & BEANS, HUNTS OR EQUIVALENT, 165 GRAMS	cans	36	36	36	36	36	36	36	36	36	36	36	36	36	36	432	18.55	8,013.60
PORK CHOP	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	173.00	62,280.00
PORK CUBES, KNORR OR EQUIVALENT	boxes	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	48.00	27,600.00
PORK LIEMPO (SLICE)	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	173.00	31,140.00
PORK PIGE (LAMAM)	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	173.00	31,140.00
POT HOLDER x 2	packages	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	7.00	1,260.00
POTATO	kilo	9	9	9	9	9	9	9	9	9	9	9	9	9	9	108	50.00	5,400.00
POWDERED COCONUT MILK, FESTA OR EQUIVALENT, 40 G.	packages	50	60	50	50	50	50	50	50	50	50	50	50	50	50	600	26.75	16,050.00
POWDERED DETERGENT, TIDE OR EQUIVALENT, 350G.	packages	33	30	30	30	30	30	30	30	30	30	30	30	30	30	363	44.75	16,244.25
POWDERED DETERGENT, TIDE OR EQUIVALENT, 950G.	packages	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	91.50	32,940.00
POWDERED JUICE, 1.2 KG, TANG OR EQUIVALENT	packs	240	240	240	240	240	240	240	240	240	240	240	240	240	240	2880	151.75	437,040.00
POWDERED JUICE, 800 GRAMS, TANG OR EQUIVALENT	packs	90	90	90	90	90	90	90	90	90	90	90	90	90	90	1080	82.00	88,560.00
POWDERED MILK, CHOCOLATE, MILO OR EQUIVALENT, 125, 20 GRAMS	packages	300	300	300	300	300	300	300	300	300	300	300	300	300	300	3600	57.00	205,200.00
PURIFIED DRINKING WATER, 335ML	bottls	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	120000	6.00	7,200,000.00
PURIFIED DRINKING WATER, 5 GALLONS	gal	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	10000	120000	38.00	4,560,000.00
PUSO NG SAGING	piece	45	45	45	45	45	45	45	45	45	45	45	45	45	45	540	20.00	10,800.00
QUAIL EGGS	pieces	300	300	300	300	300	300	300	300	300	300	300	300	300	300	3600	1.50	5,400.00
RADISH	kilo	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	71.40	8,568.00
RAISINS, 250 g	boxes	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	15.00	2,700.00
RICE	kilo	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	37.00	13,320.00
RICE, Simandiang	sacks	306	100	306	100	100	100	231	100	100	100	306	100	1949		1,850.00	3,605,650.00	
RIPE MANGO	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	84.80	15,264.00
SAGING NA SABA	pieces	250	250	250	250	250	250	250	250	250	250	250	250	250	250	3000	3.00	9,000.00
SALAD	packs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	50.00	9,000.00
SAMPALOK LEAVES	bundle	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	5.00	900.00
SANDO BAG, LARGE, 1000S	bundle	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	970.00	174,600.00
SARDINES	cans	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	18000	16.50	297,000.00
SAUCE CUP WITH COVERS	pieces	400	400	400	400	400	400	400	400	400	400	400	400	400	400	4800	1.55	7,440.00
SAUSAGE (160G) ARGENTINA OR EQUIVALENT	cans	150	150	150	150	150	150	150	150	150	150	150	150	150	150	1800	18.00	32,400.00
SAUSAGE, CENTURY TUNA OR EQUIVALENT, 135 GRAMS	cans	150	150	150	150	150	150	150	150	150	150	150	150	150	150	1800	24.00	43,200.00
SAYOTE	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	50.00	9,000.00
SCOURING PAD (W/O FOAM), SCOTCH BRITE OR EQUIVALENT	pieces	50	50	50	50	50	50	50	50	50	50	50	50	50	50	600	30.50	18,300.00
SESAME OIL	bot	12	12	12	12	12	12	12	12	12	12	12	12	12	12	144	60.00	8,640.00
SHRIMP	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	310.00	55,800.00
SHRIMP CUBES, KNORR OR EQUIVALENT	cubes	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	7.00	1,260.00
SHING LABUYO	250 grams	30	30	30	30	30	30	30	30	30	30	30	30	30	30	390	5.00	1,800.00
SHING PANCSIGANG	kilo	6	6	6	6	6	6	6	6	6	6	6	6	6	6	72	81.00	5,832.00
SINGANG MIX, KNORR OR EQUIVALENT	dozens	6	6	6	6	6	6	6	6	6	6	6	6	6	6	72	128.45	9,032.40

SITAW	bundle	15	15	15	15	15	15	15	15	15	15	15	15	15	180	29.55	5,319.00
SKINLESS LONGANISA	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	133.00	23,940.00
SOTANGHON	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	170.00	30,600.00
SOY SAUCE	gallons	15	15	15	15	15	15	15	15	15	15	15	15	15	180	125.00	22,500.00
SPAGHETTI NOODLES	packages	30	30	30	30	30	30	30	30	30	30	30	30	30	360	60.00	21,600.00
SQUASH	piece	15	15	15	15	15	15	15	15	15	15	15	15	15	180	45.00	8,100.00
STEEL WOOL	pieces	50	50	50	50	50	50	50	50	50	50	50	50	50	600	34.00	20,400.00
STIRRER	piece	15	15	465	15	15	15	15	15	15	15	465	15	1080	0.50	540.00	
STYRO BOWLS	pieces	600	600	600	600	600	600	600	600	600	600	600	600	600	7200	1.00	7,200.00
STYRO CUPS	pieces	800	800	800	800	800	800	800	800	800	800	800	800	800	9600	1.00	9,600.00
STYRO DIVIDERS	pieces	600	600	600	600	600	600	600	600	600	600	600	600	600	7200	1.50	10,800.00
STYRO PLATE	pieces	600	600	600	600	600	600	600	600	600	600	600	600	600	7200	1.00	7,200.00
SWEET AND SOUR SAUCE, DEL MONTE OR EQUIVALENT	bottles	15	15	15	15	15	15	15	15	15	15	15	15	15	180	37.00	6,660.00
SWEET POTATO	kilo	20	20	20	20	20	20	20	20	20	20	20	20	20	240	30.00	7,200.00
TALAKTOK (FRESH)	kilo	50	50	50	50	50	50	50	50	50	50	50	50	50	600	472.00	283,200.00
TAMARIND	kilo	3	3	3	3	3	3	3	3	3	3	3	3	3	36	80.00	2,880.00
TALUPE WRAPPER	packs	15	15	15	15	15	15	15	15	15	15	15	15	15	180	25.00	4,500.00
TEA, LIFT ON OR EQUIVALENT, 45 GRAMS X 50	boxes	70	70	70	70	70	70	70	70	70	70	70	70	70	840	130.00	109,200.00
TEXTURED VEGETABLE PROTEIN	pack	15	15	15	15	15	15	15	15	15	15	15	15	15	180	20.00	3,600.00
TILAPIA	kilo	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	102.00	122,400.00
TOCINO, CDO OR EQUIVALENT	kilo	50	50	50	50	50	50	50	50	50	50	50	50	50	600	271.50	162,900.00
TOFU (TOKWA)	packs	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	15.00	18,000.00
TOGUE	pieces	150	150	150	150	150	150	150	150	150	150	150	150	150	1800	50.00	90,000.00
TOKEN	packs	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	20000	240000	250.00	60,000,000.00
TOKWA	packs	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	30.00	36,000.00
TOMATO SAUCE, 1 KILOGRAM, DEL MONTE OR EQUIVALENT	packages	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	80.00	96,000.00
TOMATO SAUCE, 30 GRAMS, DEL MONTE OR EQUIVALENT	pack	15	15	15	15	15	15	15	15	15	15	15	15	15	180	16.00	2,880.00
TOMATOES	kilo	40	40	40	40	40	40	40	40	40	40	40	40	40	480	50.00	24,000.00
TOOTH PICK	box	30	30	30	30	30	30	30	30	30	30	30	30	30	360	33.50	12,060.00
TUNA IN BRINE, 1205G, CENTURY TUNA OR EQUIVALENT	cans	80	80	80	80	80	80	80	80	80	80	80	80	80	960	430.00	412,800.00
TUNA IN WATER, CENTURY TUNA OR EQUIVALENT	cans	80	80	80	80	80	80	80	80	80	80	80	80	80	960	46.80	44,928.00
TUNA SAUSAGE, CENTURY TUNA OR EQUIVALENT, 135GRAMS	cans	80	80	80	80	80	80	80	80	80	80	80	80	80	960	24.00	23,040.00
TURNIP	kilo	0	0	0	0	0	0	0	0	0	0	0	0	0	0	39.00	0.00
UPO	piece	15	15	15	15	15	15	15	15	15	15	15	15	15	180	51.00	9,180.00
VANILLA, 20 ML.	bottles	20	20	20	20	20	20	20	20	20	20	20	20	20	240	27.90	6,696.00
VARIOUS GROCERY ITEMS (CALAMITY)	lot	0	0	0	0	1	0	0	1	0	0	0	0	0	2	35,000,000.00	70,000,000.00
VARIOUS GROCERY ITEMS (PAMASKONG HANDOG)	lot	0	0	0	0	0	0	0	0	0	0	0	0	0	1	50,000,000.00	50,000,000.00
VETSN	100 grams	10	10	10	10	10	10	10	10	10	10	10	10	10	120	19.15	2,298.00
VINEGAR	gallons	20	20	20	20	20	20	20	20	20	20	20	20	20	240	114.80	27,504.00
VINEGAR, cane, del monte or equivalent	gallons	9	9	9	9	9	9	9	9	9	9	9	9	9	108	870.00	93,960.00
WASHED SUGAR	kilo	15	15	15	15	15	15	15	15	15	15	15	15	15	180	41.00	7,380.00
WHATTATOPS CHEESE OR EQUIVALENT	packages	324	324	324	324	324	324	324	324	324	324	324	324	324	3912	49.95	1,95,704.10
WHEAT FLOUR	kilo	9	9	9	9	9	9	9	9	9	9	9	9	9	108		0.00
WHITE SUGAR	kilo	21	21	21	21	21	21	21	21	21	21	21	21	21	252	49.00	12,348.00
WHITE SUGAR	sack	15	15	15	15	15	15	15	15	15	15	15	15	15	180	2,450.00	441,000.00
WHOLE CORN, DEL MONTE OR EQUIVALENT, 425 GRAMS	cans	15	15	15	15	15	15	15	15	15	15	15	15	15	180	30.00	5,940.00

Tarps and Tarpaulin materials																
TARPAULIN MACHINE PRINTER INK	pieces	0	44	44	44	0	48	30	30	30	30	30	30	360	4,550.00	1,638,000.00
TARPAULIN MATERIALS: 10.5 FT. (WIDTH) X 164 FT. (HEIGHT) X 10 OZ. (THICKNESS)	rolls	0	72	72	72	0	81	81	81	60	59	58	58	636	10,403.75	6,616,785.00
TARPAULIN MATERIALS: 8.2 FT. (WIDTH) X 164 FT. (HEIGHT) X 10 OZ. (THICKNESS)	rolls	0	82	82	82	0	65	65	65	65	65	65	65	701	7,803.00	5,469,903.00
TARPAULIN PRINTER HEADS	pieces	0	14	15	14	0	12	11	12	12	10	10	10	120	50,000.00	6,000,000.00
TARPAULIN, with print 48 x 88	pcs	0	70	70	87	0	50	50	50	52	52	52	52	565	400.00	226,000.00
Furnitures and Fixtures																
COMPUTER TABLE	pcs	0	0	250	0	0	0	100	0	0	0	0	0	300	1,349.50	404,700.00
CONFERENCE TABLE	pcs	0	0	28	0	0	0	12	0	0	0	0	0	40	12,000.00	480,000.00
DOUBLE DECKER BED	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	11,000.00	0.00
DRAWING CHAIR	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	2,500.00	0.00
DRAWING TABLE	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	4,500.00	0.00
EXECUTIVE CHAIRS	pcs	0	0	102	0	0	0	48	0	0	0	0	0	150	3,500.00	525,000.00
FILING CABINET, wood	units	0	0	32	0	0	0	14	0	0	0	0	0	46	6,500.00	299,000.00
FILING CABINET (4 DRAWERS) LATERAL	units	0	0	44	0	0	0	34	0	0	0	0	0	78	9,172.00	715,416.00
FILING CABINET (5 DRAWERS), steel	units	0	0	82	0	0	0	38	0	0	0	0	0	120	8,815.00	1,033,800.00
FILING CABINET, four (4) drawers, steel, plain finish, w/ 8 ball bearing rollers, gauge 20	unit	0	0	95	0	0	0	44	0	0	0	0	0	139	9,399.52	1,306,533.28
FILING CABINET, four (4) drawers, steel, plain finish, w/ 8 ball bearing rollers, gauge 24	unit	0	0	68	0	0	0	31	0	0	0	0	0	99	7,852.92	787,438.08
FILING CABINET, four(4) drawers, three (3) drawers + one (1) safe, plain finish, gauge 20	unit	0	0	63	0	0	0	33	0	0	0	0	0	90	13,487.12	1,295,723.52
FILING CABINET, lateral, four (4) drawers, beige, plain finish, 35"x18"x35.5"(HxWxD) body, 6' x 18' x 32" (H x W x L), gauge 30	unit	0	0	21	0	0	0	10	0	0	0	0	0	31	12,158.82	376,821.12
FOLDING DOOR, 35 5/8 X R2 1/8	unit	0	0	28	0	0	0	12	0	0	0	0	0	40	11,319.00	452,760.00
FOLDING DOOR, 53 1/4 X 52 1/4	unit	0	0	27	0	0	0	13	0	0	0	0	0	40	10,739.30	429,572.00
FOLDING DOOR, 90 3/4 X 83	unit	0	0	28	0	0	0	12	0	0	0	0	0	40	17,259.00	690,360.00
LABORATORY CABINET, 6 ft x 4 ft x 1.5 ft, wood	pcs	0	0	10	0	0	0	5	0	0	0	0	0	15	10,500.00	157,500.00
LABORATORY CHAIRS	pcs	0	0	11	0	0	0	4	0	0	0	0	0	15	2,900.00	43,500.00
LABORATORY TABLE, 8 ft x 4 ft.	pcs	0	0	2	0	0	0	0	0	0	0	0	0	2	11,000.00	22,000.00
ROSTRUM	unit	0	0	7	0	0	0	3	0	0	0	0	0	10	40,300.00	403,000.00
SIDE TABLE, STEEL, 3 DRAWERS	unit	0	0	79	0	0	0	37	0	0	0	0	0	118	6,500.00	754,000.00
STEEL BOOKSHELVES, five layers, open type, 210x70x65	units	0	0	39	0	0	0	17	0	0	0	0	0	55	23,400.00	1,310,400.00
STEEL BOOKSHELVES, five layers, open type, 72x36x16	units	0	0	38	0	0	0	18	0	0	0	0	0	55	12,800.00	705,600.00
VENETIAN BLINDS, pvc, vertical, dimensions: 100 x 53	panels	0	0	37	0	0	0	16	0	0	0	0	0	53	8,054.58	426,892.74
VENETIAN BLINDS, pvc, Vertical, dimensions: 53 1/2 x 53, 53 1/2 x 53 1/2, 53 1/4 x 53 1/2	panels	0	0	64	0	0	0	29	0	0	0	0	0	93	7,295.00	678,435.00
VENETIAN BLINDS, pvc, Vertical, dimensions: 62 1/2 x 47 1/8, 62 1/4 x 47 1/8, 47 x 47 1/2	panels	0	0	44	0	0	0	21	0	0	0	0	0	65	8,210.50	533,682.50
VERTICAL FILING CABINET, 46W X 62D X 134H CM	pcs	0	0	19	0	0	0	11	0	0	0	0	0	30	7,540.00	226,200.00
WORKING TABLES	pcs	0	0	25	0	0	0	11	0	0	0	0	0	36	19,000.00	684,000.00
Medicines																
ACETYLCYSTEINE 200MG SACHET	sachet	0	0	120	0	0	0	0	0	0	0	0	0	120	37.50	4,440.00
ACETYLCYSTEINE 600MG SACHET	sachet	0	0	120	0	0	0	0	0	0	0	0	0	120	90.50	10,800.00
ACYCLOVIR CREAM	tube	0	0	120	0	0	0	0	0	0	0	0	0	120	400.50	48,000.00

ALLOPURINOL TAB, 100MG	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	330.00	39,600.00
AL-MG HYDROXIDE SUSPENSION	bot	0	0	120	0	0	0	0	0	0	0	0	0	0	120	120.00	14,400.00
ALUMINUM MAGNESIUM HYDROXIDE TAB X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	250.00	30,000.00
AMBROXOL 15MG SYRUP	btls	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	33.00	57,024.00
AMBROXOL 15MG TABLET X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	120.00	14,400.00
AMBROXOL 30 MG TABLET X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	130.00	15,600.00
AMBROXOL 30mg Syrup	bot	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	120.00	207,360.00
AMBROXOL 75MG TABLET X 100	bss	0	0	140	0	0	0	0	0	0	0	0	0	0	140	3,200.00	420,000.00
AMBROXOL DROPS		0	0	864	0	0	0	0	0	0	0	0	0	0	864	75.00	64,800.00
AMIKACIN 100MG	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	150.00	18,000.00
AMIKACIN 125MG/VIAL	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	110.00	13,200.00
AMIKACIN 250MG/VIAL	vials	0	0	127	0	0	0	0	0	0	0	0	0	0	127	200.00	25,400.00
AMIKACIN 500MG/VIAL	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	250.00	30,000.00
AMIKACIN 50MG/VIAL	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	72.00	8,640.00
AMINOPHYLLINE 25MG AMPULES	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	310.00	37,200.00
AMLODIPINE 10MG TAB X 100	bss	0	0	104	0	0	0	0	0	0	0	0	0	0	104	1,000.00	104,000.00
AMLODIPINE 5MG TAB X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	750.00	90,000.00
AMLODIPINE BESILATE x 100	bss	0	0	0	0	0	0	0	0	0	0	0	0	0	0	960.00	0.00
AMOXICILLIN 100 ml	vials	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00
AMOXICILLIN 125 MG SYRUP	botls	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	85.00	146,880.00
AMOXICILLIN 250 MG SUSPENSION	BOTLS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	90.00	32,400.00
AMOXICILLIN 250 MG SYRUP	botls	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	97.00	167,616.00
AMOXICILLIN 250 MG TAB X 100	bss	0	0	168	0	0	0	0	0	0	0	0	0	0	168	600.00	100,800.00
AMOXICILLIN 500 MG TAB X 100	bss	0	0	168	0	0	0	0	0	0	0	0	0	0	168	650.00	109,200.00
AMOXICILLIN DROPS 100 MG	botls	0	0	864	0	0	0	0	0	0	0	0	0	0	864	90.00	77,760.00
AMPICILLIN + SULBACTAM 1.5G VIAL	vials	0	0	240	0	0	0	0	0	0	0	0	0	0	240	1,950.00	468,000.00
AMPICILLIN 1 G/VIAL	vials	0	0	400	0	0	0	0	0	0	0	0	0	0	400	100.00	40,000.00
AMPICILLIN 1000MG+SULBACTAM 500MG	vials	0	0	240	0	0	0	0	0	0	0	0	0	0	240	850.00	204,000.00
AMPICILLIN 250MG/VIAL	vials	0	0	240	0	0	0	0	0	0	0	0	0	0	240	100.00	24,000.00
AMPICILLIN 500MG + SULBACTAM 250MG	vials	0	0	1000	0	0	0	0	0	0	0	0	0	0	1000	200.00	200,000.00
AMPICILLIN 500MG + SULBACTAM 750MG	vials	0	0	1000	0	0	0	0	0	0	0	0	0	0	1000	200.00	200,000.00
AMPICILLIN 500MG/VIAL	vials	0	0	240	0	0	0	0	0	0	0	0	0	0	240	100.00	24,000.00
ANALGESIC GEL	tube	0	0	120	0	0	0	0	0	0	0	0	0	0	120	180.00	21,600.00
ANALGIN, ANTI-BIOTIC, 100ml	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	285.00	34,200.00
ANTACID TAB X 100	bss	0	0	60	0	0	0	0	0	0	0	0	0	0	60	290.00	17,400.00
ANTI-RABIES (DEFENSOR OR EQUIVALENT), 10CC.	vials	0	0	2400	0	0	0	0	0	0	0	0	0	0	2400	310.00	744,000.00
ANTI-RABIES (VERORAB OR EQUIVALENT)	vials	0	0	2000	0	0	0	0	0	0	0	0	0	0	2000	2,810.00	5,620,000.00
APRESOLINE 25 mg tab x 100	bss	0	0	0	0	0	0	0	0	0	0	0	0	0	0	45.00	0.00
ASCORBIC ACID 500 MG TAB X 100	bss	0	0	168	0	0	0	0	0	0	0	0	0	0	168	320.00	53,760.00
ASCORBIC ACID SYRUP 120ml	bot	0	0	0	0	0	0	0	0	0	0	0	0	0	0	90.00	0.00
ASCORBIC ACID SYRUP 60ml	bot	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	85.00	146,880.00
ASCORBIC SYRUP WITH ZINC	botls	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	70.00	120,960.00
ASPIRIN 30MG TABLET X 100'S	boxes	0	0	120	0	0	0	0	0	0	0	0	0	0	120	3,000.00	360,000.00
ASPIRIN 60mg x 100	bss	0	0	60	0	0	0	0	0	0	0	0	0	0	60	528.00	31,680.00
ASPIRIN EC 100MG/TAB OR EQUIVALENT X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	600.00	72,000.00
ATENOLOL 100MG TABLET X 100'S	boxes	0	0	120	0	0	0	0	0	0	0	0	0	0	120	1,600.00	192,000.00
ATENOLOL 50MG X 100	bss	0	0	60	0	0	0	0	0	0	0	0	0	0	60	500.00	30,000.00
ATROPINE SULFATE	ampules	0	0	60	0	0	0	0	0	0	0	0	0	0	60	1,335.00	80,100.00
AZITHROMYCIN 500MG/TAB	tab.	0	0	180	0	0	0	0	0	0	0	0	0	0	180	160.00	28,800.00
BACILLUS (ERCEFLORA VIAL)	amp	0	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	0.00

BENZYL PENICILIN 1M VIAL	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	37.00	4,440.00
BENZYL PENICILIN 5mg	vials	0	0	120	0	0	0	0	0	0	0	0	0	0	120	90.00	10,800.00
BETAHISTINE 16MG/TAB X 100	bss	0	0	102	0	0	0	0	0	0	0	0	0	0	102	6,000.00	612,000.00
BETAMETHASONE	pcs	0	0	180	0	0	0	0	0	0	0	0	0	0	180	280.00	46,800.00
BETAMETHASONE CREAM	tab	0	0	600	0	0	0	0	0	0	0	0	0	0	600	90.00	54,000.00
BISACODYL 10MG	both	0	0	180	0	0	0	0	0	0	0	0	0	0	180	60.00	10,800.00
BISACODYL 5MG/TAB X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	500.00	60,000.00
BUDESONIDE 250MCG/ML	RESPILE	0	0	60	0	0	0	0	0	0	0	0	0	0	60	75.00	4,500.00
BUPIVACAINE 0.5% HEAVY (SENSORCAINE OR EQUIVALENT)	amp	0	0	60	0	0	0	0	0	0	0	0	0	0	60	1,335.00	80,100.00
BU RN OINTMENT	tube	0	0	123	0	0	0	0	0	0	0	0	0	0	123	100.00	12,300.00
CALCIBLOC 5MG	PTCES	0	0	240	0	0	0	0	0	0	0	0	0	0	240	35.00	8,400.00
CAPTOPRIL 25MG TAB X 100	bss	0	0	36	0	0	0	0	0	0	0	0	0	0	36	420.00	15,120.00
CAPTOPRIL 50MG TAB X 100	bss	0	0	180	0	0	0	0	0	0	0	0	0	0	180	1,000.00	180,000.00
CARBOCISTEINE 500MG TAB X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	300.00	36,000.00
CARBOCISTEINE DROPS		0	0	60	0	0	0	0	0	0	0	0	0	0	60	75.00	4,500.00
CARBOCISTEINE SYRUP	both	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	50.00	86,400.00
CATAPRES (CLONIDINE) 150MG X 100	bss	0	0	120	0	0	0	0	0	0	0	0	0	0	120	1,800.00	216,000.00
CEFALEXIN 100 MG DROPS	both	0	0	1200	0	0	0	0	0	0	0	0	0	0	1200	58.00	69,600.00
CEFALEXIN 250MG SYRUP (SUSPENSION)	both	0	0	1800	0	0	0	0	0	0	0	0	0	0	1800	76.00	136,800.00
CEFALEXIN 500MG CAP X 100	bss	0	0	264	0	0	0	0	0	0	0	0	0	0	264	500.00	132,000.00
CEFALEXIN SUSPENSION, 60 ml, 250mg	both	0	0	360	0	0	0	0	0	0	0	0	0	0	360	117.00	42,120.00
CEFAZOLIN Na 1G/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	150.00	54,000.00
CEFAZOLIN Na 500MG/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	150.00	54,000.00
CEFEPIME 500MG/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	2,000.00	720,000.00
CEFIXIME 200MG	pcs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	75.00	27,000.00
CEFOTAXIME 1G/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	250.00	90,000.00
CEFOTAXIME 500MG/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	200.00	72,000.00
CEFTAZIDIME 1G/VIAL	vials	0	0	168	0	0	0	0	0	0	0	0	0	0	168	250.00	42,000.00
CEFTRIAOXONE 1G/VIAL	vials	0	0	600	0	0	0	0	0	0	0	0	0	0	600	250.00	150,000.00
CEFUROXIME 750MG/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	150.00	54,000.00
CELECOXIB 200MG/CAP X 100	bss	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,778.00	640,080.00
CETRIZINE 10MG/TAB X 100	bss	0	0	360	0	0	0	0	0	0	0	0	0	0	360	700.00	252,000.00
CHLORPHENICOL TAB 500MG X 100	bsses	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,300.00	468,000.00
CHLORAMPHENICOL 1G/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	100.00	36,000.00
CHLORAMPHENICOL 250MG CAPSULES X 100'S	capsules	0	0	360	0	0	0	0	0	0	0	0	0	0	360	10.00	3,600.00
CHLORAMPHENICOL 500MG CAPSULE X 100'S	bsses	0	0	276	0	0	0	0	0	0	0	0	0	0	276	3,800.00	993,600.00
CHLORAMPHENICOL 500MG/VIAL	vials	0	0	328	0	0	0	0	0	0	0	0	0	0	328	50.00	16,400.00
CHLORAMPHENICOL EYE DROPS	bot	0	0	360	0	0	0	0	0	0	0	0	0	0	360	50.00	18,000.00
CHLORPHENAMINE 4MG TAB X 100	bss	0	0	360	0	0	0	0	0	0	0	0	0	0	360	250.00	90,000.00
CHLORPHENAMINE SYRUP	both	0	0	360	0	0	0	0	0	0	0	0	0	0	360	40.00	14,400.00
CIMETIDINE 200 MG X 100	bss	0	0	360	0	0	0	0	0	0	0	0	0	0	360	800.00	216,000.00
CIPROFLOXACIN 200 MG/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	400.00	144,000.00
CIPROFLOXACIN 500 MG CAP X 100	bss	0	0	360	0	0	0	0	0	0	0	0	0	0	360	930.00	334,800.00
CITICOLINE ORAL DROPS	DROPS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	450.00	162,000.00
CITICOLINE 1G VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	460.00	165,600.00
CITICOLINE 250MG/ML	AMP	0	0	360	0	0	0	0	0	0	0	0	0	0	360	450.00	162,000.00
CITICOLINE 500MG VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	360.00	129,600.00
CLARITHROMYCIN SUSPENSION	btis	0	0	360	0	0	0	0	0	0	0	0	0	0	360	710.00	255,600.00
CLINDAMYCIN 300MG/CAP X 100	bss	0	0	360	0	0	0	0	0	0	0	0	0	0	360	787.00	283,320.00

CLONIDINE 150MG X 100, CATAPRES OR EQUIVALENT	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,800.00	648,000.00
CLONIDINE 75MG X 100	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	5,400.00	1,944,000.00
CLONIDINE AMPULE	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,800.00	648,000.00
CLOPIDOGREL 75MG/TAB X 100	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	3,010.00	1,083,600.00
CLOTTRIMAZOLE CREAM	tubes	0	0	360	0	0	0	0	0	0	0	0	0	0	360	80.00	28,800.00
CLOTTRIMAZOLE VAGINAL SUPPOSITORY	boxes	0	0	360	0	0	0	0	0	0	0	0	0	0	360	107.00	38,520.00
CLOXACILLIN 125MG	bottls	0	0	360	0	0	0	0	0	0	0	0	0	0	360	85.00	30,600.00
CLOXACILLIN 250 MG SYRUP	bottls	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	85.00	146,880.00
CLOXACILLIN 500 MG, CAPSULE X 100	bxs	0	0	180	0	0	0	0	0	0	0	0	0	0	180	1,010.00	181,800.00
CLOXACILLIN 500MG	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	50.00	18,000.00
COAMOXICLAC 1.2G VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	450.00	162,000.00
COAMOXICLAV 125MG	btl	0	0	1200	0	0	0	0	0	0	0	0	0	0	1200	410.00	492,000.00
COAMOXICLAV 250MG SUSPENSION	btl	0	0	240	0	0	0	0	0	0	0	0	0	0	240	505.00	121,200.00
COAMOXICLAV 625MG X 100	bxs	0	0	240	0	0	0	0	0	0	0	0	0	0	240	760.00	182,400.00
COTRIMOXAZOLE 200MG SUSP.	bottls	0	0	600	0	0	0	0	0	0	0	0	0	0	600	34.00	20,400.00
COTRIMOXAZOLE 40MG SUSP. 60ML	bottls	0	0	360	0	0	0	0	0	0	0	0	0	0	360	190.50	36,180.00
COTRIMOXAZOLE 800MG TAB X 100	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	660.00	237,600.00
COTRIMOXAZOLE 400MG CAP.	BOX	0	0	360	0	0	0	0	0	0	0	0	0	0	360	500.00	180,000.00
COVERSYL 4mg tab x 30	BOX	0	0	360	0	0	0	0	0	0	0	0	0	0	360	900.00	324,000.00
D 50 50ML	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	190.00	36,000.00
D5 0.3 NaCl 1 L	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	120.00	43,200.00
D5 0.3 NaCl 500ML	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	110.00	39,600.00
D5 NSS 1L	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	120.00	43,200.00
D5 NSS 500 ML	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	110.00	39,600.00
D5 WATER 1L	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	120.00	43,200.00
D5 WATER 250ML	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	200.00	72,000.00
D5 WATER 500ML	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	110.00	39,600.00
DSL R 1 L	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	120.00	43,200.00
DSNM 500ML	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	110.00	39,600.00
DSNM 1 L	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	120.00	43,200.00
DEXAMETHASONE 25MG AMP		0	0	360	0	0	0	0	0	0	0	0	0	0	360	400.00	144,000.00
DEXAMETHASONE 4MG/VIAL	vials	0	0	360	0	0	0	0	0	0	0	0	0	0	360	110.00	39,600.00
DEXTRAN 500ML	PBCECS	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,000.00	360,000.00
DEXTRAN 52ML	pieces	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,000.00	360,000.00
DEXTROMETHORPHAN 15MG TABLET	boxes	0	0	360	0	0	0	0	0	0	0	0	0	0	360	600.00	216,000.00
DEXTROMETORPHAN SYRUP	btl	0	0	360	0	0	0	0	0	0	0	0	0	0	360	120.00	43,200.00
DIAMICRON 5MG TAB OR EQUIVALENT X 100	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,800.00	576,000.00
DIAMICRON 80MG TAB	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	1,800.00	576,000.00
DIAZEPAM AMP	amp	0	0	360	0	0	0	0	0	0	0	0	0	0	360	190.00	68,400.00
DICLOFENAC 100MG	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	300.00	108,000.00
DICLOFENAC 100MG TABLET X 100'S	boxes	0	0	360	0	0	0	0	0	0	0	0	0	0	360	800.00	288,000.00
DICLOFENAC 80MG	bxs	0	0	360	0	0	0	0	0	0	0	0	0	0	360	250.00	90,000.00
DICLOFENAC AMPULES	ampules	0	0	360	0	0	0	0	0	0	0	0	0	0	360	60.00	21,600.00
DICLOFENAC SODIUM 50MG X 100	bxs	0	0	60	0	0	0	0	0	0	0	0	0	0	60	190.00	11,400.00
DICYCLOVERINE 10 MG X 100	bxs	0	0	180	0	0	0	0	0	0	0	0	0	0	180	250.00	45,000.00
DIGOXIN 0.25MG/TAB X 100	bxs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
DIPHENHYDRAMINE 50 MG TAB X 100	bxs	0	0	60	0	0	0	0	0	0	0	0	0	0	60	450.00	27,000.00
DIPHENHYDRAMINE 50MG/2ML	ampules	0	0	120	0	0	0	0	0	0	0	0	0	0	120	300.00	36,000.00
DIPHENHYDRAMINE SYRUP 12.5MG X 60ML	btl	0	0	1728	0	0	0	0	0	0	0	0	0	0	1728	45.00	77,760.00
DOMPERIDONE 10MG/TAB	BOXES	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00

DOXYCYCLINE AYACILATE 100MG CAPSULE	boxes	0	0	120	0	0	0	0	0	0	0	0	0	120	3,300.00	636,000.00
DOXYCYCLINE	BOXES	0	0	120	0	0	0	0	0	0	0	0	0	120	1,000.00	120,000.00
DOXYMILLINE (ANSERMA OR EQUIVALENT) X 50	BOXES	0	0	120	0	0	0	0	0	0	0	0	0	120	3,300.00	396,000.00
ENALAPRIL MALEATE 10MG TABLET X 100'S	boxes	0	0	120	0	0	0	0	0	0	0	0	0	120	5,400.00	648,000.00
ENALAPRIL MALEATE 5MG TABLET X 100'S	boxes	0	0	120	0	0	0	0	0	0	0	0	0	120	1,800.00	216,000.00
EPINEPHRINE AMPULES 1MG/ML AMP	amp	0	0	500	0	0	0	0	0	0	0	0	0	500	120.00	60,000.00
ERCEPTA VIAL	vials	0	0	120	0	0	0	0	0	0	0	0	0	120	60.00	7,200.00
ERDOSTINE 300MG CAP X 100	bx	0	0	120	0	0	0	0	0	0	0	0	0	120	3,600.00	432,000.00
ERYTHROMYCIN 0.5% OPHTHALIC OINTMENT 3.5G	pcs	0	0	114	0	0	0	0	0	0	0	0	0	114	400.00	45,600.00
ERYTHROMYCIN 100MG DROPS	bot	0	0	120	0	0	0	0	0	0	0	0	0	120	50.00	6,000.00
ERYTHROMYCIN 500 MG TAB X 100	bx	0	0	36	0	0	0	0	0	0	0	0	0	36	1,000.00	36,000.00
ETEROCOXIB 120MG/ TAB X 100	bx	0	0	120	0	0	0	0	0	0	0	0	0	120	14,000.00	1,680,000.00
ETHAMBUTOL 400 mg x 100	bx	0	0	120	0	0	0	0	0	0	0	0	0	120	1,200.00	154,800.00
EYE OINTMENT, Terramycin or equivalent	tube	0	0	24	0	0	0	0	0	0	0	0	0	24	570.00	13,680.00
FAMOTIDINE 30MG/TAB X 100	bx	0	0	120	0	0	0	0	0	0	0	0	0	120	3,600.00	432,000.00
FAMOTIDINE 40 AMP	amp	0	0	120	0	0	0	0	0	0	0	0	0	120	522.00	62,640.00
FELODIPINE 5MG X 100	bx	0	0	60	0	0	0	0	0	0	0	0	0	60	2,088.00	125,940.00
FERROUS SULFATE 325MG TAB X 100	bx	0	0	60	0	0	0	0	0	0	0	0	0	60	125.00	7,500.00
FERROUS SULFATE WITH FOLIC ACID X 100	bx	0	0	31	0	0	0	0	0	0	0	0	0	31	100.00	3,100.00
FERROUS SYRUP, ANTI-ANEMIC, 60 ML	bottl	0	0	60	0	0	0	0	0	0	0	0	0	60	60.00	3,600.00
FESOL + FOLIC ACID CAP X 100	bx	0	0	60	0	0	0	0	0	0	0	0	0	60	350.00	21,000.00
FUROSEMIDE 20MG/AMP	amp	0	0	60	0	0	0	0	0	0	0	0	0	60	21.00	1,260.00
FUROSEMIDE TAB 40 TAB X 100	bx	0	0	24	0	0	0	0	0	0	0	0	0	24	144.00	3,456.00
GABAPENTIN 100MG CAPSULES	boxes	0	0	53	0	0	0	0	0	0	0	0	0	53	3,300.00	174,900.00
GENTAMYCIN 40MG/ML AMP	amp	0	0	60	0	0	0	0	0	0	0	0	0	60	30.00	1,800.00
GENTAMYCIN EYE DROPS	BOTTL	0	0	60	0	0	0	0	0	0	0	0	0	60	296.00	17,700.00
GLIBENCLAMIDE 2.5MG TABLET X 100'S	tablet	0	0	60	0	0	0	0	0	0	0	0	0	60	10.00	600.00
GLIBENCLAMIDE 5MG X 100	bx	0	0	60	0	0	0	0	0	0	0	0	0	60	1,000.00	60,000.00
GLICLAZIDE 30 MG (DIAMICRON OR EQUIVALENT) X 100	bx	0	0	55	0	0	0	0	0	0	0	0	0	55	1,600.00	88,000.00
GLICLAZIDE 5 MG X 100	BOXES	0	0	60	0	0	0	0	0	0	0	0	0	60	600.00	36,000.00
GLICLAZIDE 80 MG X 100	bx	0	0	9	0	0	0	0	0	0	0	0	0	9	1,500.00	0.00
GLIMEPERIDE 1MG X 100	BOXES	0	0	60	0	0	0	0	0	0	0	0	0	60	1,250.00	75,000.00
GLIMEPERIDE 2MG X 100	bx	0	0	60	0	0	0	0	0	0	0	0	0	60	1,250.00	75,000.00
GLIATENESIN SALBUTAMOL 100 MG TABLET X 100	bx	0	0	60	0	0	0	0	0	0	0	0	0	60	618.00	37,080.00
GINIB 10MG/TAB X 100	BOXES	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
HUMAN INSULIN	vials	0	0	0	0	0	0	0	0	0	0	0	0	0	1,400.00	0.00
HYDRALAZINE 25MG/ML	ampules	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	0.00
HYDROCHLORTHALAZIDE 25 MG	bx	0	0	0	0	0	0	0	0	0	0	0	0	0	1,080.00	0.00
HYDROCORTISONE 100MG/VIAL	vials	0	0	0	0	0	0	0	0	0	0	0	0	0	130.00	0.00
HYOSCINE AMPULE	ampules	0	0	0	0	0	0	0	0	0	0	0	0	0	100.00	0.00
HYOSCINE BUTYLBROMIDE 10 MG X 100	bx	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
HYOSCINE BUTYLBROMIDE 1ML	amp	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	0.00
HYOSCINE TABS X100	BOXES	0	0	60	0	0	0	0	0	0	0	0	0	60	600.00	36,000.00
HYDRALAZINE 25MG/ML	AMP	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
IBUPROFEN 200MG X 100	bx	0	0	60	0	0	0	0	0	0	0	0	0	60	650.00	39,000.00
INSULIN 70/30	vials	0	0	120	0	0	0	0	0	0	0	0	0	120	1,500.00	180,000.00
INSULIN R	vials	0	0	120	0	0	0	0	0	0	0	0	0	120	1,510.00	181,200.00
IPRATROPIUM + SALBUTAMOL NSR, COMBIVENT OR EQUIVALENT	NEBULES	0	0	60	0	0	0	0	0	0	0	0	0	60	42.00	2,520.00
IPRATROPIUM + SALBUTAMOL NEBULES, COMBIVENT OR EQUIV	nebules	0	0	60	0	0	0	0	0	0	0	0	0	60	45.00	2,700.00
ISODRIL SUBLINGUAL X 100's	bottl	0	0	60	0	0	0	0	0	0	0	0	0	60	2,000.00	120,000.00

NICARDIPINE 10MG	amp	0	0	175	0	0	0	0	0	0	0	0	0	175	2,000.00	350,000.00
NICARDIPINE 2MG/2ML	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	1,800.00	36,000.00
NIFEDIPINE 10MG X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	1,348.50	26,970.00
NIFEDIPINE 50MG X 100	bxs	0	0	10	0	0	0	0	0	0	0	0	0	10	3,400.00	34,000.00
NIFEDIPINE 5MG X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	600.00	12,000.00
NORVASC TAB 10 mg	bxs	0	0	60	0	0	0	0	0	0	0	0	0	60	3,650.00	219,000.00
OFLOXACIN 400 MG, X 100	bxs	0	0	45	0	0	0	0	0	0	0	0	0	45	4,100.00	184,500.00
OMEPRAZOLE 20 MG X 100	bxs	0	0	180	0	0	0	0	0	0	0	0	0	180	1,010.00	181,800.00
OMEPRAZOLE 40 MG X 100	BOXES	0	0	16	0	0	0	0	0	0	0	0	0	16	5,000.00	80,000.00
OMEPRAZOLE 40 MG/VIAL	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	585.00	11,700.00
ORISOL X 25 SACHET (ORS SACHET)	bxs	0	0	60	0	0	0	0	0	0	0	0	0	60	600.00	36,000.00
OXACILLIN 1G VIAL	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	310.00	6,200.00
OXACILLIN Na 500 MG/VIAL	vials	0	0	200	0	0	0	0	0	0	0	0	0	200	200.00	40,000.00
OXYTOCIN AMP	amp	0	0	200	0	0	0	0	0	0	0	0	0	200	48.00	9,600.00
PARACETAMOL 125 MG SYRUP	bots	0	0	1512	0	0	0	0	0	0	0	0	0	1512	40.00	60,480.00
PARACETAMOL 150MG/AMP	amp	0	0	0	0	0	0	0	0	0	0	0	0	0	51.00	0.00
PARACETAMOL 250 MG SYRUP 60ML	bots	0	0	1728	0	0	0	0	0	0	0	0	0	1728	36.00	60,480.00
PARACETAMOL 500 MG TAB X 100	bxs	0	0	113	0	0	0	0	0	0	0	0	0	113	100.00	11,300.00
PARACETAMOL DROPS 100 MG, X 100	bxs	0	0	1728	0	0	0	0	0	0	0	0	0	1728	30.00	51,840.00
PENSTREP, ANTIIBIOTIC, 100 ml	bcls	0	0	0	0	0	0	0	0	0	0	0	0	0	320.00	0.00
PHENOBARBITAL 60 MG/TAB	tab	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	0.00
PHENYLEPHRINE HCl + Chlorphenamine Maleate + Paracetamol x 100	bxs	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
PHENYLPROPANILAMINE DROPS	bcls	0	0	1200	0	0	0	0	0	0	0	0	0	1200	35.00	42,000.00
PHENYLPROPANOLAMINE 12.5 SYRUP	bots	0	0	1728	0	0	0	0	0	0	0	0	0	1728	40.00	69,120.00
PHENYTOIN 50MG/ML	amp	0	0	20	0	0	0	0	0	0	0	0	0	20	1,500.00	30,000.00
PHYTOMENADIONE 10MG AMPULE	bot	0	0	20	0	0	0	0	0	0	0	0	0	20	450.00	9,000.00
PIOGLITAZONE 30MG TABLET	boxes	0	0	20	0	0	0	0	0	0	0	0	0	20	1,500.00	30,000.00
PIROXIM 20MG CAPSULE	boxes	0	0	20	0	0	0	0	0	0	0	0	0	20	1,500.00	30,000.00
PLR II.	bcls	0	0	20	0	0	0	0	0	0	0	0	0	20	120.00	2,400.00
PNSS II.	bcls	0	0	20	0	0	0	0	0	0	0	0	0	20	110.00	2,200.00
PNSS 500ML	bcls	0	0	20	0	0	0	0	0	0	0	0	0	20	110.00	2,200.00
POLYMYXIN+NAPHAZOLINE 0.3%/0.25 EYE DROPS	bcls	0	0	20	0	0	0	0	0	0	0	0	0	20	50.00	1,000.00
POT ASSUM CHLORIDE 20ML VIAL	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	105.00	2,100.00
PREDNISONE 10MG X 100	BOXES	0	0	20	0	0	0	0	0	0	0	0	0	20	1,000.00	20,000.00
PREDNISONE 5MG X 100	BOXES	0	0	20	0	0	0	0	0	0	0	0	0	20	400.00	8,000.00
PROMETHAZINE 50MG/2ML	AMP	0	0	20	0	0	0	0	0	0	0	0	0	20	80.00	1,600.00
PROPANOLOL 40 MG, X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	350.00	7,000.00
PROPOFOL 10MG	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	600.00	12,000.00
PYRAZAMIDE	boxes	0	0	20	0	0	0	0	0	0	0	0	0	20	6.65	133.00
RABIPUR	vials	0	0	919	0	0	0	0	0	0	0	0	0	919	1,250.00	1,148,750.00
RANITIDINE 25MG/AMP	amp	0	0	200	0	0	0	0	0	0	0	0	0	200	50.00	10,000.00
RIFAMPICIN 450MG CAPSULES X 100'S	boxes	0	0	20	0	0	0	0	0	0	0	0	0	20	1,400.00	28,000.00
RIFAMPICIN SUSPENSION 120 ml.	bottles	0	0	20	0	0	0	0	0	0	0	0	0	20	351.00	7,020.00
RIFAMPICIN TABLET	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	20.00	400.00
ROBUVASTATIN 10MG TABLET X 30'S	boxes	0	0	20	0	0	0	0	0	0	0	0	0	20	19,000.00	380,000.00
ROWATINEX CAP X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	5,400.00	108,000.00
SALBUTAMOL (ROTACAP OR EQUIVALENT) X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	800.00	16,000.00
SALBUTAMOL 2MG SYRUP	bcls	0	0	20	0	0	0	0	0	0	0	0	0	20	30.00	600.00
SALBUTAMOL 2MG TAB X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	100.00	2,000.00

SALBUTAMOL 2MG/2ML	NEBULES	0	0	15	0	0	0	0	0	0	0	0	0	0	15	9.00	135.00
SALBUTAMOL 4MG TAB X 100	bxs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	87.00	0.00
SALBUTAMOL GULATENESIN Capsules	bxs	0	0	120	0	0	0	0	0	0	0	0	0	120	720.00	86,400.00	
SALBUTAMOL GULATENESIN SYRUP	bcls	0	0	360	0	0	0	0	0	0	0	0	0	360	36.00	12,600.00	
SALBUTAMOL INHALER X 10	bxs	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00	
SALBUTAMOL NEBULES X 10'S (NEBULES)	pack	0	0	205	0	0	0	0	0	0	0	0	0	205	250.00	51,250.00	
SALBUTAMOL SYRUP	bcls	0	0	1728	0	0	0	0	0	0	0	0	0	1728	30.00	51,840.00	
SAMBONG 250 MG TAB X 100	bxs	0	0	60	0	0	0	0	0	0	0	0	0	60	1,000.00	60,000.00	
SEVOFLURANE GAS 100ML	bcls	0	0	20	0	0	0	0	0	0	0	0	0	20	19,000.00	380,000.00	
SILVER SULFADIAZINE 1% CREAM, 25G	TUBe	0	0	20	0	0	0	0	0	0	0	0	0	20	260.00	5,200.00	
SIMVASTIN 20MG/TAB X 100	bxs	0	0	60	0	0	0	0	0	0	0	0	0	60	1,260.00	75,600.00	
SIMVASTIN 40MG/TAB X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	2,500.00	50,000.00	
SPIRONOLACTONE 50MG/TAB X 100	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	3,000.00	60,000.00	
SPORANOX TABLET	boxes	0	0	20	0	0	0	0	0	0	0	0	0	20	210.00	4,200.00	
STREPTOMYCIN	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	55.00	1,100.00	
SUCCINYLCHOLINE 200 U	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	500.00	10,000.00	
TAZOBRACAM 250MG + Piperacillin 2g/vial	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	700.00	14,000.00	
TERBUTALINE 2.5 TABLET X 100'S	capsules	0	0	20	0	0	0	0	0	0	0	0	0	20	10.00	200.00	
TERBUTALINE AMP	amp	0	0	20	0	0	0	0	0	0	0	0	0	20	310.00	6,200.00	
TRAMADOL HCl 50/ML	amp	0	0	20	0	0	0	0	0	0	0	0	0	20	50.00	1,000.00	
TRANEXAMIC ACID 500 MG	bxs	0	0	20	0	0	0	0	0	0	0	0	0	20	3,188.00	63,760.00	
TRANEXAMIC ACID 500MG/ML	amp	0	0	20	0	0	0	0	0	0	0	0	0	20	750.00	15,000.00	
TRIMETAZIDINE 35mg x 100	boxes	0	0	20	0	0	0	0	0	0	0	0	0	20	1,350.00	27,000.00	
VANCOMICIN	vials	0	0	20	0	0	0	0	0	0	0	0	0	20	800.00	16,000.00	
VITAMIN A 100,000 IU, SOFT GEL CAPSULE	cap	0	0	20	0	0	0	0	0	0	0	0	0	20	9.00	180.00	
VITAMIN A 200,000 IU, SOFT GEL CAPSULE	cap	0	0	20	0	0	0	0	0	0	0	0	0	20	9.00	180.00	
VITAMIN B1 B6 B12	bxs	0	0	240	0	0	0	0	0	0	0	0	0	240	525.00	126,000.00	
VITAMIN K AMP	amp	0	0	20	0	0	0	0	0	0	0	0	0	20	122.00	2,440.00	
ZINC OXIDE CREAM, SMALL	tube	0	0	20	0	0	0	0	0	0	0	0	0	20	80.00	1,600.00	
ZINC SULFATE TAB	tab	0	0	20	0	0	0	0	0	0	0	0	0	20	10.00	200.00	
Medical Supplies																	
18, 22, 24 cc Terruno or equivalent	bxs	0	0	72	0	0	48	0	0	0	0	0	0	120	600.00	72,000.00	
3CC TERRUNO or equivalent	bxs	0	0	92	0	0	48	0	0	0	0	0	0	140	810.00	85,400.00	
5CC TERRUNO or equivalent	bxs	0	0	100	0	0	40	0	0	0	0	0	0	140	810.00	85,400.00	
5% GLUTARALDEHYDE (Cidex or equivalent)	gallon	0	0	74	0	0	9	0	0	0	0	0	0	83	2,300.00	190,900.00	
ABNORMAL CONTROL	bot	0	0	38	0	0	24	0	0	0	0	0	0	80	1,415.00	84,900.00	
ABOCATH, adult and pedia	boxes	0	0	38	0	0	24	0	0	0	0	0	0	80	96.00	5,760.00	
ACIETE DE MANSANLA	bot	0	0	211	0	0	144	0	0	0	0	0	0	355	100.00	35,500.00	
ADULT TOOTHBRUSH W LOGO	piece	0	0	1030	0	0	2284	0	0	0	0	0	0	3314	15.00	49,710.00	
AFB STAINING KITS, medics or equivalent	boxes	0	0	69	0	0	44	0	0	0	0	0	0	110	6,300.00	693,000.00	
ALCOHOL 70%	gallon	0	0	640	0	0	460	0	0	0	0	0	0	1120	1,000.00	1,120,000.00	
ALLIGATOR FORCEPS 10"	unit	0	0	38	0	0	24	0	0	0	0	0	0	60	2,700.00	162,000.00	
AMBUBAG (ADULT)	unit	0	0	324	0	0	216	0	0	0	0	0	0	540	3,000.00	1,620,000.00	
AMBUBAG (PEDA)	unit	0	0	324	0	0	216	0	0	0	0	0	0	540	3,000.00	1,620,000.00	
AMMETER	pcs	0	0	38	0	0	24	0	0	0	0	0	0	60	820.00	37,200.00	
AMPULE BREAKER	sets	0	0	38	0	0	24	0	0	0	0	0	0	60	3,800.00	216,000.00	
ANTI-SCABES LOTION	bot	0	0	216	0	0	144	0	0	0	0	0	0	360	460.00	165,600.00	
APPLICATOR STICK	box	0	0	72	0	0	48	0	0	0	0	0	0	120	147.82	17,738.40	
AQUA GEL, 150mg	tubes	0	0	216	0	0	144	0	0	0	0	0	0	360	495.00	178,200.00	
ARM SLING (Sizes: S, M & L)	unit	0	0	216	0	0	144	0	0	0	0	0	0	360	75.00	27,000.00	

ASEPTO SYRINGE	pcs	0	0	216	0	0	144	0	0	0	0	0	0	380	80.00	28,800.00
BABY OIL (BIG)	bot	0	0	720	0	0	480	0	0	0	0	0	0	1200	105.00	126,000.00
BABY POWDER, 25g	bot	0	0	172	0	0	116	0	0	0	0	0	0	286	15.00	4,320.00
BAROMETER (ANEROID)	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	1,320.00	79,200.00
BATHROOM WEIGHING SCALE	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	450.00	27,000.00
BC 3000 HEMATOLOGY CONTROL	sets	0	0	36	0	0	24	0	0	0	0	0	0	60	450,000.00	27,000,000.00
BEAKER 100ML	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	80.00	5,400.00
BEAKER 150ML	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	110.00	6,600.00
BEAKER 200ML	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	130.00	7,800.00
BEAKER 500ML	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	240.00	14,400.00
BEAKER 50ML	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	80.00	5,400.00
BED PAN	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	1,000.00	120,000.00
BED SHEET, white	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	200.00	24,000.00
BED SIDE TABLE	pieces	0	0	7	0	0	5	0	0	0	0	0	0	12	8,000.00	96,000.00
BETADINE VAGINAL SUPPOSITORY	boxes	0	0	216	0	0	144	0	0	0	0	0	0	360	91.00	32,760.00
BETADINE VAGINAL WASH	boxes	0	0	216	0	0	144	0	0	0	0	0	0	360	175.00	64,080.00
BLADE 10	piece	0	0	360	0	0	240	0	0	0	0	0	0	600	15.00	9,000.00
BLADE 20	piece	0	0	360	0	0	240	0	0	0	0	0	0	600	15.00	9,000.00
BLADE HOLDER	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	150.00	18,000.00
BLOOD TRANSFUSION SET	set	0	0	72	0	0	48	0	0	0	0	0	0	120	200.00	24,000.00
BP APPARATUS ANEROID	unit	0	0	72	0	0	48	0	0	0	0	0	0	120	2,500.00	300,000.00
BP APPARATUS ANEROID WITH STAND	unit	0	0	36	0	0	24	0	0	0	0	0	0	60	7,280.00	437,280.00
BP CUFF (ADULT)	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	2,000.00	120,000.00
BP CUFF (PEDI)	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	2,000.00	120,000.00
BUJA 200ML	bot	0	0	36	0	0	24	0	0	0	0	0	0	60	8,725.00	523,500.00
BULB SYRINGE	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	25.00	1,500.00
BLN	bot	0	0	36	0	0	24	0	0	0	0	0	0	60	9,225.00	553,500.00
BUTTERFLY NEEDLE G23	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	90.00	10,800.00
CALAMINE LOTION 30ML	bots	0	0	72	0	0	48	0	0	0	0	0	0	120	90.00	10,800.00
CALIBRATOR	boxes	0	0	14	0	0	10	0	0	0	0	0	0	24	9,020.00	216,480.00
CALORIMETER	pcs	0	0	14	0	0	10	0	0	0	0	0	0	24	440.00	10,560.00
CERVICAL COLLAR (Adult & Pedia)	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	1,690.00	101,940.00
CERVICAL INSPECTION SET	pieces	0	0	36	0	0	24	0	0	0	0	0	0	60	25,000.00	1,500,000.00
CHOLESTEROL 200 ML	bot	0	0	14	0	0	10	0	0	0	0	0	0	24	9,990.00	239,976.00
CHROMIC 0	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 1.0 ROUND X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 2.0 CUTTING X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 2.0 DOUBLE NEEDLE X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 2.0 ROUND X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 3.0 CUTTING X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 3.0 ROUND X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 4.0 CUTTING X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 4.0 ROUND X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 4.0 TAPER X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CHROMIC 5.0 ROUND X 12s	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	1,083.00	64,980.00
CONDENSER 300MM	pcs	0	0	14	0	0	10	0	0	0	0	0	0	24	620.00	14,880.00
CONTRACEPTIVE PILLS	packs	0	0	72	0	0	48	0	0	0	0	0	0	120	43.00	5,160.00
CORD CLAMP	packs	0	0	72	0	0	48	0	0	0	0	0	0	120	15.00	1,800.00
COTTON BALLS (150 BALLS)	pack	0	0	115	0	0	77	0	0	0	0	0	0	192	625.00	100,800.00
COTTON BALLS (50 BALLS)	pack	0	0	72	0	0	48	0	0	0	0	0	0	120	45.00	5,400.00

COTTON BUYS (100pcs per pack)	pack	0	0	18	0	0	12	0	0	0	0	0	0	30	25.00	750.00
COTTON CANISTER	PIECES	0	0	19	0	0	13	0	0	0	0	0	0	32	2,000.00	64,000.00
COTTON JAR BIG	piece	0	0	25	0	0	17	0	0	0	0	0	0	42	80.00	3,320.00
COTTON JAR STAINLESS SMALL	piece	0	0	21	0	0	15	0	0	0	0	0	0	36	250.00	9,000.00
COTTON ROLLS, 400G PER ROLL	roll	0	0	51	0	0	35	0	0	0	0	0	0	86	265.00	21,930.00
COTTON TP	box	0	0	28	0	0	20	0	0	0	0	0	0	46	150.00	7,200.00
COVER SLIP 22 X 22 (100'S/BOX)	box	0	0	0	0	0	0	0	0	0	0	0	0	0	85.00	0.00
CREATININE	box	0	0	12	0	0	8	0	0	0	0	0	0	20	4,720.00	94,400.00
CSLR 500 M.L.	bot	0	0	12	0	0	8	0	0	0	0	0	0	20	110.00	2,200.00
DELIVERY GOWN	box	0	0	24	0	0	16	0	0	0	0	0	0	40	145.00	5,800.00
DENTAL NEEDLE, SHORT, terrumo or equivalent	box	0	0	24	0	0	16	0	0	0	0	0	0	40	800.00	32,000.00
DEPO PROVERA	vial	0	0	0	0	0	0	0	0	0	0	0	0	0	144.00	0.00
DIGITAL BP MONITOR	unit	0	0	1	0	0	1	0	0	0	0	0	0	2	7,300.00	14,600.00
DIGITAL THERMOMETER	piece	0	0	18	0	0	12	0	0	0	0	0	0	30	200.00	6,000.00
DIGITAL THERMOMETER, mercury free	pieces	0	0	7	0	0	5	0	0	0	0	0	0	12	2,275.00	27,300.00
DISINFECTANT, ZONROX or equivalent	gallon	0	0	43	0	0	29	0	0	0	0	0	0	72	240.00	17,280.00
DISSECTING SET (SET OF 14)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	795.00	0.00
DRAPE, 1 PANEL	PIECES	0	0	0	0	0	0	0	0	0	0	0	0	0	7,500.00	0.00
DRAPE, STANDARD, 3 PANEL	PIECES	0	0	0	0	0	0	0	0	0	0	0	0	0	9,500.00	0.00
DROP LIGHT	unit	0	0	3	0	0	2	0	0	0	0	0	0	5	4,297.50	21,487.50
E.T. TUBE WITHOUT CUFF # 3	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	115.00	2,760.00
E.T. TUBE WITHOUT CUFF # 3.5	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	115.00	2,760.00
E.T. TUBE, F 2.5	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 3.0	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 3.5	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 4.0	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 4.5	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 5.0	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 5.5	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 6.0	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 6.5	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 7.0	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 7.5	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E.T. TUBE, F 8.0	piece	0	0	14	0	0	10	0	0	0	0	0	0	24	114.00	2,736.00
E2 CLEANSER 100ML	Bottle	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00
EAR THERMOMETER	piece	0	0	12	0	0	8	0	0	0	0	0	0	20	3,200.00	64,000.00
ECG CREAM 100 grams/tube	tubes	0	0	14	0	0	10	0	0	0	0	0	0	24	45.00	1,080.00
ECG PAPER	roll	0	0	72	0	0	48	0	0	0	0	0	0	120	100.00	12,000.00
EDTA TUBES 3ML, LAVANDER TOP	boxes	0	0	10	0	0	8	0	0	0	0	0	0	18	550.00	9,900.00
EFFICACENT OIL, 125 ML	bot	0	0	14	0	0	10	0	0	0	0	0	0	24	50.00	1,200.00
ELASTIC BANDAGE 2 x 5	roll	0	0	38	0	0	25	0	0	0	0	0	0	64	50.00	3,200.00
ELASTIC BANDAGE 4 x 5	roll	0	0	38	0	0	25	0	0	0	0	0	0	64	25.00	1,600.00
ELASTIC BANDAGE 6 x 5	roll	0	0	14	0	0	10	0	0	0	0	0	0	24	45.00	1,080.00
ELASTIC BANDAGE 7.5cm x 5m	roll	0	0	14	0	0	10	0	0	0	0	0	0	24	25.00	600.00
ELECTRODE CREAM	pieces	0	0	12	0	0	8	0	0	0	0	0	0	20	150.00	3,000.00
ETHLON 3.0, 4.0	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	673.50	0.00
ETHYL ALCOHOL, 95%	Bottle	0	0	57	0	0	39	0	0	0	0	0	0	96	580.00	55,680.00
EVACUATED BOTTLE, for fluid collection	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	30.00	0.00
EVAPORATING DISH 120 ML	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	225.00	0.00
FACE MASK, DISPOSABLE	box	0	0	144	0	0	96	0	0	0	0	0	0	240	177.00	42,480.00

FACE MASK, N95	box	0	0	72	0	0	48	0	0	0	0	0	0	120	149.00	17,880.00
FACE TOWEL	piece	0	0	110	0	0	74	0	0	0	0	0	0	184	55.00	10,120.00
FIRST AID KIT	pcs	0	0	28	0	0	20	0	0	0	0	0	0	48	750.00	36,000.00
FLORENCE FLASK 250ML	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	150.00	0.00
FLOURIDE, 120 ml	bot	0	0	72	0	0	48	0	0	0	0	0	0	120	480.00	57,600.00
FOLEY CATH, F10	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	35.00	2,100.00
FOLEY CATH, F12	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	25.00	1,500.00
FOLEY CATH, F14	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	25.00	1,500.00
FOLEY CATH, F18	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	70.00	4,200.00
FOLEY CATH, F8	piece	0	0	36	0	0	24	0	0	0	0	0	0	50	60.00	3,000.00
FOOT STOOL	PIECES	0	0	12	0	0	8	0	0	0	0	0	0	20	4,500.00	90,000.00
FOOT STOOL, 2 STEP	piece	0	0	12	0	0	8	0	0	0	0	0	0	20	2,100.00	42,000.00
FORMALIN SOLUTION	gallon	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
FROSTED GLASS SLIDE	boxes	0	0	360	0	0	240	0	0	0	0	0	0	600	75.00	45,000.00
GALVANOMETER	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	625.00	0.00
GAUZE BANDAGE, 3inx100 (big)	pack	0	0	76	0	0	52	0	0	0	0	0	0	128	1,700.00	217,600.00
GAUZE BANDAGE, 6cm x 4m	roll	0	0	82	0	0	42	0	0	0	0	0	0	104	13.50	1,404.00
GAUZE, 4 X 4	box	0	0	48	0	0	32	0	0	0	0	0	0	80	500.00	40,000.00
GAUZE, BIG	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	1,800.00	216,000.00
GAUZE, sanitary supply	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
GAUZE, SMALL	pack	0	0	72	0	0	48	0	0	0	0	0	0	120	365.00	43,800.00
GENERAL CENTRIFUGE 12 PLACER	unit	0	0	1	0	0	1	0	0	0	0	0	0	2	20,100.00	40,200.00
GENTIAN VIOLET POWDER 25g	bot	0	0	0	0	0	0	0	0	0	0	0	0	0	648.00	0.00
GLASS FUNNEL, - 100MM	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00
GLASS PRISM 30X38 MM	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	145.00	0.00
GLASS RODS	units	0	0	0	0	0	0	0	0	0	0	0	0	0	360.00	0.00
GLASS SLIDE (PLAIN)	pcs	0	0	240	0	0	160	0	0	0	0	0	0	400	75.00	30,000.00
GLOVES CLEAN SIZE S, M, & L	box	0	0	1500	0	0	12	0	0	0	0	0	0	1512	300.00	453,600.00
GLOVES SIZE 6.5, 7, 7.5 STERILIZED LATEX (50 pairs/box)	box	0	0	12	0	0	8	0	0	0	0	0	0	20	1,180.00	23,200.00
GLUCOMETER	unit	0	0	1	0	0	1	0	0	0	0	0	0	2	5,800.00	11,200.00
GLUCOMETER STRIP, Horizon or equivalent	box	0	0	434	0	0	468	0	0	0	0	0	0	922	1,500.00	1,383,000.00
GLUCOMETEWR	PIECES	0	0	6	0	0	4	0	0	0	0	0	0	10	9,500.00	95,000.00
GLUCOSE 200ml	boxes	0	0	6	0	0	4	0	0	0	0	0	0	10	5,770.00	57,700.00
GRADUATED CYLINDER 100ML	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	270.00	0.00
GRADUATED CYLINDER 250ML	pcs	0	0	6	0	0	0	0	0	0	0	0	0	0	440.00	0.00
GRADUATED CYLINDER 500ML	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	710.00	0.00
GRADUATED CYLINDER 50ML	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	230.00	0.00
GREEN GOWN	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	250.00	15,000.00
GREEN LINEN, double	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	120.00	0.00
GUIDE WIRE (Adult)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	735.00	0.00
GUIDE WIRE (Child)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	735.00	0.00
HAIR SPRAY, 500 ML	bot	0	0	7	0	0	5	0	0	0	0	0	0	12	90.00	1,080.00
HAND SOAP	piece	0	0	28	0	0	20	0	0	0	0	0	0	48	855.00	31,440.00
HAND TOWEL, DISPOSABLE	roll	0	0	86	0	0	58	0	0	0	0	0	0	143	110.00	15,730.00
HDL DIRECT	boxes	0	0	0	0	0	0	0	0	0	0	0	0	0	7,820.00	0.00
HEAD CAP X 50's	pack	0	0	72	0	0	48	0	0	0	0	0	0	120	288.00	34,560.00
HEIGHT BOARD	piece	0	0	1	0	0	1	0	0	0	0	0	0	2	3,550.00	7,100.00
HEMATOCRIT CAPILLARY TUBES	boxes	0	0	4	0	0	4	0	0	0	0	0	0	8	140.00	1,120.00
HEMATOCRIT CENTRIFUGE	unit	0	0	1	0	0	2	0	0	0	0	0	0	3	20,000.00	60,000.00
HEPLOCK	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	35.00	4,200.00

HGT STRIPS	box	0	0	72	0	0	48	0	0	0	0	0	0	120	2,700.00	324,000.00
HUB CUTTER	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	100.00	0.00
HYDROCORTISONE	tubes	0	0	72	0	0	48	0	0	0	0	0	0	120	350.00	42,000.00
HYDROCORTISONE 250MG	VIALS	0	0	70	0	0	48	0	0	0	0	0	0	118	200.00	23,600.00
HYDROGEN PEROXIDE	gallon	0	0	24	0	0	16	0	0	0	0	0	0	40	650.00	26,000.00
HYPOALLERGENIC PLASTER	box	0	0	0	0	0	0	0	0	0	0	0	0	0	820.00	0.00
HYPOCHLORITE	gallon	0	0	0	0	0	0	0	0	0	0	0	0	0	6,000.00	0.00
HYPODERMIC NEEDLE GAUGE 18	dozen	0	0	36	0	0	24	0	0	0	0	0	0	80	140.00	8,400.00
HYPODERMIC NEEDLE GAUGE 20	pcs	0	0	36	0	0	24	0	0	0	0	0	0	80	1.70	102.00
HYPODERMIC NEEDLE GAUGE 22	pcs	0	0	36	0	0	24	0	0	0	0	0	0	80	1.70	102.00
HYPODERMIC NEEDLE GAUGE 23	pcs	0	0	36	0	0	24	0	0	0	0	0	0	80	140.00	8,400.00
HYPODERMIC NEEDLE GAUGE 24	dozen	0	0	36	0	0	24	0	0	0	0	0	0	80	20.40	1,224.00
HYPODERMIC NEEDLE GAUGE 25	dozen	0	0	36	0	0	24	0	0	0	0	0	0	80	20.40	1,224.00
HYPODERMIC NEEDLE GAUGE 26	dozen	0	0	36	0	0	24	0	0	0	0	0	0	80	21.60	1,296.00
HYPODERMIC NEEDLE GAUGE 27	dozen	0	0	36	0	0	24	0	0	0	0	0	0	80	21.60	1,296.00
IMMERSION OIL (CARGILLE)	boxes	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
INDICATOR TAPE	piece	0	0	200	0	0	0	0	0	0	0	0	0	300	400.00	80,000.00
INSTRUMENT TRAY STAINLESS 10x12x2.5	piece	0	0	2	0	0	2	0	0	0	0	0	0	4	500.00	2,000.00
INSULIN SYRINGE	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	25.00	0.00
IRON STAND	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	805.00	0.00
ISONIAZID SYRUP 60ML	bot	0	0	0	0	0	0	0	0	0	0	0	0	0	49.00	0.00
IUD INSERTION KIT	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
IV CANNULA 18 x 100	box	0	0	7	0	0	10	0	0	0	0	0	0	17	5,000.00	85,000.00
IV CANNULA 20 x 100	box	0	0	7	0	0	10	0	0	0	0	0	0	17	5,000.00	85,000.00
IV CANNULA 22 x 100	box	0	0	7	0	0	10	0	0	0	0	0	0	17	5,000.00	85,000.00
IV CANNULA 24 x 100	box	0	0	7	0	0	10	0	0	0	0	0	0	17	5,000.00	85,000.00
IV CANNULA 26 X 100	box	0	0	11	0	0	10	0	0	0	0	0	0	21	5,000.00	105,000.00
IV STAND	PIECES	0	0	14	0	0	10	0	0	0	0	0	0	24	4,800.00	115,200.00
IV TUBING (PEDIA)	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	64.00	0.00
JACKSON PRATT	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	3,805.00	0.00
KELLY FORCEPS	bot	0	0	0	0	0	0	0	0	0	0	0	0	0	95.00	0.00
KELLY PAD	PIECES	0	0	0	0	0	0	0	0	0	0	0	0	0	1,550.00	0.00
KIDDIE TOOTHBRUSH W/ LOGO	piece	0	0	3600	0	0	2400	0	0	0	0	0	0	8000	15.00	90,000.00
KIDNEY BASIN (STAINLESS)	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	480.00	57,600.00
KY JELLY, 50 MG.	tubes	0	0	72	0	0	48	0	0	0	0	0	0	120	355.00	42,600.00
LABORATORY THERMOMETER	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	385.00	0.00
LDL DIRECT	box	0	0	0	0	0	0	0	0	0	0	0	0	0	5,115.00	0.00
LEUKOPLAST OR EQUIVALENT 2.5 x 5"	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	525.00	0.00
LIQUID SOAP SANITIZER/DISPENSER	PIECES	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
LUBRICATED CONDOMS (24 PACKS/BOX)	packs	0	0	36	0	0	24	0	0	0	0	0	0	60	380.00	22,800.00
M 30 DELVET 20 LITERS	boxes	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00
M 30 RINSE 200 LITERS	boxes	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00
M 30N LYSOL 500ML	Bottle	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00
MACROBET	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	60.00	7,200.00
MAGNETIC COMPASS 50MM	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	65.00	0.00
MAGNIFYING LENS 75MM WITH HANDLE	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	125.00	0.00
MAYO SCISSOR CURVE	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	590.00	0.00
MAYO SHEET	unit	0	0	36	0	0	24	0	0	0	0	0	0	60	95.00	5,700.00
MAYO TABLE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	3,198.06	0.00
MEDICAL TAPE, 1 INCH. (LEUKOPLAST OR EQUIVALENT)	piece	0	0	720	0	0	480	0	0	0	0	0	0	1200	175.00	210,000.00

MEDICAL TAPE, 2 INCHES (LEUKOPLAST OR EQUIVALENT)	piece	0	0	719	0	0	480	0	0	0	0	0	0	1199	800.00	959,200.00
MEDICINE CABINET, STEEL	unit	0	0	1	0	0	2	0	0	0	0	0	0	3	9,000.00	27,000.00
MEDIPLAST or equivalent, 100'S	box	0	0	720	0	0	480	0	0	0	0	0	0	1200	235.00	282,000.00
MERSILK 2.0	box	0	0	72	0	0	48	0	0	0	0	0	0	120	750.00	90,000.00
MERSILK 3.0	box	0	0	72	0	0	48	0	0	0	0	0	0	120	750.00	90,000.00
MERSILK 4.0	box	0	0	72	0	0	48	0	0	0	0	0	0	120	750.00	90,000.00
MICROPOR TAPE 1 in. x 12	box	0	0	720	0	0	480	0	0	0	0	0	0	1200	720.00	864,000.00
MICROPOR TAPE 1/2 in.	pcs	0	0	720	0	0	480	0	0	0	0	0	0	1200	20.00	24,000.00
MICROPOR TAPE 2 in.	pcs	0	0	720	0	0	480	0	0	0	0	0	0	1200	60.00	72,000.00
MICROSCOPE BULB	pcs	0	0	9	0	0	7	0	0	0	0	0	0	16	2,500.00	40,000.00
MICROSCOPE OLYMPUS CX 21	unit	0	0	0	0	0	1	0	0	0	0	0	0	1	55,000.00	55,000.00
MICROSET	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	55.00	3,300.00
MINOR SURGICAL SET	set	0	0	36	0	0	24	0	0	0	0	0	0	60	2,509.00	150,300.00
MORTAL & PESTLE 100 MM	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	160.00	0.00
MUCUS EXTRACTOR (manual Suction Bulb)	units	0	0	0	0	0	0	0	0	0	0	0	0	0	262.00	0.00
MULTI TESTER (DIGITAL & ANALOG)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	530.00	0.00
MULTICALIBRATOR	Bottle	0	0	0	0	0	0	0	0	0	0	0	0	0	28,000.00	0.00
N95 MASK	piece	0	0	144	0	0	98	0	0	0	0	0	0	240	185.00	44,400.00
NBS COLLECTION KIT	kit	0	0	72	0	0	48	0	0	0	0	0	0	120	750.00	90,000.00
NEBULATION KIT	piece	0	0	216	0	0	144	0	0	0	0	0	0	360	80.00	28,800.00
NEBULIZER	unit	0	0	0	0	0	1	0	0	0	0	0	0	1	5,000.00	5,000.00
NEEDLE HOLDER	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	180.00	0.00
NEGATSCOPE	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	10,500.00	0.00
NEGATSCOPE, 2 PANEL	UNIT	0	0	0	0	0	0	0	0	0	0	0	0	0	20,000.00	0.00
NEGATSCOPE, 3 PANEL	UNIT	0	0	0	0	0	0	0	0	0	0	0	0	0	21,000.00	0.00
NEWBORN SCREENING	piece	0	0	172	0	0	116	0	0	0	0	0	0	288	750.00	216,000.00
NGT F10	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	10.00	600.00
NGT F12	piece	0	0	35	0	0	24	0	0	0	0	0	0	59	10.00	590.00
NGT F14	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	10.00	600.00
NGT F18	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	10.00	600.00
NGT F5	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	25.00	1,500.00
NGT F8	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	35.00	2,100.00
NHQ 50ML	boxes	0	0	0	0	0	0	0	0	0	0	0	0	0	230.00	0.00
NORMAL CONTROL	bot	0	0	0	0	0	0	0	0	0	0	0	0	0	1,415.00	0.00
NSV SET (No Scalpel Vasectomy)	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	14,150.00	0.00
NYLON 2.0	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	49.00	2,940.00
NYLON 3.0	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	49.00	2,940.00
NYLON 4.0	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	49.00	2,940.00
OGT TUBE FR 10	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	10.00	600.00
OGT TUBE FR 5	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	10.00	600.00
OGT TUBE FR 8	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	10.00	600.00
OHMMETER	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	625.00	0.00
OR CAP	unit	0	0	360	0	0	240	0	0	0	0	0	0	600	5.00	3,000.00
OR SLIPPER	piece	0	0	360	0	0	240	0	0	0	0	0	0	600	309.00	180,000.00
OVER BED TABLE	unit	0	0	7	0	0	5	0	0	0	0	0	0	12	4,000.00	48,000.00
OVUM FORCEP	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
OXYGEN CANNULA ADULT	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	50.00	6,000.00
OXYGEN CANNULA NEONATAL	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	19.00	1,800.00
OXYGEN CANNULA PEDIA	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	50.00	6,000.00
OXYGEN MASK	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	149.00	17,880.00

OXYGEN REGULATOR	unit	0	0	36	0	0	24	0	0	0	0	0	0	80	2,880.00	172,800.00
OXYGEN TANK with REGULATOR	set	0	0	7	0	0	5	0	0	0	0	0	0	12	2,885.00	34,620.00
OXYGEN THERAPY SET	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	2,625.00	0.00
OXYGEN TUBING	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	15.00	0.00
OXYGEN, medical, 127kg/cm2, 1800 psi (TPDH)	tank	0	0	8640	0	0	5760	0	0	0	0	0	0	14400	400.00	5,760,000.00
OXYGEN, medical, 30	tank	0	0	720	0	0	480	0	0	0	0	0	0	1200	210.00	252,000.00
PENLIGHT	unit	0	0	36	0	0	24	0	0	0	0	0	0	60	147.00	8,820.00
PENROSE DRAINAGE TUBING 1/2	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	40.00	2,400.00
PENROSE DRAINAGE TUBING 1/4	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	40.00	2,400.00
PENROSE DRAINAGE TUBING 3/4	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	40.00	2,400.00
PENROSE DRAINAGE TUBING 7/8	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	40.00	2,400.00
PETRI DISH 100MM	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	150.00	0.00
PICK-UP FORCEP	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	45.00	2,700.00
PILLOW	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	220.00	13,200.00
PILLOW CASE	pcs	0	0	36	0	0	24	0	0	0	0	0	0	60	45.00	2,700.00
PLAIN 0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	25.00	3,000.00
PLAIN 2.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	25.00	3,000.00
PLAIN 3.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	25.00	3,000.00
PNSS 1LB BOT	bt	0	0	72	0	0	48	0	0	0	0	0	0	120	100.00	12,000.00
POLYLACTIN 0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	75.00	9,000.00
POLYLACTIN 1.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	75.00	9,000.00
POLYLACTIN 2.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	85.00	10,200.00
POLYLACTIN 3.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	85.00	10,200.00
POLYLACTIN 4.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	95.00	11,400.00
POLYPROPYLENE 3.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	75.00	9,000.00
POLYPROPYLENE 4.0 ROUND	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	75.00	9,000.00
POVIDINE IODINE 10.0%	gallon	0	0	360	0	0	240	0	0	0	0	0	0	600	1,105.00	663,000.00
POVIDINE IODINE 7.5%	gallon	0	0	360	0	0	240	0	0	0	0	0	0	600	1,105.00	663,000.00
PREPARED SLIDES (50'S)	box	0	0	0	0	0	0	0	0	0	0	0	0	0	3,435.00	0.00
PROBE CLEANSER 100ML	bottle	0	0	216	0	0	144	0	0	0	0	0	0	360	375.00	135,000.00
PROLENE MESH 10 x 14 cm	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	4,600.00	0.00
PROLENE MESH 3 x 6 cm	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	2,500.00	0.00
PULSE OXIMETER FINGER	unit	0	0	5	0	0	0	0	0	0	0	0	0	5	7,000.00	35,000.00
RAZOR (100'S)	box	0	0	345	0	0	240	0	0	0	0	0	0	585	2,200.00	1,287,000.00
READING GLASSES 100	pairs	0	0	700	0	0	480	0	0	0	0	0	0	1180	100.00	118,000.00
READING GLASSES 125	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 150	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 175	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 200	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 250	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 275	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 300	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 50	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
READING GLASSES 75	pairs	0	0	720	0	0	480	0	0	0	0	0	0	1200	100.00	120,000.00
REVOLVING STOOL	pieces	0	0	6	0	0	4	0	0	0	0	0	0	10	7,000.00	70,000.00
RUBBER BANDAGE 4"x5cm	roll	0	0	85	0	0	58	0	0	0	0	0	0	143	18.00	2,574.00
RUBBER SHEET	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	700.00	84,000.00
SAFIL 4.0	pci	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
SALICYLIC ACID 15G. OINTMENT	box	0	0	138	0	0	92	0	0	0	0	0	0	230	245.00	56,350.00
SCRUB BRUSH	piece	0	0	28	0	0	20	0	0	0	0	0	0	48	105.00	5,040.00

SGOT	box	0	0	36	0	0	24	0	0	0	0	0	0	0	80	8,265.00	495,900.00
SGPT	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	8,595.00	515,700.00
SILK 1, Cutting, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,090.00	63,000.00
SILK 1, Round, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,010.00	60,600.00
SILK 2, Cutting, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,090.00	63,000.00
SILK 2, Round, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,050.00	63,000.00
SILK 3, Cutting, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,090.00	63,000.00
SILK 3, Round, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,090.00	63,000.00
SILK 4, Cutting, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,090.00	63,000.00
SILK 4, Round, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	1,090.00	63,000.00
SILK 5, Cutting, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	990.00	57,000.00
SILK 6, Cutting, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	900.00	54,000.00
SILKAM 0 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	900.00	54,000.00
SILKAM 0 Cutting, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	900.00	54,000.00
SILKAM 2.0, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	900.00	54,000.00
SILKAM 3.0, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	900.00	54,000.00
SILKAM 4.0, 12's	box	0	0	36	0	0	24	0	0	0	0	0	0	0	60	900.00	54,000.00
SOLUSET	piece	0	0	36	0	0	24	0	0	0	0	0	0	0	60	250.00	15,000.00
SPECIMEN BOTTLE	bot	0	0	1200	0	0	800	0	0	0	0	0	0	0	2000	15.00	30,000.00
SPHYGMOMANOMETER, DESK MODEL, ANEROID, NEWBORN	PIECES	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,000.00	0.00
SPHYGMOMANOMETER, DESK MODEL, ANEROID, PEDIA	PIECES	0	0	1	0	0	2	0	0	0	0	0	0	0	3	4,000.00	12,000.00
SPHYGMOMANOMETER, DESK MODEL, ANEROID, ADULT	PIECES	0	0	2	0	0	2	0	0	0	0	0	0	0	4	4,700.00	18,800.00
SPINAL NEEDLE, G23	piece	0	0	72	0	0	48	0	0	0	0	0	0	0	120	150.00	18,000.00
SPINAL NEEDLE, G24	piece	0	0	72	0	0	48	0	0	0	0	0	0	0	120	50.00	6,000.00
SPINAL NEEDLE, G25	piece	0	0	72	0	0	48	0	0	0	0	0	0	0	120	115.00	13,800.00
SPLINTS (S, M, & L)	piece	0	0	108	0	0	72	0	0	0	0	0	0	0	180	1,000.00	180,000.00
SPUTUM CUPS (TRANSPARENT, SCREW CUP)	packs	0	0	600	0	0	400	0	0	0	0	0	0	0	1000	1,000.00	1,000,000.00
SPYGMOMANOMETER, standing type	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,000.00	0.00
STAINLESS BOWL, (ROUND SHAPE)	pcs	0	0	36	0	0	24	0	0	0	0	0	0	0	60	250.00	15,000.00
STEREOSCOPE (FOR DENGUE)	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,500.00	0.00
STERILE WATER FOR INJECTION 50ML	vial	0	0	720	0	0	480	0	0	0	0	0	0	0	1200	35.00	114,000.00
STERILIZATION TUBE	pcs	0	0	14	0	0	10	0	0	0	0	0	0	0	24	550.00	13,200.00
STERILIZER INDICATOR TAPE	pcs	0	0	14	0	0	10	0	0	0	0	0	0	0	24	350.00	8,400.00
STETHOSCOPE	PIECES	0	0	21	0	0	15	0	0	0	0	0	0	0	26	8,500.00	306,000.00
STETHOSCOPE LITMAN	unit	0	0	38	0	0	24	0	0	0	0	0	0	0	60	7,050.00	420,000.00
STETHOSCOPE - ADULT (LITMAN)	pcs	0	0	38	0	0	24	0	0	0	0	0	0	0	60	8,500.00	510,000.00
STRUPP FOR DELIVERY TABLE	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,700.00	0.00
STOMACH TUBE F 14	pcs	0	0	36	0	0	24	0	0	0	0	0	0	0	60	10.00	600.00
STOMACH TUBE F 16	pcs	0	0	38	0	0	24	0	0	0	0	0	0	0	60	10.00	600.00
STOOL REVOLVING	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,050.00	0.00
STOP TB PATIENTS KIT A	box	0	0	0	0	0	0	0	0	0	0	0	0	0	0	180.00	0.00
STOP WATCH	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,485.00	0.00
STRAIGHT CATHETER	tubes	0	0	38	0	0	24	0	0	0	0	0	0	0	60	85.00	3,900.00
STRAIGHT FORCEP	piece	0	0	14	0	0	10	0	0	0	0	0	0	0	24	86.00	2,352.00
SUCTION CATHETER 10	piece	0	0	36	0	0	24	0	0	0	0	0	0	0	60	10.00	600.00
SUCTION CATHETER 12	piece	0	0	36	0	0	24	0	0	0	0	0	0	0	60	10.00	600.00
SUCTION CATHETER 14	piece	0	0	36	0	0	24	0	0	0	0	0	0	0	60	10.00	600.00
SUCTION CATHETER 18	piece	0	0	250	0	0	24	0	0	0	0	0	0	0	274	85.00	17,810.00
SUCTION CATHETER 18	piece	0	0	36	0	0	24	0	0	0	0	0	0	0	60	70.00	4,200.00
SUCTION CATHETER 5	piece	0	0	36	0	0	24	0	0	0	0	0	0	0	60	10.00	600.00

SUCTION CATHETER 8	piece	0	0	200	0	0	24	0	0	0	0	0	0	224	27.00	6,048.00
SUCTION MACHINE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	8,500.00	0.00
SUCTION MACHINE 2L CAPACITY PORTABLE	UNIT	0	0	0	0	0	0	0	0	0	0	0	0	0	10,000.00	0.00
SUCTION TIP	piece	0	0	72	0	0	48	0	0	0	0	0	0	120	55.00	6,600.00
SUCTION TUBING	pcs	0	0	72	0	0	48	0	0	0	0	0	0	120	75.00	9,000.00
SULFUR OINTMENT	tubes	0	0	144	0	0	96	0	0	0	0	0	0	240	100.00	24,000.00
SULTRIN VAGINAL SUPPOSITORY	boxes	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	0.00
SURGICAL BLADE #10, 11, 12, 15, 20, 21	box	0	0	72	0	0	48	0	0	0	0	0	0	120	685.00	82,200.00
SURGICAL GLOVES - LARGE	box	0	0	18	0	0	12	0	0	0	0	0	0	30	795.00	23,850.00
SURGICAL MASK x 50s	box	0	0	14	0	0	10	0	0	0	0	0	0	24	156.00	3,744.00
SURGICAL NEEDLE (Cutting) X 12's	box	0	0	72	0	0	48	0	0	0	0	0	0	120	500.00	60,000.00
SURGICAL NEEDLE (Round) X 12's	box	0	0	72	0	0	48	0	0	0	0	0	0	120	500.00	60,000.00
SYRINGE NEEDLE G20	boxes	0	0	72	0	0	48	0	0	0	0	0	0	120	525.00	63,000.00
SYRINGE NEEDLE G22	boxes	0	0	72	0	0	48	0	0	0	0	0	0	120	525.00	63,000.00
SYRINGE NEEDLE G24	boxes	0	0	72	0	0	48	0	0	0	0	0	0	120	525.00	63,000.00
SYRINGE NEEDLE G25	boxes	0	0	72	0	0	48	0	0	0	0	0	0	120	525.00	63,000.00
SYRINGE, 1 CC.	box	0	0	12	0	0	8	0	0	0	0	0	0	20	610.00	12,200.00
SYRINGE, 10 CC.	box	0	0	12	0	0	8	0	0	0	0	0	0	20	700.00	14,000.00
SYRINGE, 3 CC. x 100	box	0	0	12	0	0	8	0	0	0	0	0	0	20	650.00	13,000.00
SYRINGE, 5 CC.	box	0	0	12	0	0	8	0	0	0	0	0	0	20	650.00	13,000.00
TENOTOMY SCISSOR	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
TEST TUBE - 16 X 130, PYREX OR EQUIVALENT	pcs	0	0	60	0	0	40	0	0	0	0	0	0	100	20.00	2,000.00
TEST TUBE - 21 X 180, PYREX OR EQUIVALENT	pcs	0	0	60	0	0	40	0	0	0	0	0	0	100	30.00	3,000.00
TEST TUBE - 25 X 200, PYREX OR EQUIVALENT	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	55.00	0.00
THERMOMETER, Mercury Free	pieces	0	0	6	0	0	4	0	0	0	0	0	0	10	650.00	6,500.00
THORACIC CATHETER	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
THORACOSTOMY TUBE/CHEST	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
TONGUE DEPRESSOR #10s	box	0	0	7	0	0	5	0	0	0	0	0	0	12	350.00	4,200.00
TOOTH PASTE, SACHET	sachet	0	0	72	0	0	48	0	0	0	0	0	0	120	6.00	720.00
TOURNIQUET	piece	0	0	216	0	0	144	0	0	0	0	0	0	360	20.00	7,200.00
TRIGLYCERIDES 50ML (5,500/set at 90's	boxes	0	0	36	0	0	24	0	0	0	0	0	0	60	8,500.00	510,000.00
TUDOR INFUSION SET FOR DEXTROSE	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	140.00	8,400.00
TUNING FORK (SET OF 8)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	970.00	0.00
TYPING SERA ANTI-A	vial	0	0	14	0	0	10	0	0	0	0	0	0	24	765.00	18,360.00
TYPING SERA ANTI-B	vial	0	0	14	0	0	10	0	0	0	0	0	0	24	765.00	18,360.00
TYPING SERA ANTI-D	vial	0	0	24	0	0	18	0	0	0	0	0	0	40	1,520.00	60,800.00
URINAL	unit	0	0	4	0	0	4	0	0	0	0	0	0	8	2,060.00	16,480.00
URINE BAG	piece	0	0	216	0	0	144	0	0	0	0	0	0	360	30.00	10,800.00
URINE STRIPS	Bottle	0	0	72	0	0	48	0	0	0	0	0	0	120	5.00	600.00
VAGINAL SPECULUM	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	300.00	18,000.00
VICRYL 0, Round 12's	pieces	0	0	36	0	0	24	0	0	0	0	0	0	60	6,370.00	382,200.00
VICRYL 1.0, Taper	pieces	0	0	36	0	0	24	0	0	0	0	0	0	60	6,370.00	382,200.00
VICRYL 1.0, Round 12's	pieces	0	0	42	0	0	18	0	0	0	0	0	0	60	6,370.00	382,200.00
VICRYL 2.0, 3.0, 4.0, 5.0, Cutting 12's	box	0	0	60	0	0	0	0	0	0	0	0	0	90	6,625.00	409,300.00
VICRYL 2.0, 3.0, 4.0, 5.0, Round 12's	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	345.00	20,700.00
VICRYL 2.0, 3.0, 4.0, 5.0, Taper 12's	piece	0	0	36	0	0	24	0	0	0	0	0	0	60	6,370.00	382,200.00
VOLUMETER	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	620.00	0.00
WEIGHING SCALE (ADULT)	unit	0	0	3	0	0	3	0	0	0	0	0	0	6	2,090.00	12,540.00
WEIGHING SCALE (CHILD)	unit	0	0	3	0	0	3	0	0	0	0	0	0	6	5,407.28	38,443.68
WEIGHING SCALE (Infant)	units	0	0	3	0	0	3	0	0	0	0	0	0	6	8,000.00	48,000.00

WEIGHING SCALE, box	unit	0	0	3	0	0	2	0	0	0	0	0	0	5	7,000.00	35,000.00
WHITE FLOWER	lbs	0	0	360	0	0	240	0	0	0	0	0	0	600	312.00	187,200.00
WHITFIELD OINTMENT	tubes	0	0	172	0	0	116	0	0	0	0	0	0	288	85.00	24,480.00
WOODEN AYRE SPATULAS	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	5.00	0.00
WRIGHT STAIN	set	0	0	24	0	0	16	0	0	0	0	0	0	40	4,412.00	176,480.00
YANKAUER HANDLER	unit	0	0	24	0	0	16	0	0	0	0	0	0	40	450.00	18,000.00
Medical Equipment																
AGGLUTINATION VIEWER	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	15,000.00	0.00
ANESTHESIA MACHINE	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	810,000.00	1,620,000.00
AUTOClave (TABLE TOP)	unit	0	1	0	0	0	0	0	0	0	0	0	0	1	30,000.00	30,000.00
AUTOMATIC EXTERNAL DEFIBRILLATOR (AED)	piece	0	1	0	0	0	0	0	0	0	0	0	0	1	800,000.00	800,000.00
BAG VALVE, ADULT	piece	0	2	0	0	0	0	0	0	0	0	0	0	2	2,900.00	5,800.00
BAG VALVE, NEWBORN	piece	0	2	0	0	0	0	0	0	0	0	0	0	2	2,900.00	5,800.00
BAG VALVE, PEDIA	piece	0	2	0	0	0	0	0	0	0	0	0	0	2	2,900.00	5,800.00
BASIC DR TABLE	set	0	1	0	0	0	0	1	0	0	0	0	0	2	15,000.00	30,000.00
BASSINET	unit	0	2	0	2	0	0	2	0	0	2	0	0	6	10,000.00	80,000.00
BASSINETS WITH TWO SHELVES	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	82,000.00	0.00
BLADE HOLDER	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	11,000.00	0.00
BLOOD BANK REFRIGERATOR (15-20 BAGS CAPACITY)	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	130,000.00	260,000.00
CARDIAC MONITOR	piece	0	1	0	0	0	0	0	0	0	0	0	0	1	800,000.00	800,000.00
CAST CUTTER	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	400,000.00	0.00
CHEMISTRY ANALYZER	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	300,000.00	0.00
CLINICAL CENTRIFUGE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	25,000.00	0.00
COMPRESSOR	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	26,658.00	0.00
CRUTCHES, steel	unit	0	100	50	50	50	50	50	50	50	50	50	50	600	1,815.00	1,089,000.00
CLUT DOWN OR MINOR SURGICAL SET	set	0	0	0	0	0	0	0	0	0	0	0	0	0	10,000.00	0.00
D AND C SET (DB)	set	0	0	0	0	0	0	0	0	0	0	0	0	0	12,000.00	0.00
DELIVERY TABLE/DB CHAIR STAINLESS	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	175,000.00	350,000.00
DENTAL CABINET	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	12,300.00	24,600.00
DENTAL INSTRUMENT SET	set	0	1	0	0	0	0	0	0	0	0	0	0	1	50,000.00	50,000.00
DENTAL STOOL	piece	0	10	0	0	0	0	10	0	0	0	0	0	20	5,300.00	106,000.00
DENTAL UNIT HYDRAULIC CHAIR W/ ACCESSORIES	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	190,000.00	0.00
DIFFERENTIAL COUNTER	unit	0	3	0	0	0	0	3	0	0	0	0	0	6	20,000.00	120,000.00
DIGITAL EAR THERMOMETER	piece	0	1	0	0	0	0	1	0	0	0	0	0	2	15,500.00	31,000.00
DIGITAL ULTRASONIC CLEANER	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	10,000.00	0.00
DRESSING TROLLEY	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	12,000.00	0.00
DRY OVEN (TABLE TOP)	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	20,000.00	40,000.00
ECG MACHINE	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	200,000.00	400,000.00
EMERGENCY CART	piece	0	1	0	0	0	0	1	0	0	0	0	0	2	100,000.00	200,000.00
EQUIPMENT STAND	piece	0	1	0	0	0	0	1	0	0	0	0	0	2	18,500.00	37,000.00
EXAMINATION TABLE	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	50,000.00	0.00
EXAMINING TABLE - HAMILTON OR EQUIVALENT	unit	0	0	0	0	0	0	1	0	0	0	0	0	1	50,000.00	50,000.00
FETAL DOPPLER	unit	0	0	1	0	0	0	0	0	0	0	0	0	1	35,000.00	35,000.00
FOLDING CANE	unit	0	50	50	0	50	0	50	0	50	0	50	0	300	1,950.00	585,000.00
GIGLI WIRE HANDLE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	20,000.00	0.00
HAND PIECES (LOW SPEED)	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	18,000.00	0.00
HOSPITAL WASTE BINS, STAINLESS, FOOT OPERATED	piece	0	10	0	0	0	0	10	0	0	0	0	0	20	10,500.00	210,000.00
HYDRAULIC DR TABLE	unit	0	0	0	0	0	0	1	0	0	0	0	0	1	780,000.00	780,000.00

HYDRAULIC OR TABLE	unit	0	0	0	0	0	0	0	1	0	0	0	0	0	1	890,000.00	850,000.00
INCUBATOR	unit	0	0	0	0	0	0	0	1	0	0	0	0	0	1	900,000.00	900,000.00
INFANT STETOSCOPE (LITTMAN OR EQUIVALENT)	unit	0	1	0	0	0	0	0	0	0	0	0	0	0	1	16,000.00	16,000.00
INFANT WARMER	unit	0	0	0	0	0	0	0	1	0	0	0	0	0	1	750,000.00	750,000.00
INSTRUMENT CABINET	unit	0	0	0	0	0	0	0	1	0	0	0	0	0	1	25,000.00	25,000.00
INSTRUMENT STERILIZER (AUTOCLAVE TABLE TOP)	unit	0	0	0	0	0	0	0	1	0	0	0	0	0	1	150,000.00	150,000.00
INSTRUMENT TABLE	unit	0	0	0	0	0	0	0	1	0	0	0	0	0	1	20,000.00	20,000.00
INTRA ORAL CAMERA	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	35,000.00	0.00
KICK ABOUT BUCKET	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10,500.00	0.00
LARYNGOSCOPE, ADULT	piece	0	2	0	0	0	0	0	0	0	0	0	0	0	2	16,500.00	33,000.00
LARYNGOSCOPE, PEDIA	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	16,500.00	0.00
LCD MONITOR	piece	0	0	0	0	0	0	0	1	0	0	0	0	0	1	15,000.00	15,000.00
LIGHT CURING UNIT	sets	0	1	0	0	0	0	0	0	0	0	0	0	0	1	13,000.00	13,000.00
LUXATOR	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	18,500.00	0.00
MAMMOGRAPHY	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,000,000.00	0.00
MECHANICAL BED WITH MATTRESS	unit	0	2	0	0	0	0	0	2	0	0	0	0	0	4	20,000.00	80,000.00
MECHANICAL VENTILATOR	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,450,000.00	0.00
MEDICATION CABINET	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	21,000.00	0.00
MEDICATION CART	piece	0	1	0	0	0	0	0	1	0	0	0	0	0	2	15,500.00	31,000.00
MICRO-HEMOCRIT CENTRIFUGE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	34,000.00	0.00
MICROMOTOR	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	15,000.00	0.00
MICROSCOPE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	85,000.00	0.00
MOBILE CLINIC inclusive of X-ray Machine, Examination Table, Laboratory Counter Sink, Dental Unit, Airconditioning Unit, Fire Extinguisher and Water Tank	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,000,000.00	0.00
NEBULIZER, PORTABLE	piece	0	1	0	0	0	0	0	0	0	0	0	0	0	1	10,500.00	10,500.00
NSD SET (NORMAL SPONTANEOUS DELIVERY) ARTERY FORCEPS OR CLAMP, DISSECTING FORCEPS, NEEDLE HOLDER, SCISSORS, SPONGE FORCEPS, ABSORBABLE STERILE CORD CLAMP, PLASTIC DISPOSABLE SHEET, STERILE DISPOSABLE GLOVES, URINARY CATHETER	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10,000.00	0.00
OTOSCOPE	set	0	0	0	0	0	0	0	1	0	0	0	0	0	1	16,000.00	16,000.00
OVER BED TABLE	unit	0	0	0	0	0	0	0	2	0	0	0	0	0	2	10,000.00	20,000.00
OXYGEN HOLDER/STAND	pieces	0	2	0	0	0	0	0	2	0	0	0	0	0	4	10,500.00	42,000.00
OXYGEN REGULATOR	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,880.00	0.00
OXYGEN TANK (50L) W/ OXYGEN THERAPY SET	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	21,000.00	0.00
PEDIA CRUTCHES	unit	0	100	50	50	50	50	50	50	50	50	50	50	50	600	12,200.00	7,320,000.00
PEDIA STROLLER	unit	0	100	50	50	50	50	50	50	50	50	50	50	50	600	5,294.00	3,176,400.00
PEDIATRIC STETOSCOPE (LITTMAN OR EQUIVALENT)	unit	0	5	0	0	0	0	0	5	0	0	0	0	0	10	12,000.00	120,000.00
PHOTOTHERAPY	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	500,000.00	0.00
PORTABLE DENTAL UNIT	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	200,000.00	0.00
PORTABLE X-RAY CAMERA	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250,000.00	0.00
PORTABLE X-RAY MACHINE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450,000.00	0.00
PULSE OXIMETER W/ NON-INVASIVE BLOOD PRESSURE	pieces	0	5	0	0	0	0	0	5	0	0	0	0	0	10	150,000.00	1,500,000.00
QUAD CANE	unit	0	100	50	50	50	50	50	50	50	50	50	50	50	600	1,817.50	1,090,500.00
RIB RETRACTOR LARGE	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	12,000.00	0.00
RIB RETRACTOR SMALL	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	12,000.00	0.00
SCALER	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	16,000.00	0.00
SELF RETRAINING ABDOMINAL RETRACTOR	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	12,000.00	0.00

SPHYGMOMANOMETER W/ STAND, MERCURY FREE, ADULT	unit	0	5	0	5	0	0	5	0	0	5	0	0	20	10,000.00	200,000.00
SPHYGMOMANOMETER, MOBILE ANEROID, ADULT	pieces	0	5	0	5	0	0	5	0	0	5	0	0	20	15,500.00	310,000.00
SPHYGMOMANOMETER, MOBILE ANEROID, NEWBORN	pieces	0	5	0	5	0	0	5	0	0	5	0	0	20	17,500.00	350,000.00
SPHYGMOMANOMETER, MOBILE ANEROID, PEDIA	pieces	0	5	0	5	0	0	5	0	0	5	0	0	20	16,500.00	330,000.00
STRETCHER, W/ STAINLESS IV STAND	pieces	0	5	0	0	0	0	5	0	0	0	0	0	10	50,000.00	500,000.00
STROLLER, adult	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	21,015.00	0.00
STROLLER, pedis	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	5,950.00	0.00
SUCTION MACHINE	pieces	0	1	0	0	0	0	1	0	0	0	0	0	2	170,000.00	340,000.00
TRAY	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	30,500.00	0.00
VACCINE REFRIGERATOR	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	20,000.00	40,000.00
WALKER, adult	unit	0	100	50	50	50	50	50	50	50	50	50	50	600	2,905.00	1,743,000.00
WALKER, pedis	unit	0	100	50	50	50	50	50	50	50	50	50	50	600	1,650.00	990,000.00
WALKING CANE	unit	0	100	50	50	50	50	50	50	50	50	50	50	600	1,065.00	639,000.00
WEIGHING SCALE WITH MEASURING STICK	unit	0	1	0	0	0	0	1	0	0	0	0	0	2	15,000.00	30,000.00
WHEEL CHAIR W/ IV STAND HOLDER Adult	pieces	0	160	80	80	80	80	80	80	80	80	80	80	960	16,000.00	15,360,000.00
WHEEL CHAIR W/ IV STAND HOLDER Pedia	pieces	0	160	80	80	80	80	80	80	80	80	80	80	960	20,000.00	19,200,000.00
WHEEL CHAIR, adult	unit	0	160	80	80	80	80	80	80	80	80	80	80	960	6,605.00	6,340,800.00
WHEEL CHAIR, pedis	unit	0	160	80	80	80	80	80	80	80	80	80	80	960	6,245.00	5,995,200.00
WHEEL CHAIR, with head reclining	unit	0	160	80	80	80	80	80	80	80	80	80	80	960	15,735.00	15,105,600.00
VARIOUS EQUIPMENT																
A. ENGINEERING EQUIPMENT																
AIR COMPRESSOR (1 HP SINGLE PISTON)	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	17,000.00	0.00
AIR COMPRESSOR (1.5 HP SINGLE PISTON)	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	26,000.00	0.00
AIR COMPRESSOR (10 HP SINGLE PISTON)	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	145,000.00	0.00
AIR COMPRESSOR (2.5 HP SINGLE PISTON)	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	36,000.00	0.00
AIR COMPRESSOR (5.5 HP SINGLE PISTON)	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	79,000.00	0.00
B. AIRCONDITIONING																
1 HP WINDOW TYPE AIRCON WITH THE FOLLOWING MINIMUM SPECIFICATIONS: 8 IN 1 FILTRATION SYSTEM, SLEEP FUNCTION ENERGY SAVING PLUG ON TIMER AND REMOTE MODEL TURBO FUNCTION, EASY TO CLEAN FLAT PANEL ANTI-FREEZE PROTECTION, FILTER CLEAN REMINDER WITH 1 YEAR WARRANTY	UNITS	25	2	2	25	2	2	25	2	2	25	2	2	116	20,000.00	2,320,000.00
2 HP WINDOW TYPE AIRCON WITH THE FOLLOWING MINIMUM SPECIFICATIONS: 8 IN 1 FILTRATION SYSTEM, SLEEP FUNCTION ENERGY SAVING PLUG ON TIMER AND REMOTE MODEL TURBO FUNCTION, EASY TO CLEAN FLAT PANEL ANTI-FREEZE PROTECTION, FILTER CLEAN REMINDER WITH 1 YEAR WARRANTY	UNITS	50	2	2	25	2	2	25	2	2	25	2	2	141	30,000.00	4,230,000.00
3 TONER FLOOR MOUNTED AIRCON WITH THE FOLLOWING MINIMUM SPECIFICATIONS: TURBO MODE TO COOL SPACE FASTER VERTICAL AND HORIZONTAL, AIR SWIFT CLEAN INDOOR AIR, HIGHER COOLING SYSTEM WITH 1 YEAR WARRANTY	UNITS	10	0	0	6	0	0	10	0	0	6	0	0	32	70,000.00	2,240,000.00

\$ TONER FLOOR MOUNTED AIRCON WITH THE FOLLOWING MINIMUM SPECIFICATIONS: TURBO MODE TO COOL SPACE FASTER VERTICAL AND HORIZONTAL AIR SWIFT CLEAN INDOOR AIR, HIGHER COOLING SYSTEM WITH 1 YEAR WARRANTY																		1,642,500.00	
	UNITS	12	0	0	2	0	0	2	0	0	2	0	0	18	91,250.00				
C. TARPAULIN MACHINE																			
TARPAULIN MACHINE																		2,670,000.00	8,010,000.00
	lot	0	3	0	0	0	0	0	0	0	0	0	0	3					0.00
PRINTER HEADS: MODEL # XAAR128	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	56,000.00				0.00
PRINTER HEADS: MODEL EPSON DX05	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	125,710.00				0.00
TARPAULIN MACHINE PRINTER INK FOR EPSON DX05	gals	0	0	0	0	0	0	0	0	0	0	0	0	0	4,552.20				
Sports Equipment, Supplies and Uniform																			
ARNIS ARM GUARD (UPPER/LOWER)	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	850.00				170,000.00
ARNIS BODY ARMOR	pieces	50	0	0	50	0	0	50	0	0	50	0	0	320	1,500.00				480,000.00
ARNIS GROIN GUARD - FEMALE	pieces	50	0	0	50	0	0	50	0	0	50	0	0	320	600.00				192,000.00
ARNIS GROIN GUARD - MALE	pieces	50	0	0	50	0	0	50	0	0	50	0	0	320	600.00				192,000.00

ARNIS HEAD GEAR	pieces	80	0	0	80	0	0	80	0	0	80	0	0	320	700.00	224,000.00
BADMINTON NET (OFFICIAL SIZE, HIGH QUALITY)	pieces	300	0	0	300	0	0	300	0	0	300	0	0	1200	600.00	720,000.00
BADMINTON RACKET - YONEX OR EQUIVALENT	pairs	300	0	0	300	0	0	300	0	0	300	0	0	1200	1,800.00	2,160,000.00
BADMINTON UNIFORM	sets	500	0	0	500	0	0	500	0	0	500	0	0	2000	500.00	1,000,000.00
BALL BAG	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	700.00	140,000.00
BASEBALL BALL (LEATHER)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	450.00	360,000.00
BASEBALL BAT	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	4,900.00	1,960,000.00
BASEBALL UNIFORM	pieces	300	0	0	300	0	0	300	0	0	300	0	0	1200	2,000.00	2,400,000.00
BASEBALL/SOFTBALL BODY PROTECTOR	pieces	20	0	0	20	0	0	20	0	0	20	0	0	80	4,000.00	320,000.00
BASKET BALL (LEATHER, INDOOR/OUTDOOR, G07 MOLTEN OR EQUIVALENT)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	2,510.00	2,008,000.00
BASKETBALL (LEATHER, GENERIC)	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	1,500.00	600,000.00
BASKETBALL (RUBBER)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	550.00	440,000.00
BASKETBALL (RUBBER), JUNIOR SIZE	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	550.00	220,000.00
BASKETBALL COACHING BOARD	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	390.00	70,000.00
BASKETBALL NET (COTTON, OFFICIAL SIZE)	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	300.00	120,000.00
BASKETBALL RING MOVEABLE	sets	50	0	0	50	0	0	50	0	0	50	0	0	200	50,000.00	10,000,000.00
BASKETBALL RING WITH FIBER BOARD	sets	50	0	0	50	0	0	50	0	0	50	0	0	200	15,000.00	3,000,000.00
BASKETBALL RING WITH NET	sets	50	0	0	50	0	0	50	0	0	50	0	0	200	5,900.00	1,100,000.00
BASKETBALL UNIFORMS (REVERSIBLE)	sets	10	0	0	10	0	0	10	0	0	10	0	0	40	800.00	32,000.00
BATTER'S HELMET	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,500.00	60,000.00
BIKERS/CYCLING UNIFORM	sets	200	0	0	200	0	0	200	0	0	200	0	0	800	490.00	399,200.00
BOXING FOUL PROTECTOR	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,600.00	64,000.00
BOXING GLOVES, 10 OZ	pairs	10	0	0	10	0	0	10	0	0	10	0	0	40	600.00	24,000.00
BOXING GLOVES, 12 OZ	pairs	10	0	0	10	0	0	10	0	0	10	0	0	40	950.00	39,400.00
BOXING GLOVES, 14 OZ	pairs	10	0	0	10	0	0	10	0	0	10	0	0	40	1,750.00	70,000.00
BOXING HEAD GEAR	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	4,950.00	198,000.00
BOXING RING	sets	2	0	0	2	0	0	2	0	0	2	0	0	8	25,000.00	200,000.00
BUZZER HORN (HEAVY DUTY)	pieces	20	0	0	20	0	0	20	0	0	20	0	0	80	4,400.00	352,000.00
CATCHER'S MASK	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	2,400.00	96,000.00
CHESS CLOCK	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	4,380.00	175,200.00
CHESSBOARD SET (TOURNAMENT SIZE)	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	500.00	200,000.00
CONE (Small)	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	60.00	12,000.00
CUSTOMIZED FIBER GLASS BASKETBALL BOARD	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	32,500.00	1,300,000.00
CUSTOMIZED MEDALLION	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	150.00	120,000.00
CUSTOMIZED MEDALS (BRONZE)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	250.00	200,000.00
CUSTOMIZED MEDALS (GOLD)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	250.00	200,000.00
CUSTOMIZED MEDALS (SILVER)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	250.00	200,000.00
CUSTOMIZED MEDALS, MYTHICAL PLAYER	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	200.00	160,000.00
CUSTOMIZED PLAQUE - 10" FIBERGLASS	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,200.00	48,000.00
CUSTOMIZED PLAQUE - 11" FIBERGLASS	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,500.00	60,000.00
CUSTOMIZED PLAQUE - 8" FIBERGLASS	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	800.00	32,000.00
CUSTOMIZED PLAQUE - 9" FIBERGLASS	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,000.00	40,000.00
CUSTOMIZED TROPHY - 12"	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	590.00	440,000.00
CUSTOMIZED TROPHY - 24"	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	790.00	600,000.00
CUSTOMIZED TROPHY - 8"	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	350.00	280,000.00
CUSTOMIZED TROPHY, 12" FIBER GLASS	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	1,500.00	600,000.00
CUSTOMIZED TROPHY, 14" FIBER GLASS	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	1,600.00	640,000.00
CUSTOMIZED TROPHY, 16" FIBER GLASS	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	1,800.00	720,000.00
CUSTOMIZED TROPHY, 18" FIBER GLASS	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	2,000.00	800,000.00

CUSTOMIZED VOLLEYBALL (LEATHERETTE)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	800.00	640,000.00
DARTBOARD	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	1,750.00	700,000.00
DARTPINS	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	599.00	239,600.00
DOLPHIN WHISTLE	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	600.00	120,000.00
ELECTRONIC SCORE BOARD	units	10	0	0	10	0	0	10	0	0	10	0	0	40	23,000.00	920,000.00
ELECTRONIC SCORE BOARD WITH BUZZER HORN	units	5	0	0	5	0	0	5	0	0	5	0	0	20	56,000.00	1,120,000.00
FOOTBALL (OFFICIAL SIZE)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,295.00	51,800.00
GOGGLES (SPEEDO OR EQUIVALENT)	pairs	20	0	0	20	0	0	20	0	0	20	0	0	80	1,200.00	96,000.00
HAND WRAP	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	150.00	6,000.00
HOME PLATE	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,200.00	48,000.00
KIMONO (MARTIAL ARTS/SIKRAN/ARNIS) UNIFORM	sets	10	0	0	10	0	0	10	0	0	10	0	0	40	1,200.00	48,000.00
NET (SEPAK TAKRAW)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,800.00	72,000.00
NET (SPA)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	500.00	20,000.00
NET EQUIPMENT BAG	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	500.00	20,000.00
PADDED STICK	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	150.00	30,000.00
PERSONAL/TEAM FOULS SIGN, plastic, Molten or equivalent	pieces	3	0	0	3	0	0	3	0	0	3	0	0	12	600.00	7,200.00
PITCHER PLATE	pieces	5	0	0	5	0	0	5	0	0	5	0	0	20	800.00	16,000.00
PUNCHING BAG - BIG	pieces	5	0	0	5	0	0	5	0	0	5	0	0	20	2,000.00	40,000.00
PUNCHING BALLS	pieces	5	0	0	5	0	0	5	0	0	5	0	0	20	1,200.00	24,000.00
PUNCHING MITTS	pairs	5	0	0	5	0	0	5	0	0	5	0	0	20	1,500.00	30,000.00
RATTAN BALL (SEPAK TAKRAW)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
RATTAN BALL (SPA)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
RUBBER MATS, CUSTOMIZED, 2" THICK	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	450.00	180,000.00
SCORE BOARD, portable	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	380.00	15,200.00
SCORE SHEET (FOR BASEBALL, NEW EDITION)	pieces	99	0	0	99	0	0	99	0	0	99	0	0	200	90.00	18,000.00
SCORE SHEET (FOR BASKETBALL, NEW EDITION)	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	90.00	36,000.00
SCORE SHEET (FOR VOLLEYBALL, NEW EDITION)	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	90.00	36,000.00
SHIN GUARD	pairs	10	0	0	10	0	0	10	0	0	10	0	0	40	150.00	6,000.00
SHUTTLE COCK (YONEX OR EQUIVALENT)	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	900.00	180,000.00
SIKARAN ARM GUARD (UPPER/LOWER)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,200.00	48,000.00
SIKARAN BODY ARMOR	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	7,500.00	300,000.00
SIKARAN GROIN GUARD (FEMALE)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,000.00	40,000.00
SIKARAN GROIN GUARD (MALE)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,000.00	40,000.00
SIKARAN HEAD GEAR	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	2,500.00	100,000.00
SIKARAN SHIN GUARD (UPPER/LOWER)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,000.00	40,000.00
SINGLET	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	200.00	160,000.00
SOFTBALL (LEATHER)	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	500.00	100,000.00
SOFTBALL BAT (ALUMINUM)	dozens	30	0	0	30	0	0	30	0	0	30	0	0	120	5,000.00	600,000.00
SPEED BALLS	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	300.00	12,000.00
SYNTHETIC BALL (SEPAK TAKRAW)	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	600.00	120,000.00
TABLE TENNIS BALL	box of 3	100	0	0	100	0	0	100	0	0	100	0	0	400	300.00	120,000.00
TABLE TENNIS NET	sets	50	0	0	50	0	0	50	0	0	50	0	0	200	100.00	20,000.00
TABLE TENNIS RACKET	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	1,000.00	200,000.00
TABLE TENNIS TABLE WITH NET AND POST	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,650.00	66,000.00
TAEKWONDO ARM GUARD	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,000.00	40,000.00
TAEKWONDO BODY PROTECTOR - LARGE	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,800.00	72,000.00
TAEKWONDO BODY PROTECTOR - SMALL	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,800.00	72,000.00
TAEKWONDO GROIN GUARD - FEMALE	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	600.00	24,000.00
TAEKWONDO GROIN GUARD - MALE	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	600.00	24,000.00
TAEKWONDO HEAD GEAR	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	4,200.00	168,000.00

TAEKWONDO KICK BAG - LARGE	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	2,802.00	112,000.00
TAEKWONDO KICK BAG - SMALL	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	2,802.00	112,000.00
TAEKWONDO KICK PAD	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	1,100.00	44,000.00
TAEKWONDO KICK SHIELD	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	2,400.00	96,000.00
TAEKWONDO MOUTH PIECE	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	500.00	20,000.00
TAEKWONDO SHIN GUARD	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	850.00	32,000.00
TRAFFIC CONES	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00
VOLLEYBALL LEATHERETTE	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	800.00	160,000.00
VOLLEYBALL (MIKASA TRI-COLOR MVA 220 LEATHER OR EQUIVALENT)	pieces	100	0	0	100	0	0	100	0	0	100	0	0	400	2,510.00	1,004,000.00
VOLLEYBALL (RUBBER)	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	1,630.00	326,000.00
VOLLEYBALL ANTENNA	sets	5	0	0	5	0	0	5	0	0	5	0	0	24	4,400.00	105,600.00
VOLLEYBALL NET	pieces	40	0	0	40	0	0	40	0	0	40	0	0	160	600.00	128,000.00
VOLLEYBALL NET (OFFICIAL SIZE, HIGH QUALITY)	pieces	50	0	0	50	0	0	50	0	0	50	0	0	200	1,500.00	300,000.00
VOLLEYBALL UNIFORMS (REVERSIBLE)	pieces	200	0	0	200	0	0	200	0	0	200	0	0	800	800.00	640,000.00
WATER COOLER	pieces	20	0	0	20	0	0	20	0	0	20	0	0	80	1,189.20	92,736.00
WHISTLE (FOX 40 OR EQUIVALENT)	pieces	10	0	0	10	0	0	10	0	0	10	0	0	40	300.00	12,000.00
Airconditioner Parts and Supplies																
1/4 COPPER TUBES	rolls	3	3	3	3	3	3	3	3	3	3	3	3	36	1,100.00	39,600.00
1/4 RUBBER INSULATION	piece	3	3	3	3	3	3	3	3	3	3	3	3	36	35.00	1,260.00
1/2 HP COMPRESSOR MOTOR	pieces	3	3	3	3	3	3	3	3	3	3	3	3	36	5,200.00	187,200.00
3/4 HP COMPRESSOR MOTOR	piece	2	2	2	2	2	2	2	2	2	2	2	2	24	5,700.00	136,800.00
1 1/8 COPPER ELBOW DRAWN	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	214.00	5,136.00
1 1/8 RUBBER INSTALLATION	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	171.00	4,104.00
1" PVC PIPE	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	133.75	3,210.00
1" PVC PIPE ELBOW	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	17.00	408.00
1" PVC PIPE TEE	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	21.50	516.00
1.0 HP COMPRESSOR MOTOR	piece	2	2	2	2	2	2	2	2	2	2	2	2	24	5,500.00	132,000.00
1.5 HP COMPRESSOR MOTOR	piece	2	2	2	2	2	2	2	2	2	2	2	2	24	6,600.00	158,400.00
1.5 MF RUNNING CAPACITOR (SINGLE)	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	423.00	10,152.00
1/2 COPPER ELBOW X 90	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	32.00	768.00
1/2 COPPER TUBE X 0.22 X 50	roll	2	2	2	2	2	2	2	2	2	2	2	2	24	2,140.00	51,360.00
1/2 COPPER TUBE HARD	link	2	2	2	2	2	2	2	2	2	2	2	2	24	2,140.00	51,360.00
1/2 COPPER TUBE HARD DRIVE ELBOW	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	75.00	1,800.00
1/2 FLARE NUT	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	57.00	1,368.00
1/2 FLEXIBLE HOSE	roll	2	2	2	2	2	2	2	2	2	2	2	2	24	802.50	19,260.00
1/2 RUBBER INSTALLATION X 1/2" X 0	pc	2	2	2	2	2	2	2	2	2	2	2	2	24	64.00	1,536.00
1/4 FLARE NUT	pc	3	3	3	3	3	3	3	3	3	3	3	3	36	12.00	432.00
1.8 HP COMPRESSOR MOTOR	piece	3	3	3	3	3	3	3	3	3	3	3	3	36	2,400.00	86,400.00
1.5 TON COMPRESSOR 3PH	piece	5	5	5	5	5	5	5	5	5	5	5	5	60	68,000.00	4,080,000.00
17-2 MF RUNNING CAPACITOR (SINGLE)	pc	5	5	5	5	5	5	5	5	5	5	5	5	60	487.50	29,250.00
2 MF RUNNING CAPACITOR (SINGLE)	pc	5	5	5	5	5	5	5	5	5	5	5	5	60	423.00	25,380.00
2.0 HP COMPRESSOR MOTOR	piece	5	5	5	5	5	5	5	5	5	5	5	5	60	7,850.00	471,000.00
2.5 HP COMPRESSOR MOTOR	piece	5	5	5	5	5	5	5	5	5	5	5	5	60	9,300.00	558,000.00
2.5 MF RUNNING CAPACITOR (SINGLE)	pc	3	3	3	3	3	3	3	3	3	3	3	3	36	423.00	15,228.00
20 TON COMPRESSOR 3PH	piece	3	3	3	3	3	3	3	3	3	3	3	3	36	142,000.00	5,112,000.00
25 + 2 MF RUNNING CAPACITOR (DUAL)	pc	5	5	5	5	5	5	5	5	5	5	5	5	60	337.00	20,220.00
25 MF RUNNING CAPACITOR	pc	5	5	5	5	5	5	5	5	5	5	5	5	60	536.00	32,160.00
3 MF RUNNING CAPACITOR (SINGLE)	pc	5	5	5	5	5	5	5	5	5	5	5	5	60	476.25	28,575.00
3.0 TONS COMPRESSOR MOTOR	piece	2	2	2	2	2	2	2	2	2	2	2	2	24	14,500.00	348,000.00
3/16 COPPER TUBES	rolls	3	3	3	3	3	3	3	3	3	3	3	3	36	750.00	27,000.00

3/4 COPPER ELBOW X 90	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	53.50	1,928.00
3/4 COPPER TUBE X 0.22 X 50	roll	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	3,959.00	142,524.00
3/4 FLARE NUT	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	150.00	5,400.00
3/4 PVC PIPE	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	96.50	3,474.00
3/4 PVC PIPE ELBOW	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	12.75	459.00
3/4 PVC PIPE TEE	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	17.00	612.00
3/4 RUBBER INSTALLATION X 1/2" X 6	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	75.00	2,700.00
3/8 COPPER ELBOW X 90	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	50.00	1,800.00
3/8 COPPER TUBE X 0.22 X 50	roll	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	1,712.00	61,632.00
3/8 FLARE NUT	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	27.00	972.00
3/8 RUBBER INSTALLATION X 1/2" X 6	pc	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	64.00	3,840.00
30 + 7 MF RUNNING CAPACITOR (DUAL)	pc	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	558.50	33,510.00
40 MF RUNNING CAPACITOR (SINGLE)	pc	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	642.00	38,520.00
5.0 TONS COMPRESSOR MOTOR	piece	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	27,000.00	1,620,000.00
5/16 COPPER TUBES	rolls	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	1,400.00	84,000.00
5/8 COPPER ELBOW X 90	pc	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	30.00	1,800.00
5/8 COPPER TUBE X 0.22 X 50	roll	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	2,782.00	166,920.00
5/8 FLARE NUT	pc	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	71.00	4,260.00
5/8 RUBBER INSTALLATION X 1/2" X 6	pc	6	6	6	6	6	6	6	6	6	6	6	6	6	6	60	84.50	5,070.00
50 + 7 MF RUNNING CAPACITOR (DUAL)	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	642.00	23,112.00
50 + 7 MF RUNNING CAPACITOR (SINGLE)	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	695.50	25,038.00
50 MF RUNNING CAPACITOR (SINGLE)	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	626.50	22,554.00
65 + 7.5 MF RUNNING CAPACITOR (DUAL)	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	770.50	27,738.00
65 + 7.5 MF RUNNING CAPACITOR (SINGLE)	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	770.50	27,738.00
7.5 MF RUNNING CAPACITOR (SINGLE)	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	476.25	17,145.00
7.5 TONS COMPRESSOR MOTOR	piece	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	53,000.00	1,908,000.00
ACETYLENE	tanks	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	14,200.00	340,800.00
BLOWER MOTOR	piece	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	12,000.00	288,000.00
BLOWER, big, Carrier or equivalent	piece	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	10,500.00	252,000.00
BLOWER, small, Carrier or equivalent	piece	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	8,000.00	192,000.00
BORAX	piece	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	120.00	2,880.00
BREAKER 30 AMPS WITH HOUSING (NEMA)	pc	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	1,085.00	26,040.00
BRONZE ROD	piece	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	35.00	840.00
CIRCUIT BREAKER 40 AMPS 3PH	pc	1	3	3	3	3	3	3	3	3	3	3	3	3	3	36	428.00	15,408.00
CIRCUIT BREAKER 60 AMPS 3PH	pc	1	3	3	3	3	3	3	3	3	3	3	3	3	3	36	867.00	31,212.00
CONDENSER FAN MOTOR 5/8 SHAFING	piece	3	3	3	3	3	3	3	3	3	3	3	3	3	3	36	6,580.00	236,880.00
COPPER WIRE	rolls	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	406.00	24,360.00
ELECTRICAL TAPE	pc	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	30.00	1,800.00
FAN BLADE	pc	1	2	2	2	2	2	2	2	2	2	2	2	2	2	24	3,200.00	76,800.00
FAN BLADE 21 INCH	pc	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	2,900.00	69,600.00
FAN BLADE 3-5 TOWER	pc	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	1,900.00	45,600.00
FAN MOTOR	pc	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	6,070.00	160,800.00
FILTER DRIER 1/2 X 1/2 FLARE TYPE	pc	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	588.50	14,124.00
FILTER DRIER 3/8 X 3/8 FLARE TYPE	pc	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	588.50	14,124.00
GAUGE MANIFOLD W/ LOSE	pc	1	2	2	2	2	2	2	2	2	2	2	2	2	2	24	2,800.00	67,200.00
IC RELAY	piece	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	3,500.00	42,000.00
MAGNETIC CONTACTOR 150 AMPS 440V 3PH	piece	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	5,700.00	68,400.00
MAGNETIC CONTACTOR 20 AMPS 220V 1PH	piece	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	1,800.00	21,600.00
MAGNETIC CONTACTOR 25 AMPS 220V 1PH	piece	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	1,200.00	14,400.00
MAGNETIC CONTACTOR 30 AMPS	units	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	700.00	8,400.00
MAGNETIC CONTACTOR 40 AMPS 220V 1PH	piece	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	1,200.00	14,400.00
MAGNETIC CONTACTOR 50 AMPS 440V 3PH	piece	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	2,400.00	28,800.00
MAGNETIC CONTACTOR 65 AMPS 440V 3PH	piece	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	3,600.00	43,200.00

MAPP GAS	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	36	548.70	19,845.20
MOTOR COMPRESSOR 3 TONS	units	3	3	3	3	3	3	3	3	3	3	3	3	3	36	14,000.00	504,000.00
NITROGEN (FREON / GAS)	tanks	3	3	3	3	3	3	3	3	3	3	3	3	3	36	3,859.00	138,924.00
OXYGEN (FREON / GAS)	tanks	3	3	3	3	3	3	3	3	3	3	3	3	3	36	4,540.00	163,440.00
POLYETHYLENE TAPE	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	36	187.00	6,732.00
R134a REFRIGERANT	tank	3	3	3	3	3	3	3	3	3	3	3	3	3	36	1,800.00	64,800.00
R141 REFRIGERANT 30 KG WITH ADAPTOR	drum	3	3	3	3	3	3	3	3	3	3	3	3	3	36	9,180.00	330,480.00
R22 FREON REFRIGERANT 22.7 KG	tank	3	3	3	3	3	3	3	3	3	3	3	3	3	36	9,255.00	333,195.00
SELECTOR SWITCH	piece	3	3	3	3	3	3	3	3	3	3	3	3	3	36	7,500.00	270,000.00
SILVER ROD	pc	3	3	3	3	3	3	3	3	3	3	3	3	3	36	21.90	774.00
THERMOSTAT for Split type - 3 tons	piece	3	3	3	3	3	3	3	3	3	3	3	3	3	36	900.00	32,400.00
THERMOSTAT for Window type	piece	3	3	3	3	3	3	3	3	3	3	3	3	3	36	450.00	16,200.00
TORCH (SMALL)	pc	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,089.00	0.00
Construction Supplies and Materials																	
310 BITUMINOUS CONCRETE SURFACE COARSE	MT	200	100	100	200	100	100	200	100	100	100	100	100	1500	4,810.00	6,915,000.00	
ACRIL COLOR RED	liter	100	100	100	100	100	100	100	100	100	100	100	100	1200	341.25	409,500.00	
ACRIL COLOR, Tonidine red	liter	100	100	100	100	100	100	100	100	100	100	100	100	1200	289.00	346,800.00	
ACRYLIC EMULSION	gals	100	100	100	100	100	100	100	100	100	100	100	100	1200	1,430.60	1,716,720.00	
ACRYLIC LAMP Black	can	100	100	100	100	100	100	100	100	100	100	100	100	1200	302.50	363,000.00	
ANGLE BAR 1/4 x 1 x 20	pc	100	100	100	100	100	100	100	100	100	100	100	100	1200	345.00	414,000.00	
ANGLE VALVE	piece	40	40	40	40	40	40	40	40	40	40	40	40	480	420.00	201,600.00	
ANGULAR BAR 1 1/2 x 1 1/2 x 3/16	piece	40	40	40	40	40	40	40	40	40	40	40	40	480	931.90	447,312.00	
ASPHALT	drums	40	40	40	40	40	40	40	40	40	40	40	40	480	10,195.00	4,893,600.00	
ASPHALT (READY MIX WITH PRIME COAT, TOP COAT, TOP FINISHING)	mt	40	40	40	40	40	40	40	40	40	40	40	40	480	4,510.00	2,212,800.00	
BARBED WIRE (100m)	rolls	40	40	40	40	40	40	40	40	40	40	40	40	480	3,919.10	1,881,168.00	
BTUMULUS SS-1	drums	0	0	0	0	0	0	0	0	0	0	0	0	0	10,130.00	0.00	
CEMENT	bag	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	24000	990.60	14,174,400.00	
CHB # 3	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	34.10	20,460.00	
COCC LUMBER 2X2X12	pcs	500	500	500	500	500	500	500	500	500	500	500	500	6000	275.60	1,653,600.00	
COCC LUMBER 2X3X12	pcs	500	500	500	500	500	500	500	500	500	500	500	500	6000	341.25	2,047,500.00	
COCC LUMBER 2X6X12	pcs	500	500	500	500	500	500	500	500	500	500	500	500	6000	275.60	1,653,600.00	
COMMON NAILS 1"	kilos	50	50	50	50	50	50	50	50	50	50	50	50	600	170.60	102,360.00	
COMMON NAILS 2"	kilos	60	60	60	60	60	60	60	60	60	60	60	60	720	170.60	122,832.00	
COMMON NAILS 3"	kilos	60	60	60	60	60	60	60	60	60	60	60	60	720	170.60	122,832.00	
COMMON NAILS 4"	kilos	60	60	60	60	60	60	60	60	60	60	60	60	720	170.60	122,832.00	
CONCRETE DRILL BIT	sets	30	30	30	30	30	30	30	30	30	30	30	30	360	350.00	126,000.00	
CONCRETE NAIL 3"	kilos	50	50	50	50	50	50	50	50	50	50	50	50	600	236.25	141,750.00	
CONCRETE NAIL 4"	kilos	50	50	50	50	50	50	50	50	50	50	50	50	600	236.25	141,750.00	
CUTTING DISC (FOR CUTTING OFF DISC #14")	piece	50	50	50	50	50	50	50	50	50	50	50	50	600	748.10	448,860.00	
CUTTING TIP #3	piece	50	50	50	50	50	50	50	50	50	50	50	50	600	185.00	111,000.00	
DOOR HINGE 3X3, Stanley or equivalent	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	65.60	39,360.00	
ELASTOMERIC GREEN	gals	40	40	40	40	40	40	40	40	40	40	40	40	480	714.48	342,955.20	
ELASTOMERIC PAINT	gals	40	40	40	40	40	40	40	40	40	40	40	40	480	7,331.80	3,519,168.00	
FADGET CHROME PLATED	pieces	50	50	50	50	50	50	50	50	50	50	50	50	600	236.15	141,690.00	
FIBER MAT	ks	0	0	0	0	0	0	0	0	0	0	0	0	0	307.10	0.00	
FLAT BARS 1/4 x 1 x 20	piece	100	100	100	100	100	100	100	100	100	100	100	100	1200	735.00	882,000.00	
FLAT ENAMEL	sn	100	100	100	100	100	100	100	100	100	100	100	100	1200	5,992.50	6,111,000.00	
FLAT ENAMEL (white) PAINT	gals	100	100	100	100	100	100	100	100	100	100	100	100	1200	1,351.90	1,622,280.00	
FLAT LATEX (VARIOUS COLORS)	gals	100	100	100	100	100	100	100	100	100	100	100	100	1200	475.00	570,000.00	

FLAT LATEX (WHITE) CANS	gals	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	1,202.25	1,442,700.00
G.T. PIPE 1X25-S40	pcs	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	1,102.50	1,323,000.00
G.T. PLAIN SHEET 10'x	pcs	50	40	40	40	40	40	40	40	40	40	40	40	40	40	480	1,102.50	540,225.00
G.T. PLAIN SHEET 4'x 8	pieces	40	40	40	40	40	40	40	40	40	40	40	40	40	40	480	1,963.00	937,440.00
G.T. SHEET 12'x	pcs	36	36	36	36	36	36	36	36	36	36	36	36	36	36	432	1,290.75	560,196.00
G.T. SHEET 26'x8	pcs	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	304.83	109,738.80
G.T. SHEET 8'x	pcs	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	808.25	326,970.00
G.T. STRAIGHT ELBOW 1"	pcs	30	30	30	30	30	30	30	30	30	30	30	30	30	30	360	89.86	32,582.00
GLOVES (LEATHER)	pc	40	40	40	40	40	40	40	40	40	40	40	40	40	40	480	120.00	57,600.00
GOOD LUMBER 1/2' x 2' x 10	pieces	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	223.19	267,720.00
GOOD LUMBER 1X2X8	pcs	100	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	125.00	150,000.00
GOOD LUMBER 2' x 2' x 12	pieces	150	150	150	150	150	150	150	150	150	150	150	150	150	150	1800	786.50	1,379,700.00
GOOD LUMBER 2' x 4' x 12	pieces	150	150	150	150	150	150	150	150	150	150	150	150	150	150	1800	856.25	1,181,250.00
GOOD LUMBER 2X4X10	pcs	180	180	180	180	180	180	180	180	180	180	180	180	180	180	2160	658.25	1,417,500.00
GOOD LUMBER 2X3X10	pcs	180	180	180	180	180	180	180	180	180	180	180	180	180	180	2160	971.35	2,097,900.00
GRAVEL	cu.m	300	300	300	300	300	300	300	300	300	300	300	300	300	300	3600	5,512.50	19,845,000.00
HARDENER	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,181.25	0.00
LACQUER THINNER	gals	80	80	80	80	80	80	80	80	80	80	80	80	80	80	960	748.10	718,176.00
LATEX PAINT (RED)	gals	80	80	80	80	80	80	80	80	80	80	80	80	80	80	960	971.25	932,400.00
NYLON ROPE (3/16)	rolls	80	80	80	80	80	80	80	80	80	80	80	80	80	80	960	1,023.75	982,800.00
PADLOCK (big)	set	80	80	80	80	80	80	80	80	80	80	80	80	80	80	960	1,181.25	1,134,000.00
PAINT BRUSH #3	pcs	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	131.25	315,000.00	
PAINT BRUSH #4	pcs	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	196.80	472,560.00	
PAINT STEEL PALLET	pieces	50	50	50	50	50	50	50	50	50	50	50	50	50	600	91.80	55,140.00	
PAINT THINNER	gals	50	50	50	50	50	50	50	50	50	50	50	50	50	600	630.00	378,000.00	
PATCHING COMPOUND	pieces	20	20	20	20	20	20	20	20	20	20	20	20	20	240	106.00	25,200.00	
PLYWOOD #1/2	pcs	20	20	20	20	20	20	20	20	20	20	20	20	20	240	1,443.75	346,500.00	
PLYWOOD #1/4	pcs	20	20	20	20	20	20	20	20	20	20	20	20	20	240	892.50	214,200.00	
PLYWOOD #3/4	pcs	30	30	30	30	30	30	30	30	30	30	30	30	30	360	2,263.75	822,150.00	
READYMIX CONCRETE	cu.m	30	30	30	30	30	30	30	30	30	30	30	30	30	360	4,500.00	1,620,000.00	
REBAR 10mm	pcs	40	40	40	40	40	40	40	40	40	40	40	40	40	480	430.50	206,640.00	
RESIN	pieces	40	40	40	40	40	40	40	40	40	40	40	40	40	480	5,347.10	2,566,608.00	
RIDGE ROLL	pcs	40	40	40	40	40	40	40	40	40	40	40	40	40	480	420.00	201,600.00	
ROLLER BRUSH #7	pcs	40	40	40	40	40	40	40	40	40	40	40	40	40	480	118.10	56,688.00	
ROLLER BRUSH #9	pcs	40	40	40	40	40	40	40	40	40	40	40	40	40	480	183.75	88,200.00	
SAND	sf	200	200	200	200	200	200	200	200	200	200	200	200	200	2400	3,675.00	8,820,000.00	
SAND PAPER	feet	100	100	100	100	100	100	100	100	100	100	100	100	100	1200	25.00	30,000.00	
SAND PAPER #100, 12"x12"	sheet	80	80	80	80	80	80	80	80	80	80	80	80	80	960	26.25	25,200.00	
SB 10 MM	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	525.00	63,000.00	
SB 12 MM	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	577.50	69,300.00	
SEALANT, VULCABEAL OR EQUIVALENT	liters	50	50	50	50	50	50	50	50	50	50	50	50	50	600	1,138.00	693,000.00	
STIKWELL OR EQUIVALENT	quarts	50	50	50	50	50	50	50	50	50	50	50	50	50	600	1,155.00	693,000.00	
STUFF ZAG	grams	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0.00	0.00
TIE WIRE	kilos	20	20	20	20	20	20	20	20	20	20	20	20	20	240	210.00	50,400.00	
TILE GROUT (WHITE)	kilos	25	25	25	25	25	25	25	25	25	25	25	25	25	300	183.75	55,125.00	
TILE TRIM	pieces	25	25	25	25	25	25	25	25	25	25	25	25	25	300	170.80	51,180.00	
TINTING COLOR	liters	30	30	30	30	30	30	30	30	30	30	30	30	30	360	350.00	113,400.00	
TUBULAR 1" x 1" x 6m GA 1.5	pieces	30	30	30	30	30	30	30	30	30	30	30	30	30	360	1,128.75	406,350.00	
UMBRELLA NAIL	kilos	30	30	30	30	30	30	30	30	30	30	30	30	30	360	210.00	75,600.00	
WELDING ROD	kgs	50	50	50	50	50	50	50	50	50	50	50	50	50	600	210.00	126,000.00	

BALLAST 40W	pcs	16	10	10	10	10	10	16	10	10	10	10	132	390.00	46,200.00	
BASE BRACKET 1/2"	pcs	100	100	100	100	100	50	30	50	50	100	100	950	370.10	351,595.00	
BUSHING REDUCER 1"X 3/4" LENGTH	pcs	16	17	17	17	17	17	16	17	16	17	16	17	200	41.05	8,210.00
CFL BULB (20W)	pcs	30	30	30	30	30	30	30	30	30	30	30	360	180.00	64,800.00	
CFL BULB (24W)	pcs	136	130	130	130	130	80	86	80	80	80	130	130	1322	590.00	779,980.00
CIRCUIT BREAKER (for MIS)	pcs	10	10	10	10	10	10	10	10	10	10	10	120	1,920.00	180,000.00	
CIRCUIT BREAKER 100A (BOLT-ON) 2 POLE	pcs	20	20	20	20	20	20	20	20	20	20	20	240	1,920.00	460,812.00	
CIRCUIT BREAKER 100A (NEMA 3R BOLT-ON) 2 POLE	pcs	30	30	30	30	25	25	25	25	30	25	30	335	10,860.00	3,638,100.00	
CIRCUIT BREAKER 100A (NEMA 3R BOLT-ON) 2 POLE	pcs	20	20	20	20	20	20	20	20	20	20	20	240	10,850.00	2,606,160.00	
CIRCUIT BREAKER 100A (PLUG IN TYPE)	pcs	20	20	20	20	20	20	20	20	20	20	20	240	6,547.00	1,571,280.00	
CIRCUIT BREAKER 100A INDUSTRIAL TYPE WINEMA 3R	pcs	30	30	30	30	30	30	30	30	30	30	30	360	4,150.00	1,494,000.00	
CIRCUIT BREAKER 100A NEMA 3R	pcs	20	20	20	20	20	20	20	20	20	20	20	240	1,242.00	298,080.00	
CIRCUIT BREAKER 100A PLUG IN TYPE	pcs	15	15	15	15	15	15	15	15	15	15	15	180	6,546.00	1,178,280.00	
CIRCUIT BREAKER 100amp (screw type) 3 phase	pieces	10	10	10	10	10	10	10	10	10	10	10	120	2,450.00	294,000.00	
CIRCUIT BREAKER 125-AMP 2 POLE	pcs	5	5	5	5	5	5	5	5	5	5	5	60	1,910.00	114,600.00	
CIRCUIT BREAKER 125-AMP 2 POLE INDUSTRIAL TYPE	pcs	5	5	5	5	5	5	5	5	5	5	5	60	17,900.15	1,074,009.00	
CIRCUIT BREAKER 150A 9 BOLT ON INDUSTRIAL TYPE WINEMA 3R	pcs	5	5	5	5	5	5	5	5	5	5	5	60	18,468.00	1,108,080.00	
CIRCUIT BREAKER 15Amp (screw type) 3 phase	pieces	10	10	10	10	10	10	10	10	10	10	10	120	910.00	109,200.00	
CIRCUIT BREAKER 200A NEMA 3R, 2POLE	pcs	12	12	12	12	12	10	12	10	12	12	12	138	10,015.25	1,382,104.50	
CIRCUIT BREAKER 20A (NEMA BOLT ON)	pcs	10	10	10	10	10	10	10	10	10	10	10	120	350.00	42,000.00	
CIRCUIT BREAKER 20A (PLUG IN TYPE 2 POLE)	pcs	17	17	17	17	17	15	17	17	17	17	17	15	200	2,800.00	560,000.00
CIRCUIT BREAKER 225A 9 BOLT ON INDUSTRIAL TYPE WINEMA 3R	pcs	12	12	12	12	12	10	12	10	12	12	12	138	21,590.00	2,979,420.00	
CIRCUIT BREAKER 30A (NEMA BOLT ON)	pcs	20	20	20	20	20	20	20	20	20	20	20	240	260.00	86,400.00	
CIRCUIT BREAKER 30Amp (screw type) 3 phase	pieces	20	20	20	20	20	20	20	20	20	20	20	240	910.00	218,400.00	
CIRCUIT BREAKER 30Amp Plug-In Type	pieces	24	24	24	24	24	20	24	24	24	24	24	280	1,500.00	420,000.00	
CIRCUIT BREAKER 40A (BOLT ON) 2 POLE	pcs	20	20	20	20	20	20	20	20	20	20	20	240	428.00	102,720.00	
CIRCUIT BREAKER 40Amp (screw type) 3 phase	pieces	10	10	10	10	10	10	10	10	10	10	10	120	1,120.00	134,400.00	
CIRCUIT BREAKER 60A (BOLT ON) 2 POLE	pcs	20	20	20	20	15	15	15	15	20	20	15	20	215	990.01	212,852.15
CIRCUIT BREAKER NEMA 3R30A (PLUG-IN) 2 POLE	sets	15	15	15	15	15	15	15	15	15	15	15	180	1,508.01	271,441.80	
CIRCUIT BREAKER NEMA 3R60A (PLUG-IN) 2 POLE	sets	15	15	15	15	15	15	15	15	15	15	15	180	3,990.00	711,000.00	
CIRCUIT BREAKER: CHINT DZE47-60, C50 1ph	pieces	10	10	10	10	10	10	10	10	10	10	10	120	750.00	90,000.00	
CIRCUIT BREAKER: CHINT NM1-100S / 3300, IN=63A, 3ph	pieces	10	10	10	10	10	10	10	10	10	10	10	120	8,000.00	1,080,000.00	
CIRCUIT BREAKER: CHINT NM1-225S / 3300, IN=180A, 3ph	pieces	10	10	10	10	10	10	10	10	10	10	10	120	15,000.00	1,800,000.00	
CIRCUIT BREAKER: CHINT NM1-400S / 3300, IN=315A, 3ph	pieces	10	10	10	10	10	10	10	10	10	10	10	120	35,000.00	3,000,000.00	
CIRCUIT BREAKER: CHINT NM1-400S / 3300, IN=400A, 3ph	pieces	10	10	10	10	10	10	10	10	10	10	10	120	36,000.00	4,320,000.00	
CIRCUIT BREAKER: CHINT NM-225 / 3300, IN=125A, 3ph	pieces	10	10	10	10	10	10	10	10	10	10	10	120	18,000.00	2,160,000.00	
CIRCUIT BREAKER: CHINT NM-225 / 3300, IN=200	pieces	10	10	10	10	10	10	10	10	10	10	10	120	5,000.00	600,000.00	
CONVENTIONAL OUTLET, National or equivalent	pcs	20	20	20	20	20	20	20	20	20	20	20	240	102.50	24,480.00	
DOUBLE SPOOL INSULATOR (secondary rock)	pcs	8	8	8	8	8	8	8	8	8	8	8	96	950.00	91,200.00	
DUPLEX CONVENIENCE OUTLET	pcs	20	20	20	20	20	20	20	20	20	20	20	240	208.00	50,160.00	
ELECTRIC WIRE 60 MM THHN	Meters	30	30	30	30	30	30	30	30	30	30	30	360	972.00	350,028.00	
ELECTRICAL TAPE, BIO	pcs	77	71	71	71	71	71	77	71	71	71	71	864	80.00	69,120.00	
ELECTRICAL TAPE, GREEN	pcs	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
ELECTRICAL TAPE, RED	pcs	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
ELECTRICAL TAPE, SMALL	pcs	30	30	30	30	30	30	30	30	30	30	30	360	29.75	10,710.00	
ELECTRICAL TAPE, YELLOW	pcs	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
ELECTRONIC IGNITOR, 70-400V 220V-60Hz, Eurolux or equivalent	pcs	0	0	0	0	0	0	0	0	0	0	0	0	880.00	0.00	
ENTRANCE CAP 1 1/2" Ø	pcs	15	15	15	15	15	15	15	15	15	15	15	180	270.01	48,601.80	
ENTRANCE CAP 1" Ø	pcs	25	25	25	25	20	20	20	20	20	20	20	240	145.01	37,702.60	

ENTRANCE CAP 2" Ø	pcs	20	20	17	20	17	15	18	20	18	18	18	15	212	295.02	62,544.24
ENTRANCE CAP 3/4" Ø	pcs	17	17	17	17	17	17	17	17	17	17	17	17	204	145.01	29,582.04
EXPOSE TYPE OUTLET	pcs	15	15	15	15	15	15	15	15	15	15	15	15	180	150.00	27,000.00
FLAT CORD, 14"	rolls	20	20	20	20	20	20	20	20	20	20	20	20	240	8,000.00	1,920,000.00
FLOAT VALVE, Bernard model #750-66 atleast 10 PSI	set	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00
FLOURESCENT HOLDER W/ STARTER HOLDER	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	70.00	8,400.00
FLOURESCENT LAMP 20W	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	95.00	11,400.00
FLOURESCENT LAMP 20W SLIM	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	295.00	34,200.00
FLOURESCENT LAMP 40W	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	551.00	66,120.00
GOOSENECK 1/2"	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	214.00	128,400.00
GROUND ROD 5/8 X 8' (GALVANIZED)	pcs	13	13	13	14	13	13	13	14	13	13	13	14	159	1,855.01	294,946.59
HIGH PRESSURE SODIUM LAMP (250 WATTS)	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	1,936.02	1,161,612.00
IGNITOR CD-2A HPS 100-400W	pcs	20	20	20	20	20	10	10	20	20	20	20	20	220	945.05	207,911.00
JUNCTION BOX	pcs	15	15	15	15	15	15	15	15	15	15	15	15	180	130.00	23,400.00
LONG ELBOW 3/4"	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	192.00	0.00
MAGNETIC CONDUCTOR 220 V, Fuji SC-0 or equivalent	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
MAGNETIC CONTACTOR SC-N1	pcs	12	14	14	14	12	12	12	12	12	12	12	12	150	3,875.01	581,251.50
MAGNETIC CONTACTOR SC-N10	pcs	1	2	2	2	1	0	0	0	0	0	0	0	8	27,390.10	219,120.80
MAGNETIC CONTACTOR SC-N2S	pcs	8	8	8	8	8	8	8	8	8	8	8	8	100	6,180.01	618,001.00
MALE PLUG (HEAVY DUTY)	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	69.99	16,799.40
MALLEABLE CLAMP 1 1/2" DIAMETER	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	32.01	7,682.40
MALLEABLE CLAMP 1" DIAMETER	pcs	14	14	14	14	14	15	14	14	14	14	14	14	170	21.10	3,587.00
MALLEABLE CLAMP 2" DIAMETER	pcs	15	15	15	15	15	15	15	15	15	15	15	15	180	64.01	11,521.80
MALLEABLE CLAMP 3/4" DIAMETER	pcs	14	14	14	14	14	15	14	14	14	14	14	14	170	12.02	2,043.40
MERCURY BULB, 160W	pcs	30	30	30	30	30	30	30	30	30	30	30	30	360	230.00	82,800.00
MERCURY BULB, 500W	pcs	130	80	130	80	130	80	130	80	130	80	130	80	1260	790.00	945,000.00
METAL CHAIN #8	#	0	0	0	0	0	0	0	0	0	0	0	0	0	680.00	0.00
METAL CLAMP 1"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	20.00	2,400.00
METAL CLAMP 3/4"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	12.00	1,440.00
METAL HALIDE LAMPS 150W/B40	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	4,500.00	540,000.00
MOGUL SOCKET (ORDINARY) E27	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	245.01	58,802.40
MOGUL SOCKET (500W)	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	952.00	228,480.00
NIPPLE 1"ØX4" LENGTH	pcs	12	12	12	12	12	12	12	12	12	12	12	12	144	74.52	10,730.88
NIPPLE 2"ØX8" LENGTH	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	215.01	25,801.20
NIPPLE 3/4"ØX4" LENGTH	pcs	12	12	12	12	12	12	12	12	12	12	12	12	144	21.42	3,084.48
ORDINARY SOCKET # 4, Porcelain	pcs	15	15	15	15	15	15	15	15	15	15	15	15	180	1,500.00	270,000.00
OUTLET	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	117.50	28,200.00
OUTLET, heavy duty	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	350.00	84,000.00
OVERLOAD RELAY Current rating: 1.7 to 3.5 A Brand: FUJI Electric	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	700.00	0.00
PANEL BOARD 12" X 24" X 8"	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	5,648.90	1,355,256.00
PANEL BOARD 14" X 24" X 8"	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	6,678.45	1,602,828.00
PANEL BOARD 4 BRANCHES INDUSTRIAL SCREW TYPE	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	1,450.00	348,000.00
PANEL BOARD 4 BRANCHES INDUSTRIAL SCREW TYPE, MAIN	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	9,626.00	2,310,240.00
PANEL BOARD 6 BRANCHES PLUG-IN TYPE 100 AMP, MAIN PLUG-IN 2 POLE	pcs	23	23	23	23	23	23	23	23	23	23	23	23	270	5,230.00	1,414,260.00
PHOTO CELL	pcs	63	63	63	63	63	63	63	63	63	63	63	63	756	879.01	739,375.56
PHOTO RECEPTACLE W/ BRACKET	pcs	52	52	52	52	52	52	52	52	52	52	52	52	624	1,270.00	792,480.00
PLATE COVER, 2 GANG	pcs	20	20	20	20	20	20	20	20	20	20	20	20	240	63.96	15,350.40
PLATE COVER, SINGLE	pcs	10	10	10	10	10	10	10	10	10	10	10	10	120	63.96	7,675.20

PRE FABRICATED LAMP POST inclusive of installation	units	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	15,000.00	0.00
PULL BOX10" X 12" X 6" METAL BODY	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	7,599.68	911,961.60
PVC 2"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	175.00	21,000.00
PVC ADAPTOR 1" Ø	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	30.00	3,600.00
PVC ADAPTOR 1/2"Ø	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	18.00	2,160.00
PVC ADAPTOR 2"Ø	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	125.00	15,000.00
PVC ADAPTOR 3/4"Ø	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	20.00	2,400.00
PVC CLAMP 1"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	6.00	720.00
PVC CLAMP 1/2"Ø	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	4.00	480.00
PVC CLAMP 3/4"	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	5.00	900.00
PVC ELBOW 1"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	34.98	4,197.60
PVC ELBOW 1/2" DIAMETER	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	19.99	2,398.80
PVC ELBOW 3/4" DIAMETER	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	29.95	3,594.00
PVC GLUE	quarts	11	11	11	11	11	11	11	11	11	11	11	11	11	11	11	10	130	200.00	26,000.00
PVC JUNCTION BOX	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	27.75	4,995.00
PVC LONG ELBOW 2"	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	125.00	22,500.00
PVC PIPE 1" Ø ELECTRICAL	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	292.31	52,561.80
PVC PIPE 1/2" DIAMETER	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	119.93	21,587.40
PVC PIPE 2 1/2" (75mm), ELECTRICAL	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	1,290.30	230,454.00
PVC PIPE 2", ELECTRICAL	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	369.00	64,800.00
PVC PIPE 3", ELECTRICAL	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	360.00	64,800.00
PVC PIPE 3/4" DIAMETER	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	169.51	30,583.80
PVC SHORT ELBOW 1" Ø (ELECTRICAL)	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	60.52	16,203.60
PVC SHORT ELBOW 1/2" Ø (ELECTRICAL)	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	32.51	5,851.80
PVC SHORT ELBOW 3/4" Ø (ELECTRICAL)	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	45.00	8,100.00
PVC TEE CONNECTOR 1/2"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	15.00	1,800.00
PVC UTILITY BOX	pcs	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	19.75	4,740.00
REFLECTOR DOME 18"	pcs	110	110	110	110	110	110	110	110	110	110	110	110	110	110	110	110	1070	2,834.00	2,818,380.00
RSC PIPE 1 1/2" DIAMETER	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	1,399.23	167,907.60
RSC PIPE 1"Ø	pcs	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	550.00	110,000.00
RSC PIPE 2"Ø	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	1,459.18	214,382.74
RSC PIPE 3/4"Ø	pcs	22	22	22	22	22	22	22	22	22	22	22	22	22	22	22	22	264	563.00	148,632.00
RUBBER PLUG, heavy duty	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	39.75	7,155.00
RUBBER TAPE	rolls	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	30	320	120.00	38,400.00
SCREW PIN INSULATOR 2"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	190.01	22,801.20
SINGLE SPOOL INSULATOR W/ BALL INSULATOR	pcs	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	15	180	193.02	34,743.60
SJT DRON WIRE 3 X 1.25MM2	buss	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,325.44	0.00
SN 58 IGNITOR 100-800W	pcs	16	17	17	16	17	17	17	18	17	17	16	17	17	17	17	17	200	1,080.01	216,002.00
SOLDER LESS CONNECTOR#1 38 MM2	pcs	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	144	260.00	37,440.00
SOLDER LESS CONNECTOR#2 30 MM2	pcs	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	144	180.00	25,920.00
SOLDER LESS CONNECTOR#3 60 MM2	pcs	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	144	300.00	43,200.00
SOLDER LESS CONNECTOR#4 22 MM2	pcs	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	12	144	160.00	23,040.00
SOLDERING IRON, 40W	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	330.00	19,800.00
SOLDERING LEAD	rolls	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	60	289.84	17,390.40
STARTER	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	52.00	6,240.00
SUBMETER	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	799.55	95,946.00
SWITCH	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	70.00	8,400.00
TERMINAL LUG	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	794.01	95,281.20
THN WIRE #2/0 blue	Meters	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	390.00	46,800.00
THN WIRE #2/0 red	Meters	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	10	120	390.00	46,800.00

THN WIRE #2/0 white	Meters	10	10	10	10	10	10	10	10	10	10	10	10	10	120	390.00	46,800.00
THN WIRE 3.5mm	box	10	10	10	10	10	10	10	10	10	10	10	10	10	120	4,683.00	561,960.00
TW WIRE (2.0 mm2) Solid Wire	boxes	10	10	10	10	10	10	10	10	10	10	10	10	10	120	3,520.00	422,400.00
UNIVERSAL OUTLET 2 GANG WITH PLATE	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	600.00	60,000.00
UTILITY BOX COVER	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	250.00	30,000.00
UTILITY BOX SCREW 2"	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	200.00	24,000.00
UTILITY BOX, DEEP TYPE	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	108.00	13,080.00
UTILITY BOX SURFACE TYPE	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	100.00	12,000.00
V-BELT 1150	piece	10	10	10	10	10	10	10	10	10	10	10	10	10	120	1,020.00	122,400.00
V-BELT A-53	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
V-BELT B-41	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	560.00	0.00
WHITE 30x30	boxes	0	0	0	0	0	0	0	0	0	0	0	0	0	0	938.00	0.00
Motor Vehicles																	
ALV	units	0	20	0	0	0	0	0	0	0	0	0	0	0	20	950,000.00	19,000,000.00
COASTER, 30 seater	units	0	1	0	0	0	0	0	0	0	0	0	0	0	1	4,016,800.00	4,016,800.00
MPV, JMC or Equivalent	units	0	2	0	0	0	0	0	0	0	0	0	0	2	870,000.00	1,740,000.00	
PANORAMIC VAN, JMC or Equivalent	units	0	3	0	0	0	0	0	0	0	0	0	0	3	960,000.00	2,880,000.00	
Pick Up 4x2	units	0	6	0	0	0	0	0	0	0	0	0	0	6	1,500,000.00	9,000,000.00	
Pick Up Back to Back	units	0	7	0	0	0	0	0	0	0	0	0	0	7	1,400,000.00	9,800,000.00	
Tourist Bus, Hyundai or Equivalent	units	0	3	0	0	0	0	0	0	0	0	0	0	3	5,800,000.00	17,400,000.00	
Truck (Close Van Type) JMC or Equivalent	units	0	2	0	0	0	0	0	0	0	0	0	0	2	1,400,000.00	2,800,000.00	
Passenger Van, Chevy G22L or Equivalent	units	0	15	0	0	0	0	0	0	0	0	0	0	15	600,000.00	9,000,000.00	
Motorcycle, at least 130	units	0	8	0	0	0	0	0	0	0	0	0	0	8	118,500.00	932,000.00	
Motorcycle, at least 155	units	0	10	0	0	0	0	0	0	0	0	0	0	10	115,000.00	1,150,000.00	
Motorcycle, 200 cc	units	0	0	15	0	0	0	0	0	0	0	0	0	15	200,000.00	3,000,000.00	
<p>Amulance with the following minimum specifications: Cabin: Passenger Type Seater, 4 Cycle-In-Line Turbo Diesel Injection Diesel Engine, 2.8 L/hrs, Max Output 67psd/4000rpm, Max Torque 198 Nm/2000 rpm, GVW 3,000kg Payload Capacity, reconfiguring seat and rest with Power Assisted Steering, 5-speed Manual Transmission. Warranty: 24 months or 50,000 kilometers whichever comes first. Price is inclusive of the following: (1) Lighting: Red and White LED Blinker at the roof top with siren and public address system, Fluorescent Light, and High level strobe lights at the front and rear end of the unit. (2) 1 pc. Fire extinguisher, fire. (3) 1 pc. Portable oxygen tank with holder. (4) Oxygen tank gauge regulator, defumulator with head controls. (5) Amulance with resuscitator, adult and pediatric combination. (6) Portable hand-held handgrip. (7) Mirror first aid kit including bag. (8) Mirror surgical kit with bag. (9) Medical cabinet. (10) Two seater with provisions for medical supplies storage(11) Foisted Window glass fire. (12) Wall mounted BP Apparatus with sphygmomanometer. (13) Fully collapsible ambulance stretcher with hoisting system(14) Customization of the unit (15) 1 V. holder and(16) 3 seater side bench with seatbelt with provisions for medical supplies storage under seat</p>																	
	units	0	0	2	0	0	0	0	0	0	0	0	0	0	2	1,771,888.58	3,543,777.16
Tow Truck	units	0	0	1	0	0	0	0	0	0	0	0	0	1	1,580,000.00	1,580,000.00	
Fire Truck	units	0	0	1	0	0	0	0	0	0	0	0	0	1	3,500,000.00	3,500,000.00	
Backhoe, Hyundai or equivalent	units	0	0	1	0	0	0	0	0	0	0	0	0	1	6,443,450.00	6,443,450.00	
Manlift	units	0	0	1	0	0	0	0	0	0	0	0	0	1	880,000.00	880,000.00	
Truck Drop Side, Isuzu or equivalent	units	0	0	1	0	0	0	0	0	0	0	0	0	1	1,036,412.00	1,036,412.00	
Jack Hammer, Atlas Copco or equivalent	units	0	0	1	0	0	0	0	0	0	0	0	0	1	165,000.00	165,000.00	
Portable Air Compressor, Atlas Copco or equivalent	units	0	0	1	0	0	0	0	0	0	0	0	0	1	931,550.00	931,550.00	

Vehicle Spare Parts																
12 VOLTS 4L (YTX4L-BS BATTERY)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00
12 VOLTS 4H	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,100.00	26,400.00
12 VOLTS 5L	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,150.00	27,600.00
12 VOLTS 7N	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,450.00	34,800.00
12 VOLTS 9N	Pieces	0	5	5	4	0	0	3	2	2	1	1	1	24	2,100.00	50,400.00
134 A OIL	Bottles	0	5	5	5	0	0	2	2	2	1	1	1	24	250.00	6,000.00
2 PCS. TIRE TUBE (for Kawasaki CT-100)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	400.00	9,600.00
2 PCS. TIRE TUBE (for SHINJU 150)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	400.00	9,600.00
2 PCS. TIRE (for Honda vt 200)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,200.00	76,800.00
2 PCS. TIRE (for Kawasaki CT-100)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,450.00	34,800.00
2 PCS. TIRE (for Kawasaki rouser)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	400.00	9,600.00
2 PCS. TIRE (for Shinn 150)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	400.00	9,600.00
2D BATTERY	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	7,200.00	172,800.00
8D BATTERY	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,100.00	194,400.00
ADJUSTABLE WRENCH (12 INCHES)	Pieces	0	5	5	4	0	0	3	2	2	1	1	1	24	522.00	12,528.00
ADJUSTABLE WRENCH (8 INCHES)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	282.00	6,768.00
AIR CLEANER (CHANA OR EQUIVALENT)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	400.00	9,600.00
AIR CLEANER (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	390.00	9,360.00
AIR CLEANER ELEMENTS (FAWTRUCK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,787.30	42,900.00
AIR CLEANER ELEMENTS (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	350.00	8,400.00
AIR FILTER (HYUNDAI STAREX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
AIR FILTER (TOYOTA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,900.00	69,600.00
AIR FILTER (Cater Fax Truck)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,290.00	30,960.00
AIR FILTER (Foton Ambulance)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,600.00	38,400.00
AIR FILTER (HONDA CMV, CTY)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	960.00	23,040.00
AIR FILTER (ISUZU DMAX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,820.00	43,680.00
AIR FILTER (Isuzu NKR)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,820.00	43,680.00
AIR FILTER (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	880.00	21,120.00
AIR FILTER (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,050.00	25,200.00
AIR FILTER (MAZDA 3)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	880.00	21,120.00
AIR FILTER (SUZUKI MULTICAB)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	670.00	16,080.00
AIR FILTER (TOYOTA INNOVA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	860.00	20,640.00
AIR FILTER (Toyota Rev)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
AIR FILTER(FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	420.00	10,080.00
AIR FILTER(KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	860.00	20,400.00
AIR FILTER(VIOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	960.00	23,040.00
AIRCON BELT (Foton Ambulance)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	700.00	16,240.00
AIRCON BELT (ISUZU DMAX)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	520.00	12,480.00
AIRCON BELT (Isuzu NKR)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	520.00	12,480.00
AIRCON BELT (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	475.00	11,400.00
AIRCON BELT(FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	450.00	10,800.00
AIRCON BELT(TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	400.00	9,600.00
AIRCON COMPRESSOR ASSEMBLY (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	7,500.00	180,000.00
AIRCON COMPRESSOR ASSY (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	6,500.00	156,000.00
AIRCON DISCHARGE HOSE W/PPINGS (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	875.00	21,000.00
AIRCON FLEXIBLE HOSE (CHANA OR EQUIVALENT)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	350.00	7,920.00
AIRCON FLEXIBLE HOSE (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	350.00	8,400.00
AIRCON TENSIONER BEARING ASSY. (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	815.00	19,560.00
ALTERNATOR 4DRS	units	0	5	5	5	0	0	2	2	2	1	1	1	24	10,000.00	240,000.00

ALTERNATOR ASSEMBLY (ISUZU DMAX)	pcs	0	5	5	0	0	0	5	4	2	1	1	1	24	10,000.00	240,000.00
ALTERNATOR ASSEMBLY (ISUZU MINI DUMPTRUCK)	Sets	0	2	0	0	0	0	0	0	0	0	0	0	2	8,700.00	17,400.00
ALTERNATOR ASSEMBLY (Isuzu NPR)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	10,000.00	240,000.00
ALTERNATOR ASSY (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,300.00	79,200.00
ALTERNATOR ASSY(WA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,800.00	211,200.00
ALTERNATOR BELT (Foton Ambulance)	belt	0	5	5	5	0	0	2	2	2	1	1	1	24	700.00	16,800.00
ALTERNATOR FANBELT (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	380.00	9,120.00
ALTERNATOR FLEXIBLE HOSE (WA KC)	Mts	0	5	5	5	0	0	2	2	2	1	1	1	24	750.00	18,000.00
ANGULAR BAR (MINI FIRE TRUCK)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	6,480.00	155,520.00
ANGULAR BAR 14X30X20 (MINI FIRE TRUCK)	pcs	0	12	12	12	0	0	5	5	5	3	3	3	60	2,950.00	177,000.00
AUTO FUSE 60AMP	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
AUTO FUSE (15A)	pcs	0	5	5	5	0	0	2	2	2	1	1	1	24	20.00	480.00
AUTO FUSE (20A)	pcs	0	5	5	5	0	0	2	2	2	1	1	1	24	20.00	480.00
AUTO FUSE (25A)	pcs	0	5	5	5	0	0	2	2	2	1	1	1	24	20.00	480.00
AUTO FUSE 30AMP	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	20.00	480.00
AUTO FUSE 40AMP	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
AUTO FUSE 50AMP	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	15.00	360.00
AUTO WIRE #10 (30 METRS)	Rolls	0	5	5	5	0	0	2	2	2	1	1	1	24	1,000.00	24,000.00
AUTO WIRE #12(30 METERS)	Rolls	0	5	5	5	0	0	2	2	2	1	1	1	24	1,120.00	26,880.00
AUTO WIRE #14 (30 METERS)	Rolls	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00
AUTO WIRE #16 (30 METERS)	Rolls	0	5	5	5	0	0	2	2	2	1	1	1	24	670.00	16,080.00
AXLE BEARING (CHANA OR EQUIVALENT)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	350.00	8,400.00
AXLE BEARING (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	850.00	20,400.00
AXLE BEARING (ISUZU DMAX)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	1,020.00	24,480.00
AXLE BEARING (Isuzu NPR)	belt	0	5	5	5	0	0	2	2	2	1	1	1	24	1,950.00	47,400.00
AXLE BEARING (WA KC)	belt	0	5	5	5	0	0	2	2	2	1	1	1	24	750.00	18,000.00
AXLE BEARING (MILITARY TRUCK)	PCS	0	8	8	8	0	0	3	3	3	1	1	1	36	450.00	16,200.00
AXLE BEARING (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
AXLE BEARING LOCK (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	900.00	21,600.00
AXLE BEARING LOCK (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	980.00	23,520.00
AXLE BEARING LOCK (ISUZU DMAX)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	620.00	14,880.00
AXLE BEARING LOCK (Isuzu NPR)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	620.00	14,880.00
AXLE BEARING REAR (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,920.00	46,080.00
AXLE BOOTS INNER (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	275.00	6,600.00
AXLE BOOTS OUTER (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	275.00	6,600.00
AXLE BOOTS OUTER(VIOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	840.00	20,160.00
AXLE LOCK (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	780.00	18,720.00
AXLE LOCK (MILITARY TRUCK)	PCS	0	8	8	8	0	0	3	3	3	1	1	1	36	200.00	7,200.00
AXLE LOCK (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	720.00	17,280.00
AXLE OIL SEAL (ISUZU DMAX)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	530.00	12,720.00
AXLE OIL SEAL (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	288.00	6,912.00
AXLE OIL SEAL (Isuzu NPR)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	920.00	22,080.00
AXLE OIL SEAL (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	520.00	12,480.00
BACK DOOR GLASS (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,400.00	201,600.00
BACK DOOR MECHANISM (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,440.00	34,560.00
BALL HAMMER (SMALL)	Pieces	0	8	0	8	0	0	3	3	3	1	1	1	36	240.00	8,640.00
BALL JOINT (FORD YNG)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	650.00	15,600.00
BATTERY	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	650.00	15,600.00
BATTERY 12v. for Honda xlr 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	650.00	15,600.00
BATTERY 12v. for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	400.00	9,600.00

BATTERY 12V for Kawasaki router	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	890.00	22,600.00
BATTERY 12V for Shiny 160	piece	0	5	5	0	0	0	5	4	2	1	1	1	24	1,000.00	24,000.00
BATTERY 15N	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,700.00	88,800.00
BATTERY 29M	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	4,450.00	105,600.00
BATTERY 33M	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	4,850.00	116,400.00
BATTERY 33M	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,400.00	153,600.00
BATTERY 33M	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,800.00	163,200.00
BATTERY 33M 4DRS	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,800.00	163,200.00
BATTERY CABLE	Meters	0	5	5	5	0	0	2	2	2	1	1	1	24	260.00	6,720.00
BATTERY CABLE (KIA KC2700)	Meters	0	5	5	5	0	0	2	2	2	1	1	1	24	250.00	6,000.00
BATTERY LOG	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	50.00	1,200.00
BATTERY REALY (MILITARY TRUCK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	43,000.00
BATTERY TERMINAL	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	75.00	1,800.00
BATTERY TERMINAL (KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	120.00	2,880.00
BEAM KINGPIN BUSHING KIT (Center Fire Truck)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	4,250.00	100,800.00
BEARING LOCK (CHANA OR EQUIVALENT)	pcs	0	5	5	5	0	0	2	2	2	1	1	1	24	150.00	3,600.00
BEARING LOCK (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	550.00	13,200.00
BELL REDUCE 3X2 (MINI FIRE TRUCK)	pcs	0	12	12	12	0	0	5	5	5	3	3	3	60	1,800.00	108,000.00
BELOSHY BOOTS INNER(WOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	840.00	20,160.00
BENCH VISE	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	6,660.00	160,320.00
BEND DRIF, for Kawasaki router	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
BIG LIFT SPRING BUSHING (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	200.00	4,800.00
BIG LIFT SPRING BUSHING (Toyota Revd)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	510.00	12,240.00
BLOCK	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,000.00	24,000.00
BOX WRENCH (MM TO 32MM)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	4,800.00	118,080.00
BRAKE CABLE (FRONT) for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	95.00	2,280.00
BRAKE CABLE (REAR) for Shiny 150	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	100.00	2,400.00
BRAKE CALIPER ASSEMBLY (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,500.00	84,000.00
BRAKE CALIPER ASSY (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,800.00	91,200.00
BRAKE CYLINDER ASSY (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,100.00	50,400.00
BRAKE CYLINDER FRONT (KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,800.00	67,200.00
BRAKE CYLINDER REAR (KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,625.00	63,000.00
BRAKE CYLINDER RUBBER CLIP (FAWTRUCK)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	803.50	21,484.00
BRAKE CYLINDER RUBBER CLIP (FAWTRUCK)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	920.00	22,080.00
BRAKE CYLINDER RUBBER CLIPS (TOYOTA REV'D)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	35.00	840.00
BRAKE DRUM L/R (KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,125.00	75,000.00
BRAKE FLEXIBLE HOSE (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,063.00	25,512.00
BRAKE LEVER (LEFT) for Shiny 150	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	60.00	1,440.00
BRAKE LEVER (RIGHT) for Shiny 150	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	60.00	1,440.00
BRAKE LEVER, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	60.00	1,440.00
BRAKE MASTER ASSEMBLY (CHANA OR EQUIVALENT)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,900.00	93,600.00
BRAKE MASTER ASSEMBLY (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,750.00	42,000.00
BRAKE MASTER ASSEMBLY (FAWTRUCK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,250.00	78,000.00
BRAKE MASTER ASSEMBLY (TOW TRUCK)	Pieces	0	12	12	12	0	0	5	5	5	3	3	3	60	4,500.00	270,000.00
BRAKE MASTER ASSEMBLY (TOYOTA REV'D)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,450.00	35,600.00
BRAKE MASTER ASSY (FAW TRUCK)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	2,800.00	67,200.00
BRAKE MASTER ASSY (HISUZU DMMQ)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	5,400.00	129,600.00
BRAKE MASTER ASSY (HISUZU NRP)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	5,400.00	129,600.00
BRAKE MASTER ASSY (KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,125.00	75,000.00
BRAKE MASTER KIT (FORD RANGERO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,440.00	34,560.00
BRAKE MASTER REPAIR KIT (TOYOTA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,600.00	62,400.00

BRAKE PAD (TOYOTA BACK TO BACK)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	2,150.00	51,600.00
BRAKE PAD - FRONT (HYUNDAI STAREX)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	2,100.00	50,400.00
BRAKE PAD - REAR (HYUNDAI STAREX)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	2,200.00	52,800.00
BRAKE PAD (FRONT), for Kawasaki rouser	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,600.00	24,000.00
BRAKE PAD (FRONT), for Shining 150	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,600.00	24,000.00
BRAKE PAD (SUZUKI BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00
BRAKE PAD (SUZUKI MULTICAB)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,100.00	26,400.00
BRAKE PAD (TOYOTA ALTIS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,150.00	51,600.00
BRAKE PAD (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,220.00	31,680.00
BRAKE PAD (MOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	23,040.00
BRAKE PADS (HONDA CIVIC CITY)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	720.00	17,280.00
BRAKE PADS (SUZUKI DMAX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00
BRAKE PADS (Isuzu NRG)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00
BRAKE PADS (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,280.00	31,200.00
BRAKE PADS (KIA SEDONA)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	900.00	21,600.00
BRAKE PADS (TOYOTA INNOVA)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	2,880.00	64,320.00
BRAKE PADS (FORD RANGER)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	1,440.00	34,680.00
BRAKE ROD, for Honda dr 200	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,000.00	24,000.00
BRAKE ROD, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	1,500.00	24,000.00
BRAKE ROD, for Kawasaki rouser	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,000.00	24,000.00
BRAKE SHOE (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,440.00	58,560.00
BRAKE SHOE (FORD RANGER)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	1,849.00	46,276.00
BRAKE SHOE (Polon Ambulance)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,400.00	57,600.00
BRAKE SHOE (FRONT), for Kawasaki CT-100	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
BRAKE SHOE (HONDA CIVIC CITY)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	780.00	18,720.00
BRAKE SHOE (SUZUKI BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,350.00	32,400.00
BRAKE SHOE (SUZUKI DMAX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,480.00	35,520.00
BRAKE SHOE (Isuzu NRG)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,400.00	33,600.00
BRAKE SHOE (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,590.00	38,160.00
BRAKE SHOE (KIA SEDONA)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	1,500.00	36,000.00
BRAKE SHOE (REAR), for Kawasaki CT-100	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
BRAKE SHOE (REAR), for Kawasaki rouser	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	120.00	3,120.00
BRAKE SHOE (REAR), for Shining 150	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	130.00	3,120.00
BRAKE SHOE (TOYOTA ALTIS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,850.00	44,400.00
BRAKE SHOE (TOYOTA INNOVA)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	2,350.00	56,400.00
BRAKE SHOE (TOYOTA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,800.00	43,200.00
BRAKE SHOE (MOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,050.00	25,200.00
BRAKE SHOE FRONT (FAWTRUCK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,850.00	44,400.00
BRAKE SHOE REAR (FAWTRUCK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,550.00	37,200.00
BRAKE SHOE (FORD RANGER)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	1,880.00	45,120.00
BRAKE SHOE (SUZUKI MULTICAB)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,100.00	26,400.00
BRAKEPAD FRONT (MAZDA 3)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,320.00	31,680.00
BRAKEPAD REAR (MAZDA 3)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,550.00	37,200.00
BREAK MASTER ASSEMBLY (TOYOTA AMBULANCE)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,500.00	84,000.00
BREAK PAD (TOYOTA AMBULANCE)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
BREAK SHOE (TOYOTA AMBULANCE)	Set	0	5	5	5	0	0	2	2	2	1	1	1	24	2,500.00	60,000.00
BUMPER ASSEMBLY (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,200.00	196,800.00
BUMPER FRONT ASSY(MOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	6,000.00	144,000.00
BUMPER FRONT (KIA KC700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,750.00	90,000.00
CABLE ADJUSTER, for Honda dr 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	20.00	480.00

CABLE ADJUSTER, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	20.00	480.00
CABLE ADJUSTER, for Kawasaki router	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	20.00	480.00
CABLE LINING	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,600.00	211,200.00
CALIPER BRAKE ASSY (KIA KG2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,800.00	211,200.00
CALIPER KIT (TOYOTA REVO)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,360.00	32,640.00
CALIPER KIT FRONT (KIA SEDONA)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,350.00	32,400.00
CALIPER KIT(VIOS)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,040.00	24,960.00
CALIPER MOUNTING (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	4,250.00	100,800.00
CALIPER PISTON(VIOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00
CAMSHAFT GEAR (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,250.00	54,000.00
CAMSHAFT OIL SEAL (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	300.00	8,400.00
CAMSHAFT OIL SEAL (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	300.00	8,400.00
CAPILLARY OIL	bottles	0	5	5	5	0	0	2	2	2	1	1	1	24	120.00	2,880.00
CARBON TETRA	bottles	0	5	5	5	0	0	2	2	2	1	1	1	24	175.00	4,200.00
CARBURATOR FEED, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	1,000.00	24,000.00
CARBURATOR O-RING, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	500.00	12,000.00
CARBURATOR REPAIR KIT, for Honda xr 200	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
CARBURATOR REPAIR KIT, for Kawasaki CT-100	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
CARBURATOR REPAIR KIT, for Kawasaki router	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
CARBURATOR REPAIR KIT, for Shining 150	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	110.00	2,640.00
CDI BOX	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,000.00	24,000.00
CDI, for Honda xr 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	800.00	19,200.00
CDI, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	820.00	19,680.00
CDI, for Kawasaki router	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	850.00	20,400.00
CDI, for Shining 150	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	800.00	19,200.00
CENTER BEARING (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,580.00	37,920.00
CENTER BOLT (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	100.00	2,400.00
CENTER MIRROR OR REAR VIEW MIRROR(KIA KG2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	750.00	18,000.00
CHAIN	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	500.00	12,000.00
CHAIN ADJUSTER (LEFT), for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	30.00	720.00
CHAIN BLOCK (2 TONS)	Pieces	0	12	12	12	0	0	5	5	5	3	3	3	60	7,960.00	477,600.00
CHAIN GUIDE (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,300.00	31,200.00
CHISEL (INCHES)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	324.00	7,776.00
CIRCLIPS REMOVER (INNER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	360.00	8,640.00
CIRCLIPS REMOVER (OUTER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	360.00	8,640.00
CLEARANCE LIGHT L/R(TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	4,500.00	108,000.00
CLUTCH MASTER ASSEMBLY (FAWTRUCK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,480.00	35,520.00
CLUTCH MASTER ASSEMBLY (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,250.00	30,000.00
CLUTCH CABLE (CHANA OR EQUIVALENT)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	600.00	14,400.00
CLUTCH CABLE (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,600.00	38,400.00
CLUTCH CABLE (FAWTRUCK)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	650.00	15,600.00
CLUTCH CABLE (SUZUKI MULTICAB)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,150.00	51,600.00
CLUTCH CABLE, for Honda xr 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	135.00	3,240.00
CLUTCH CABLE, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	120.00	2,880.00
CLUTCH CABLE, for Kawasaki router	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	350.00	8,400.00
CLUTCH DISC (CHANA OR EQUIVALENT)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,280.00	54,720.00
CLUTCH DISC (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,880.00	47,520.00
CLUTCH DISC (HONDA CIVIC, CITY)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	3,450.00	82,800.00
CLUTCH DISC (SUZU BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,880.00	69,120.00
CLUTCH DISC (SUZU MINI DUMPTRUCK)	PCS	0	10	10	10	0	0	4	4	4	2	2	2	48	4,880.00	233,280.00

CLUTCH DISC (Isuzu Pick-up)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	2,500.00	60,000.00
CLUTCH DISC (KIA KC)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,800.00	43,200.00
CLUTCH DISC (MILITARY TRUCK)	PCS	0	10	10	10	0	0	4	4	4	2	2	2	48	4,050.00	194,400.00
CLUTCH DISC (SUZUKI MULTICAB)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,550.00	61,200.00
CLUTCH DISC (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,250.00	78,000.00
CLUTCH DISC (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,450.00	58,800.00
CLUTCH DISC ASSY (LIFTER TRUCK)	pcs	0	10	10	10	0	0	4	4	4	2	2	2	48	1,960.00	95,040.00
CLUTCH DISC(FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,850.00	70,800.00
CLUTCH DISC(KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,900.00	69,600.00
CLUTCH DISC(WO8)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,460.00	59,040.00
CLUTCH FAN ASSY (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	6,250.00	150,000.00
CLUTCH FAN ASSY FOR RADIATOR(FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	7,500.00	180,000.00
CLUTCH LEVER, for Honda str 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	75.00	1,800.00
CLUTCH LEVER, for Kawasaki DT-100	piece	0	8	8	8	0	0	3	3	3	1	1	1	36	75.00	2,700.00
CLUTCH LEVER, for Kawasaki roller	piece	0	8	8	8	0	0	3	3	3	1	1	1	36	80.00	2,880.00
CLUTCH LINING	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	200.00	7,200.00
CLUTCH LINING, for Honda str 200	sets	0	8	8	8	0	0	3	3	3	1	1	1	36	200.00	7,200.00
CLUTCH LINING, for Kawasaki DT-100	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	200.00	4,800.00
CLUTCH LINING, for Kawasaki roller	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	200.00	4,800.00
CLUTCH MASTER ASSY (KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,650.00	39,600.00
CLUTCH MASTER ASSEMBLY (HONDA CIVIC, CITY)	Pieces	0	6	5	5	0	0	2	2	2	1	1	1	24	1,820.00	46,080.00
CLUTCH MASTER ASSEMBLY (ISUZU DMAX)	PCS	0	6	5	5	0	0	2	2	2	1	1	1	24	2,700.00	64,800.00
CLUTCH MASTER ASSEMBLY (Isuzu NKR)	pieces	0	6	5	5	0	0	2	2	2	1	1	1	24	2,700.00	64,800.00
CLUTCH MASTER ASSEMBLY (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
CLUTCH MASTER KIT (ISUZU BACK TO BACK)	Pieces	0	6	5	5	0	0	2	2	2	1	1	1	24	800.00	19,200.00
CLUTCH MASTER KIT (FORD RANGER)	Pieces	0	6	5	5	0	0	2	2	2	1	1	1	24	1,550.00	37,200.00
CLUTCH MASTER KIT (HONDA CIVIC, CITY)	Pieces	0	6	5	5	0	0	2	2	2	1	1	1	24	338.00	8,064.00
CLUTCH MASTER KIT (ISUZU DMAX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	780.00	18,720.00
CLUTCH MASTER KIT (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,560.00	37,920.00
CLUTCH PAN ASSEMBLY (ISUZU MINI DUMPTRUCK)	Sets	0	10	10	10	0	0	4	4	4	2	2	2	48	6,499.00	311,952.00
COILING COIL (TOYOTA BACK TO BACK)	Pieces	0	6	5	5	0	0	2	2	2	1	1	1	24	6,500.00	156,000.00
COMBINATION WRENCH (2MM TO 32MM)	Sets	0	5	5	5	0	0	2	2	2	1	1	1	24	3,860.00	92,640.00
COMPUTER BOX (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	9,990.00	239,760.00
CON ROD ARM (Isuzu Pick-up)	pieces	0	6	5	5	0	0	2	2	2	1	1	1	24	7,200.00	172,800.00
CON ROD BEARING (Isuzu Pick-up)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,300.00	31,200.00
CON ROD BEARING (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	650.00	22,800.00
CON ROD BEARING (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,800.00	38,400.00
CONDENSER ASSY AIR/CON (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	9,800.00	235,200.00
CON-ROD ARMS (CHANA OR EQUIVALENT)	sets	0	8	8	8	0	0	3	3	3	1	1	1	36	2,500.00	90,000.00
CON-ROD ARMS (CHANA)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	2,500.00	90,000.00
CON-ROD BEARING (CHANA OR EQUIVALENT)	pcs	0	8	8	8	0	0	3	3	3	1	1	1	36	520.00	18,720.00
CON-ROD BEARING (CHANA)	Sets	0	8	8	8	0	0	3	3	3	1	1	1	36	800.00	28,800.00
CONROD BEARING (ISUZU MINI DUMPTRUCK)	PCS	0	10	10	10	0	0	4	4	4	2	2	2	48	2,500.00	120,000.00
COOLING COIL (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	5,400.00	129,600.00
COOLING COIL (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	7,250.00	174,000.00
COOLING COIL (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	5,800.00	132,000.00
COOLING COIL (WO8)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	5,400.00	129,600.00
COOLING COIL ASSY (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,000.00	216,000.00
CRANK SHAFT ASSEMBLY (CHANA OR EQUIVALENT)	pcs	0	8	8	8	0	0	3	3	3	1	1	1	36	9,910.00	356,760.00
CRANK SHAFT ASSEMBLY (CHANA)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	7,600.00	252,000.00

CRANK SHAFT BEARING (CHANA OR EQUIVALENT)	pcs	0	8	8	8	0	0	3	3	3	1	1	1	20	6,500.00	254,000.00
CRANKSHAFT OIL SEAL (TOYOTA REVO)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	20	650.00	23,400.00
CRANKSHAFT PULLEY (ISUZU MINI DUMPTRUCK)	PCS	0	10	10	10	0	0	4	4	4	2	2	2	48	1,900.00	72,000.00
CROSS JOINT (Toyota Revo)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,800.00	38,400.00
CROSS JOINT BEARING (Center Fire Truck)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,220.00	29,280.00
CRYSTAL BULB (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	50.00	1,200.00
CYLINDER HEAD ASSY (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,800.00	215,200.00
CYLINDER HEAD GASKET (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,850.00	68,400.00
CYLINDER LINER (ISUZU MINI DUMPTRUCK)	Sets	0	10	10	10	0	0	4	4	4	2	2	2	48	9,500.00	456,000.00
CYLINDER LINER (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,850.00	68,400.00
DEEP SOCKET WRENCH (1/2 DRIVE (10MM TO 32MM)	Sets	0	5	5	5	0	0	2	2	2	1	1	1	24	6,500.00	156,000.00
DIR LIGHT (KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	500.00	12,000.00
DOME LIGHT (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	550.00	13,200.00
DOOR GLASS FRONT RIGHT (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,500.00	84,000.00
DOOR GLASS MIDDLE L/R (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,875.00	69,000.00
DOOR GLASS MIDDLE LEFT (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,800.00	68,000.00
DOOR GLASS REAR L/R (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,875.00	69,000.00
DOUBLE CONTACT BULB (KIA KC)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	35.00	840.00
DOUBLE CONTACT BULB (Revo Ambulance)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	50.00	1,200.00
DRAG LINK ASSY (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,250.00	78,000.00
DRIER (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
DRIER (FORD RANGER)	Pieces	0	0	5	5	0	0	2	2	2	1	1	1	24	900.00	21,600.00
DRIER (FORD LYNX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,250.00	30,000.00
DRIER (FORD LYNX)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	2,020.00	48,600.00
DRIER (ISUZU DMAX)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,825.00	67,800.00
DRIER (Isuzu NKR)	pieces	0	0	5	5	0	0	2	2	2	1	1	1	24	1,800.00	43,200.00
DRIER (Toyota Revo)	pieces	0	0	5	5	0	0	2	2	2	1	1	1	24	4,000.00	96,000.00
DRIVE CHAIN, for Honda xlr 200	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,000.00	24,000.00
DRIVE CHAIN, for Kawasaki CT-100	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,950.00	46,800.00
DRIVE CHAIN, for Kawasaki router	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	204.00	4,896.00
EARTH CLAMP	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	4,600.00	110,400.00
ELECTRIC FUEL PUMP (TOYOTA REVO)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	4,320.00	103,680.00
ELECTRIC FUEL PUMP ASSY (HONDA GWC, GTY)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	425.00	10,080.00
ELECTRICAL PLIER	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	425.00	10,080.00
ELECTRODE HOLDER (30 A)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
ENGINE CLEANER	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	200.00	4,800.00
ENGINE OIL #40, for Honda xlr 200	liters	0	5	5	5	0	0	2	2	2	1	1	1	24	185.00	4,440.00
ENGINE OIL #40, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	240.00	5,760.00
ENGINE OIL #40, for Kawasaki router	liters	0	5	5	5	0	0	2	2	2	1	1	1	24	360.00	8,640.00
ENGINE OIL #40, for Shining 150	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	50.00	1,200.00
ENGINE SPROCKET LOCK, for Honda xlr 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	200.00	4,800.00
ENGINE SPROCKET LOCK, for Kawasaki router	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	250.00	6,000.00
ENGINE SPROCKET, for Honda xlr 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	105.00	2,520.00
ENGINE SPROCKET, for Kawasaki CT-100	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	50.00	1,200.00
ENGINE SPROCKET, for Kawasaki router	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	2,250.00	54,000.00
ENGINE SUPPORT (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,890.00	92,640.00
ENGINE SUPPORT (ISUZU DMAX)	PCS	0	5	5	5	0	0	2	2	2	1	1	1	24	2,190.00	52,560.00
ENGINE SUPPORT (ISUZU MINI DUMPTRUCK)	PCS	0	10	10	10	0	0	4	4	4	2	2	2	48	4,260.00	153,360.00
ENGINE SUPPORT (Isuzu NKR)	pieces	0	5	5	5	0	0	3	3	3	1	1	1	36	2,800.00	100,800.00
ENGINE SUPPORT (KIA KC)	pieces	0	5	5	5	0	0	3	3	3	1	1	1	36	1,150.00	55,200.00
ENGINE SUPPORT (MILITARY TRUCK)	pcs	0	10	10	10	0	0	4	4	4	2	2	2	48	1,150.00	55,200.00

ENGINE SUPPORT BIG(VIOS)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	4,500.00	162,000.00
ENGINE SUPPORT LR (Toyota Rev0)	pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	5,600.00	201,600.00
ENGINE SUPPORT RIGHT SIDE BIG (KIA SEDONA)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	3,250.00	117,000.00
EXCAVATION VALVE (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,600.00	38,400.00
EXHAUST MANIFOLD GASKET (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	375.00	9,000.00
EXHAUST PIPE(KIA KC2700)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,820.00	67,680.00
EXHAUST VALVE (Toyota Rev0)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
EXPANSION VALVE (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
EXPANSION VALVE (FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,260.00	30,240.00
EXPANSION VALVE (FORDLYNX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,600.00	38,400.00
EXPANSION VALVE (Foton Ambulance)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,450.00	57,600.00
EXPANSION VALVE (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,375.00	33,000.00
EXPANSION VALVE (TOYOTA REV0)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,800.00	62,400.00
EXPANSION VALVE (VIOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,440.00	34,560.00
FAN BELT(FORD RANGER)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	720.00	17,280.00
FAN BELT & POWER STEERING BELT (Cantar Fire Truck)	pieces	0	10	10	10	0	0	4	4	4	2	2	2	48	660.00	32,640.00
FAN BELT (FAW TRUCK)	PCB	0	5	5	5	0	0	2	2	2	1	1	1	24	470.00	11,280.00
FAN BELT (HONDA CIVIC CITY)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	719.00	17,256.00
FAN BELT (Isuzu NKR)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	520.00	12,480.00
FAN BELT (Isuzu Ptek-4)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	380.00	9,120.00
FAN BELT (KIA KC)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	620.90	14,880.00
FAN BELT (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	475.00	11,400.00
FAN BELT (Toyota Innova)	sets	0	5	5	5	0	0	2	2	2	1	1	1	24	720.00	17,280.00
FAN BELT (Toyota Rev0)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	660.00	15,840.00
FAN BELT (VIOS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	900.00	21,600.00
FANBELT 7PK 1516 (TOYOTA BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,250.00	78,000.00
FANBELT (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	350.00	8,400.00
FANBELT (FORDLYNX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	450.00	10,800.00
FANBELT (HYUNDAI STAREX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,599.00	38,352.00
FANBELT (ISUZU BACK TO BACK)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	300.00	7,200.00
FANBELT (ISUZU OMAX)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	520.00	12,480.00
FANBELT (MAZDA 3)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	990.00	23,760.00
FANBELT (TOYOTA ALTI5)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	720.00	17,280.00
FANBELT (TOYOTA INNOVA - DIESEL)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00
FANBELT (TOYOTA INNOVA - GAS)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,400.00	33,600.00
FENDER LIGHT ASSY-FRONT RIGHT (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,125.00	27,000.00
FENDER LINER CLIP (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	83.00	1,912.00
FILL OIL ASSY (TOYOTA REV0)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,600.00	62,400.00
FILLER GAUGES	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	240.00	5,760.00
FINAL SPROCKET, for Honda xit 200	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	600.00	14,400.00
FINAL SPROCKET, for Kawasaki CT-100	piece	0	5	5	5	0	0	2	2	2	1	1	1	24	430.00	10,320.00
FINAL SPROCKET, for Kawasaki Kouser	piece	0	8	8	8	0	0	3	3	3	1	1	1	36	300.00	10,800.00
FLARING TOOLS	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	835.00	33,660.00
FLAT FILE (12 INCHES)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	252.00	9,072.00
FLAT FILE (6 INCHES)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	174.00	6,264.00
FOG LIGHT BULB(HALOGEN 00A SEDONA)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	200.00	7,200.00
FOG LIGHT COVER(TOYOTA REV0)	Pieces	0	8	8	8	0	0	3	3	3	1	1	1	36	720.00	25,920.00
FORK SELECTOR (CHANA OR EQUIVALENT)	pcr	0	8	8	8	0	0	3	3	3	1	1	1	36	1,200.00	43,200.00
FORK SELECTOR (CHANA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,200.00	28,800.00
FREON 134-A	Kilos	0	5	5	5	0	0	2	2	2	1	1	1	24	950.00	22,800.00

FRONT GAS (Toyota Rev0)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,150.00	27,600.00
FRONT & REAR SHOCK ABSORBER (Toyota Rev0)	pieces	0	0	5	5	0	0	2	2	2	1	1	1	24	2,100.00	50,400.00
FRONT AXLE ASSEMBLY (TOYOTA ALT18)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	8,500.00	204,000.00
FRONT BUMPER (TOYOTA REV0)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	5,500.00	132,000.00
FRONT BUMPER ASSY. (KIA SEDONA)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	5,000.00	130,000.00
FRONT BUMPER SET (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	2,875.00	69,000.00
FRONT CALIPER BRAKE KIT (FORD RANGER)	Sets	0	5	5	5	0	0	2	2	2	1	1	1	24	1,110.00	26,640.00
FRONT CALLIPER KIT (Center Fire Truck)	pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,290.00	30,240.00
FRONT FENDER LEFT (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	3,500.00	84,000.00
FRONT FENDER LINER (FORD EVEREST)	Pieces	0	5	5	5	0	0	2	2	2	1	1	1	24	1,375.00	33,000.00
FRONT GRILL (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	4,800.00	0.00
FRONT GRILL (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	5,500.00	0.00
FRONT HEADLIGHT FILTER (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
FRONT PADS (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,380.00	0.00
FRONT RIGHT FENDER (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	4,000.00	0.00
FRONT RIGHT HEADLIGHT ASSY. (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	4,200.00	0.00
FRONT SHOCK (Center Fire Truck)	pieces	0	0	0	0	10	0	0	4	0	0	2	0	18	3,250.00	52,000.00
FRONT SHOCK (HONDA CIVIC, CITY)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,300.00	0.00
FRONT SHOCK (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,300.00	0.00
FRONT SHOCK (TOYOTA INNOVA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	3,270.00	0.00
FRONT SHOCK ABSORBER (Falcon Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,900.00	0.00
FRONT SHOCKS (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,750.00	0.00
FRONT SHOCKS (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00
FRONT WHEEL BEARING - OUTER(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
FRONT WHEEL BEARING - INNER(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	0.00
FRONT WHEEL BEARING (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,750.00	0.00
FRONT WHEEL BEARING (HONDA CIVIC, CITY)	Pieces	0	0	4	0	0	0	0	0	0	2	0	0	8	1,125.00	6,750.00
FRONT WHEEL BEARING SET (TOYOTA BACK TO BACK)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	2,250.00	0.00
FRONT WHEEL BEARING(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,020.00	0.00
FRONT WINDSHIELD (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	9,375.00	0.00
FRONTFORK OIL SEAL, for Honda dr 300	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	1,400.00	0.00
FRONTFORK OIL SEAL, for Kawasaki CT-100	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
FRONTFORK OIL SEAL, for Kawasaki mouser	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
FRONTFORK OIL SEAL, for Shining 150	sets	0	4	0	0	0	0	0	0	0	0	2	0	0	30.00	180.00
FUEL FILTER (FAWTRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	616.00	0.00
FUEL FILTER (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
FUEL FILTER (TOYOTA REV0)	Pieces	0	6	0	0	0	0	0	0	0	0	0	0	0	1,220.00	9,760.00
FUEL FILTER (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	890.00	0.00
FUEL FILTER (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	313.00	0.00
FUEL FILTER (FORD LYNO)	Pieces	2	0	0	0	0	0	0	2	0	0	0	0	4	720.00	2,880.00
FUEL FILTER (FORD RANGER)	Pieces	0	12	0	0	0	0	0	0	0	0	12	0	24	950.00	23,040.00
Fuel Filter (Falcon Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,300.00	0.00
FUEL FILTER (HONDA CIVIC, CITY)	Pieces	0	0	0	4	0	0	0	0	0	0	0	0	4	780.00	3,120.00
FUEL FILTER (SUZUKI BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
FUEL FILTER (SUZUKI DMAX)	PCS	0	0	12	0	0	0	0	0	0	0	12	0	24	1,100.00	26,400.00
Fuel Filter (Suzuki NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,780.00	0.00
FUEL FILTER (KIA KC 2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
FUEL FILTER (MAZDA 3)	Pieces	0	0	4	0	0	0	0	0	0	0	0	0	4	1,100.00	4,400.00
FUEL FILTER (SHINING/FALCON MOTORCYCLE)	PCS	0	0	4	0	0	0	0	0	0	0	0	0	4	220.00	880.00
FUEL FILTER (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	590.00	0.00

FUEL FILTER (TOYOTA INNOVA - GAS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	480.00	0.00	
FUEL FILTER (TOYOTA INNOVA - DIESEL)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	420.00	0.00	
FUEL FILTER(TOYOTA ALTIS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,700.00	0.00	
FUEL FILTER, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	30.00	0.00	
FUEL FILTER, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	30.00	0.00	
FUEL FILTER, for Shining 150	piece	0	0	4	0	0	0	0	0	0	0	0	0	0	0	2	0	30.00	180.00	
FUEL HOSE (SHINING/FALCON MOTORCYCLE)	Meters	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	180.00	0.00	
FUEL HOSE, for Honda str 200	feet	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00	
FUEL HOSE, for Kawasaki CT-100	feet	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00	
FUEL HOSE, for Kawasaki router	feet	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00	
FUEL HOSE, for Shining 150	feet	0	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	150.00	600.00	
FUEL PUMP HOUSING WITH FILTER(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,200.00	0.00	
FUEL PUMP W/ FILTER (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00	
FUEL TANK COVER (TOW TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	0.00	
FUEL TAP, for Honda str 200	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00	
FUEL TAP, for Kawasaki CT-100	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00	
FUEL TAP, for Kawasaki router	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10.00	0.00	
FUSE (FLAT 15A), for Honda str 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10.00	0.00	
FUSE (FLAT 15A), for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10.00	0.00	
FUSE (FLAT 15A), for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10.00	0.00	
FUSE 15A, for Shining 150	piece	0	4	0	0	0	0	0	0	0	0	0	0	0	0	0	4	10.00	40.00	
FUSE CASE, for Honda str 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	50.00	0.00	
FUSE CASE, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	50.00	0.00	
FUSE CASE, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	50.00	0.00	
FUSE CASE, for Shining 150	piece	0	0	0	4	0	0	0	0	0	0	0	0	0	0	2	0	50.00	300.00	
GASKET CEMENT	Bottles	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00	
GASKET CEMENT (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	160.00	0.00	
GRINDING DISC (5 INCHES)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	120.00	0.00	
GRILL ASSY. (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0
HAMMATTITE SEALER (EVEREST, VIOS, REVO,DMC)	Tube	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	666.00	0.00	
HAMMATTITE SEALER FOR DOOR (GLASS) (KIA SEDONA)	Tube	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00	
HEAD LIGHT BULB 12V, for Honda str 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	100.00	0.00	
HEAD LIGHT BULB 12V, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
HEAD LIGHT BULB 12V, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	100.00	0.00	
HEAD LIGHT BULB 12V, for Shining 150	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4	12	200.00	2,400.00	
HEAD LIGHT BULB HALOGEN(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	210.00	0.00	
HEAD LIGHT BULBS (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	210.00	0.00	
HEAD LIGHT L/R(TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00	
HEADLIGHT ASSEMBLY (ISUZU DMAX)	PCS	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	0	7,500.00	15,000.00	
HEADLIGHT ASSEMBLY (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,900.00	0.00	
HEADLIGHT ASSEMBLY (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,500.00	0.00	
HEADLIGHT ASSEMBLY (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,000.00	0.00	
HEADLIGHT ASSY (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,375.00	0.00	
HEADLIGHT BULB (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00	
HEADLIGHT BULB (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	80.00	0.00	
HEADLIGHT BULB HALOGEN (Cantler Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	225.00	0.00	
HEADLIGHT BULB HALOGEN (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00	
HEATER PLUG (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00	
HEATER PLUGS (ISUZU BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00	
HEATER PLUGS (ISUZU DMAX)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	880.00	0.00	

HEATER PLUGS(FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
HOOD ASSEMBLY (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,500.00	0.00
HOOD WITH GRILL(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,000.00	0.00
HORN	Sets	0	16	0	0	0	0	0	0	0	0	0	0	0	0	16	185.00	2,960.00
HORN (FORD EVEREST)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
HORN 12V. for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	185.00	0.00
HORN 12V. for Shering 150	piece	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	185.00	370.00
HORN ASSY (KIA KC)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	700.00	0.00
HOSE (2 INCH ROUND X 180 M) (MINI FIRE TRUCK)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,500.00	0.00
HOSE CLAMP (BUS)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	50.00	0.00
HYDROVACH ASSY W/ MASTER (Center Fire Truck)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,000.00	0.00
I-BEAM KINGPIN BUSHING KIT (Center Fire Truck)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,200.00	0.00
IGNITION COIL. for Honda at 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
IGNITION COIL. for Kawasaki rouser	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
IGNITION COIL. for Shering 150	piece	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	1,000.00	4,000.00
IGNITION SWITCH. for diesel	units	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
INJECTION PUMP ASSY (KIA SEDONA)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	9,500.00	0.00
INJECTOR NOSSEL TIP -(KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00
INNER FRONT WHEEL BEARING-BIG(TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
INNER TUBES AND FLAPS (TOW TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	0.00
INNER WHEEL BEARING (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,440.00	0.00
INNER WHEEL BEARING (Center Fire Truck)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00
INNER WHEEL BEARING (FORD RANGER)	Pieces	0	16	0	0	0	0	0	0	0	0	0	0	0	0	24	1,200.00	28,800.00
INNER WHEEL BEARING (Foton Ambulance)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,120.00	0.00
INNER WHEEL BEARING (Isuzu NKR)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,210.00	0.00
INNER WHEEL BEARING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	580.00	0.00
INNER WHEEL BEARING (Toyota Revo)	pieces	0	8	0	0	0	0	0	0	0	0	0	0	0	0	8	1,450.00	11,600.00
INNER WHEEL BEARING (SUZU DMAX)	PCS	0	8	0	0	0	0	0	0	0	0	0	0	0	4	12	810.00	9,720.00
INSIDE DOOR OPENER(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00
INTAKE HOSE PIPE (MINI TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	810.00	0.00
INTAKE HOSE PIPE STRAINER (MINI FIRE TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	900.00	0.00
INTAKE MONIFOLD GASKET (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	340.00	0.00
INTAKE MONIFOLD GASKET (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	340.00	0.00
INTAKE VALVE (Toyota Revo)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,140.00	0.00
JACK STAND	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	578.00	0.00
KICK STARTER SPRING. for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
KICK STARTER. for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	480.00	0.00
KICK STARTER. for Shering 150	sets	0	4	0	0	0	0	0	0	0	0	0	0	0	2	8	500.00	3,000.00
LEFT SIDE CENTER DOOR GLASS (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,900.00	0.00
LIFT SPRING BUSHING BIG(FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	380.00	0.00
LIFT SPRING BUSHING BIG(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	175.00	0.00
LIFT SPRING BUSHING SMALL (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	47.00	0.00
LIFT SPRING BUSHING (SMALL(FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00
LIFT SPRING BUSHING-BIG (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
LIFT SPRING BUSHING-SMALL (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
LONG NOSE PLIER	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00
LOWER ARM BUSHING - BIG (HONDA CIVIC. CITY)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	937.50	1,875.00
LOWER ARM BUSHING - SMALL (HONDA CIVIC. CITY)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	587.50	1,375.00
LOWER BALL JOINT (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
LOWER BALL JOINT (Foton Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	0.00

LOWER BALL JOINT (SUZU OMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,300.00	0.00
LOWER BALL JOINT (SUZU NK9)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,300.00	0.00
LOWER BALL JOINT (KIA KC)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
LOWER BALL JOINT (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00
LOWER BALL JOINT (Toyota Back to Back)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,580.00	0.00
LOWER BALL JOINT (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,020.00	0.00
LOWER BALL JOINT(FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
LOWER BALLJOINT (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,900.00	0.00
LOWER LEFT SIDE SUSPENSION ASSY (EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,466.00	0.00
LOWER RADIATOR HOSE (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
LOWER RADIATOR HOSE (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	480.00	0.00
LOWER RADIATOR HOSE (TOYOTA BACK TO BACK)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	659.50	0.00
LOWER RADIATOR HOSE (TOYOTA INNOVA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	780.00	0.00
LOWER SUSPENSION ARM (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,900.00	0.00
LOWER SUSPENSION ASSY (Felon Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,800.00	0.00
LOWER SUSPENSION ASSY (VIDE)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,120.00	0.00
LOWER SUSPENSION BUSHING (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,260.00	0.00
LOWER SUSPENSION BUSHING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
LOWER SUSPENSION BUSHING (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,750.00	0.00
LOWER SUSPENSION BUSHING L/R(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
MAGS (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	9,375.00	0.00
MAIN BEARING (SUZU MINI DUMPTRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,850.00	0.00
MAIN BEARING (SUZU Pick-up)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
MAIN BEARING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
MAIN BEARING (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,390.00	0.00
MAP SENSOR VACUUM SWITCH (Revo Ambulance)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
MASO (2 LBS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,390.00	0.00
MECHANICAL PUIER	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	309.00	0.00
MOTOR OIL 20-40	liter	0	0	0	0	4	0	0	0	0	0	2	0	0	0	0	390.00	1,500.00
OIL FILTER (FAWTRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,243.00	0.00
OIL FILTER (GHANA C-118)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	180.00	0.00
OIL FILTER (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	438.00	0.00
OIL FILTER (Ford Ranger)	pieces	0	0	0	10	0	0	0	0	0	0	0	0	0	16	0	686.00	10,880.00
OIL FILTER (FORD VYN)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	4	0	520.00	2,080.00
OIL FILTER (Honda Civic City Mail)	sets	0	4	0	0	0	0	0	0	0	0	0	0	0	4	0	580.00	2,320.00
OIL FILTER (HYUNDAI STAREX)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	490.00	0.00
OIL FILTER (SUZU BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	390.00	0.00
OIL FILTER (SUZU OMAX)	Pieces	0	10	10	10	0	0	0	17	0	0	13	0	0	80	0	656.00	79,000.00
OIL FILTER (SUZU Pick-up)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	540.00	0.00
OIL FILTER (SUZU OMAX)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
OIL FILTER (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	480.00	0.00
OIL FILTER (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	260.00	0.00
OIL FILTER (MAZDA 3)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	1	3	0	550.00	1,650.00
OIL FILTER (SUZUKI MULTICAS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	390.00	0.00
OIL FILTER (SUZUKI MULTICAS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	618.00	0.00
OIL FILTER (TOYOTA ALTIS)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	4	0	580.00	2,320.00
OIL FILTER (TOYOTA INNOVA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	620.00	0.00
OIL FILTER (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
OIL FILTER (TOYOTA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,030.00	0.00
OIL FILTER (VC-C 530)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	390.00	0.00
OIL FILTER (VC-C-101)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	390.00	0.00

OIL FILTER (VIC-C-415)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
OIL FILTER (VIC-C-512)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
OIL FILTER (VIC-C-606)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00
OIL FILTER C - 119 (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	280.00	0.00
OIL FILTER(FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	420.00	0.00
OIL FILTER(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	260.00	0.00
OIL FILTER(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	240.00	0.00
OIL SEAL (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	80.00	0.00
OIL SEAL (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
OIL SEAL WHEEL BEARING (KIA KC)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00
OUTER DOOR HANDLE OPENER (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	980.00	0.00
OUTER FRONT WHEEL BEARING- SMALL (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
OUTER VELOCITY ASBY (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,600.00	0.00
OUTER WHEEL BEARING (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,050.00	0.00
OUTER WHEEL BEARING (Center Fire Truck)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
OUTER WHEEL BEARING (Foton Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	990.00	0.00
OUTER WHEEL BEARING (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	880.00	0.00
OUTER WHEEL BEARING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	460.00	0.00
OUTER WHEEL BEARING (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
OUTER WHEEL BEARING(FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,380.00	0.00
OUTER WHEEL BEARING (SUZU DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
OVER HAULING GASKET (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
OVER HAULING GASKET (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
OVERHAULING GASKET (VIOS)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	0.00
OVERHAULING GASKET (FAWTRUCK)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,100.00	0.00
OVERHAULING GASKET (FORD RANGER)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,000.00	0.00
OVERHAULING GASKET (SUZU DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	6,000.00	0.00
OVERHAULING GASKET (SUZU MINI DUMPTRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,550.00	0.00
OVERHAULING GASKET (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,000.00	0.00
OVERHAULING GASKET (Isuzu Fd4-46)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00
OVERHAULING GASKET(KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00
OVERHAULING GASKET (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00
OVERHAULING GASKET (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,780.00	0.00
PARK LIGHT BULB DOUBLE (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	20.00	0.00
PEANUT BULB (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00
PEANUT BULB (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	25.00	0.00
PHILIP SCREW DRIVER	Sets	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	106.00	216.00
PILOT BEARING (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00
PILOT BEARING (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
PILOT BEARING (Isuzu Pick-up)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,320.00	0.00
PILOT BEARING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,250.00	0.00
PILOT BEARING (LIFTER TRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	390.00	0.00
PILOT BEARING (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	720.00	0.00
PILOT BEARING (TOYOTA BACK TO BACK)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00
PILOT BEARING (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,180.00	0.00
PILOT BEARING(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00
PIPE WRENCH (12 INCHES)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	864.00	0.00
PIPE WRENCH (6 INCHES)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	336.00	0.00
PISTON (Isuzu Pick-up)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,800.00	0.00
PISTON RING (SUZU MINI DUMPTRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,880.00	0.00

PISTON RING (Isuzu Pick-up)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00
PISTON RING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00
PISTON RING (STD) (CHANA)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,200.00	0.00
PISTON RING (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,480.00	0.00
PISTON RING (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,500.00	0.00
PISTON RING (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,000.00	0.00
PISTON RING COMPRESSOR	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	780.00	0.00
PISTON RING STANDARD (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,700.00	0.00
PISTON RING STD (FAWTRUCK)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,750.00	0.00
PITTMAN ARM (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,212.00	0.00
PLASTIC STRAP BIG(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	144.00	0.00
PLASTIC STRAP SMALL(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	96.00	0.00
POLISHER, for Honda vtr 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
POLISHER, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
POLISHER, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
POLISHER, for Shining 150	piece	0	1	0	0	0	0	0	0	0	0	0	0	0	0	1	500.00	500.00
POWER STEERING BELT(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	421.00	0.00
POWER STEERING ASSY (Isuzu DMAX)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	9,990.00	0.00
POWER STEERING BELT (ISUZU DMAX)	PCS	0	4	0	0	0	0	0	0	0	0	0	0	0	0	2	520.00	3,120.00
POWER STEERING BELT (ISUZU MINI DUMPTRUCK)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,500.00	0.00
POWER STEERING BELT (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	620.00	0.00
POWER STEERING BELT (TOYOTA REVO)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	380.00	1,520.00
POWER STEERING GEAR BOX KIT (Carter Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,500.00	0.00
POWER STEERING GEAR BOX REPAIR KIT (RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,200.00	0.00
POWER STEERING PRESSURE HOSE (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,750.00	0.00
POWER STEERING PUMP ASSY (Carter Fire Truck)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,500.00	0.00
POWER STEERING Rack & Pinion Repair Kit (Toyota Revo)	sets	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	5,200.00	20,800.00
POWER STEERING RACK REPAIR KIT (HONDA CIVIC, CITY)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	3,250.00	13,000.00
PRESSURE PLATE (HP1 TRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,300.00	0.00
PRESSURE PLATE (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,200.00	0.00
PRESSURE PLATE (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,600.00	0.00
PRESSURE PLATE (FORD RANGER)	Pieces	0	10	0	0	0	0	0	0	0	0	0	0	0	0	10	3,940.00	39,400.00
PRESSURE PLATE (HONDA CIVIC, CITY)	pcs	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	4,290.00	17,160.00
PRESSURE PLATE (ISUZU BACK TO BACK)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	0	0	12	3,950.00	47,400.00
PRESSURE PLATE (ISUZU MINI DUMPTRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,100.00	0.00
PRESSURE PLATE (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,350.00	0.00
PRESSURE PLATE (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,850.00	0.00
PRESSURE PLATE (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,200.00	0.00
PRESSURE PLATE (TOYOTA REVO)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	2,400.00	19,200.00
PRESSURE PLATE ASSY (LIFTER TRUCK)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,450.00	0.00
PRESSURE PLATE MILITARY TRUCK	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,300.00	0.00
PRESSURE PLATE(KIA KC2700)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	2,200.00	8,800.00
PRESSURE PLATE(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,980.00	0.00
PROPELLER CROSS JOINT (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,850.00	0.00
PROPELLER SHAFT (ISUZU DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,200.00	0.00
PROPELLER SHAFT (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,200.00	0.00
PROPELLER SHAFT BOLT & NUT SIZE 14MMX1 (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	188.00	0.00
PROPELLER SHAFT(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,450.00	0.00
PTD DISC	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	0	4	1,000.00	4,000.00
PULLER (SMALL)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,850.00	0.00

RADIATOR ASSEMBLY (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,000.00	0.00
RADIATOR ASSEMBLY (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	6,000.00	0.00
RADIATOR ASSY (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	6,000.00	0.00
RADIATOR CAP (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00
RADIATOR CAP (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
RADIATOR CUP (0.8)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	480.00	0.00
RADIATOR CUP (1.1)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	550.00	0.00
RADIATOR SUPPORT (BUS)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	120.00	0.00
REAR AXLE BEARING (FORD RANGER)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	0	0	0	8	2,940.00	23,520.00
REAR AXLE BEARING OIL SEAL (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	875.00	0.00
REAR BRAKE SHOE (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,300.00	0.00
REAR BUMPER (Foton Amtsuance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	6,099.00	0.00
REAR BUMPER ASSY (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,360.00	0.00
REAR DOOR LOCK ASSY (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	990.00	0.00
REAR DOOR LOCK OPENER ASSY (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,090.00	0.00
REAR SHOCK (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,690.00	0.00
REAR SHOCK (TOYOTA INNOVA)	Pieces	0	4	0	0	4	0	0	0	0	0	0	0	0	0	0	4	2,200.00	17,600.00
REAR SHOCK ABSORBER (Foton Amtsuance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00
REAR SHOCK BUSHING, for Honda hr 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	0.00
REAR SHOCK BUSHING, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	0.00
REAR SHOCKS (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
REAR TRUNK CABLE(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,440.00	0.00
REAR WHEEL BEARING HUB ASSY(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,620.00	0.00
REAR WHEEL BEARING LEFT AND RIGHT(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,600.00	0.00
REAR WHEEL BEARING OUTER BIG (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
REAR WHEEL BEARING OUTER SMALL (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	875.00	0.00
REAR WHEEL BOOT(SVIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	180.00	0.00
REAR WHEEL CUP(SVIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	180.00	0.00
RECTIFIER, for Honda xr 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
RECTIFIER, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
RECTIFIER, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
RECTIFIER, for Shining 150	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
RELEASE BEARING (SUZUKI BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,100.00	0.00
RELEASE BEARING 4DRS, SR 451KD07	units	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
RELEASE BEARING (TOYOTA BACK TO BACK)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00
RELEASE BEARING (HRF1 TRUCK)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,020.00	0.00
RELEASE BEARING (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,320.00	0.00
RELEASE BEARING (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
RELEASE BEARING (FAWTRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
RELEASE BEARING (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	936.00	0.00
RELEASE BEARING (HONDA CMC, CITY)	PCS	0	4	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,150.00	4,600.00
RELEASE BEARING (SUZUKI MINI DUMPTRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,600.00	0.00
RELEASE BEARING (Isuzu Pick-up)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,250.00	0.00
RELEASE BEARING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	880.00	0.00
RELEASE BEARING (LIFTER TRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	950.00	0.00
RELEASE BEARING (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	880.00	0.00
RELEASE BEARING (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,520.00	0.00
RELEASE BEARING(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,260.00	0.00
RELEASE BEARING(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,080.00	0.00
RIGHT SIDE SIGNAL LIGHT ASSY (Center Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,690.00	0.00

RIGHT TAIL LIGHT ASSY (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,700.00	0.00
RIM (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00
RIM (LIFTER TRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,900.00	0.00
RIM (SUZUKI MULTICAB)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,300.00	0.00
RIVETER	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	240.00	0.00
ROCKER ARM (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	420.00	0.00
ROLLER WHEEL ASSY 380C (MINI FIRE TRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,700.00	0.00
ROTOR DISC (TOYOTA BACK TO BACK)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,800.00	0.00
ROTOR DISC ASSY (TOYOTA REV0)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,620.00	0.00
ROTOR DISC BRAKE (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,500.00	0.00
ROTOR DISC FRONT (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,960.00	0.00
ROUND FILE (12 INCHES)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	270.00	0.00
ROUND FILE (8 INCHES)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	150.00	0.00
RUBBER BOOTS (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	65.00	0.00
RUBBER BOOTS (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00
RUBBER CAP (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	0.00
RUBBER CUP (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00
RUBBER DAMPER, for Honda air 200	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	0.00
RUBBER DAMPER, for Kawasaki CT-100	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00
RUBBER DAMPER, for Kawasaki router	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	0.00
SANCTION HOSE (TOYOTA REV0)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,860.00	0.00
SANCTION HOSE ASSY AIRCON (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,250.00	0.00
SANWA MULTI-TESTER	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,240.00	0.00
SEALER GASKET (TOYOTA REV0)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
SEAT COVER (FORD EVEREST)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,800.00	0.00
SEAT COVER (KIA SEDONA)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,600.00	0.00
SEATCOVER (TOYOTA BACK TO BACK)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
SEATCOVER (FORDLYNX)	Sets	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	1,200.00	2,400.00
SEATCOVER (HYUNDAI STAREX)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00
SEATCOVER (MAZDA 3)	Sets	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	1,560.00	3,120.00
SEATCOVER (TOYOTA ALTISS)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
SEATCOVER (TOYOTA REV0)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
SEATCOVER (VIOS)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
SECONDARY CLUTCH MASTER (FORDLYNX)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,875.00	0.00
SECONDARY MASTER ASSEMBLY (TOYOTA REV0)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	490.00	0.00
SECONDARY CLUTCH ASSEMBLY (FAWTRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,480.00	0.00
SECONDARY CLUTCH ASSY (SUZUKI DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,100.00	0.00
SECONDARY CLUTCH ASSY (Isuzu NRR)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,100.00	0.00
SECONDARY CLUTCH ASSY (KIA KC 2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,475.00	0.00
SECONDARY CLUTCH ASSY (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,150.00	0.00
SECONDARY CLUTCH ASSY (Toyota Rev0)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,600.00	0.00
SECONDARY CLUTCH MASTER (SUZUKI DMAX)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	620.00	0.00
SECONDARY CLUTCH ASSEMBLY (TOW TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,440.00	0.00
SECONDARY LIFT SPRING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,600.00	0.00
SEALSTIC SEALER GASKET (Isuzu Pick-up)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	160.00	0.00
SELECTOR CABLE (KIA KC2700)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,950.00	0.00
SHAFT SEAL (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	671.00	0.00
SHIFTER LINKAGE CABLE (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,320.00	0.00
SHOCK ABSORBER - FRONT (SUZUKI BACK TO BACK)	Pieces	0	24	0	0	0	0	0	0	0	0	0	12	0	36	0	1,750.00	63,000.00
SHOCK ABSORBER - FRONT (FORD RANGER)	Pieces	0	50	0	0	0	0	0	0	0	0	0	10	0	40	0	2,150.00	86,000.00

SHOCK ABSORBER - FRONT (MAZDA 3)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	4	3,880.00	15,520.00
SHOCK ABSORBER - REAR (FORD RANGER)	Pieces	0	30	0	0	0	0	0	0	0	0	10	0	40	1,260.00	37,800.00	
SHOCK ABSORBER - REAR (BUZU BACK TO BACK)	Pieces	0	24	0	0	0	0	0	0	0	0	12	0	36	1,500.00	54,000.00	
SHOCK ABSORBER - REAR (MAZDA 3)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	4	3,590.00	14,360.00	
SHOCK ABSORBER (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,200.00	17,600.00	
SHOCK ABSORBER ASSEMBLY (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0.00	0.00	
SHOCK ABSORBER FRONT (VDS)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	8	2,750.00	22,000.00	
SHOCK ABSORBER FRONT(FORDLYNK)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	4	2,800.00	10,400.00	
SHOCK ABSORBER FRONT(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,125.00	0.00	
SHOCK ABSORBER REAR (VDS)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	8	2,375.00	19,000.00	
SHOCK ABSORBER- REAR(FORDLYNK)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	4	3,900.00	15,600.00	
SHOCK ABSORBER REAR(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,125.00	0.00	
SHOCK BOOT(S TOYOTA ALTI5)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	920.00	0.00	
SHOCK BUSHING (REAR, for Kawasaki CT-100)	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	30.00	0.00	
SHOCK MOUNTING (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,325.00	0.00	
SHOCK TOP MOUNTING(VDS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	3,540.00	0.00	
SIDE MIRROR ASSY	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
SIDE MIRROR ASSY (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	8,125.00	0.00	
SIDE MIRROR ASSY (Ford Ambassador)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	3,200.00	0.00	
SIDE MIRROR ASSY (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,950.00	0.00	
SIDE MIRROR ASSY LW (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,950.00	0.00	
SIDE MIRROR BOTH SIDE (TOW TRUCK)	Set	0	0	0	0	0	0	0	0	0	0	0	0	0	3,600.00	0.00	
SIDE MIRROR GLASS (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,440.00	0.00	
SIDE MIRROR HOUSING COVER (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,080.00	0.00	
SIDE MIRROR LEFT(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00	
SIDE MIRROR RIGHT(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00	
SIGNAL LIGHT BULB (FORD RANGER)	Pieces	0	24	0	0	0	0	0	0	0	0	0	0	24	40.00	960.00	
SIGNAL LIGHT BULB (VDS)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	8	180.00	1,520.00	
SIGNAL LIGHT BULB 12V, for Honda cr 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	16.00	0.00	
SIGNAL LIGHT BULB 12V, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	20.00	0.00	
SIGNAL LIGHT BULB 12V, for Kawasaki roadster	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	30.00	0.00	
SIGNAL LIGHT BULB 12V, for Shwing 150	piece	4	0	0	0	0	0	0	4	0	0	0	0	0	30.00	160.00	
SILICON (BUG)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	150.00	0.00	
SILICON GASKET (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	115.00	0.00	
SILICON GASKET (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	120.00	0.00	
SILICON OIL (Izum) P&I-op)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00	
SILICON OIL (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00	
SINGLE CONTACT BULB (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00	
SINGLE CONTACT BULB (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	30.00	0.00	
SIREN (MINI FIRE TRUCK)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	7,500.00	0.00	
SLIDING DOOR LOCK(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	250.00	0.00	
SLIDING WINDOW LOCK (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00	
SMALL LIFT SPRING BUSHING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
SMALL LIFT SPRING BUSHING (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	210.00	0.00	
SOCKET WRENCH (HEXAGONAL 1/2 DRIVE)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	3,240.00	0.00	
SOLYNOD, 4035	units	0	0	0	0	0	0	0	0	0	0	0	0	0	120.00	0.00	
SPARK PLUG	pcs	0	4	0	0	0	0	0	0	0	0	0	0	0	120.00	720.00	
SPARK PLUG (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	110.00	0.00	
SPARK PLUG (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	120.00	0.00	
SPARK PLUG (HONDA CIVIC CITY)	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	2	480.00	2,880.00	

SPARK PLUG (TOYOTA INNOVA)	Pieces	0	24	0	0	0	0	0	0	0	0	0	0	0	24	450.00	10,800.00
SPARK PLUG (TOYOTA REVO)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	0	8	250.00	1,600.00
SPARK PLUG CAP, for Honda xl 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	190.00	0.00
SPARK PLUG CAP, for Kawasaki CT-100	piece	0	4	0	0	0	0	0	0	0	0	0	0	4	200.00	800.00	
SPARK PLUG CAP, for Kawasaki rouser	piece	0	4	0	0	0	0	0	0	0	0	0	0	4	50.00	200.00	
SPARK PLUG CAP, for Shining 150	piece	0	6	0	0	0	0	0	2	0	0	0	0	2	10	50.00	500.00
SPARK PLUG, for Kawasaki CT-100	piece	0	4	0	0	0	0	0	0	0	0	0	0	4	190.00	760.00	
SPARK PLUG, for Kawasaki rouser	piece	0	20	0	0	0	0	0	0	0	0	0	0	0	20	190.00	3,800.00
SPARK PLUG, for Shining 150	piece	0	6	0	0	0	0	2	0	0	0	0	0	2	10	190.00	1,900.00
SPARK PLUGS (SHINING/ROUSSEUR/RL 200 MOTORCYCLE)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	150.00	0.00
SPARK PLUGS(MOS)	Pieces	0	4	0	0	0	0	0	4	0	0	0	0	0	4	430.00	3,440.00
SPRACKET GEAR	Pieces	0	16	0	0	0	0	0	0	0	0	0	0	0	16	900.00	14,400.00
SPRACKET GEAR (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,280.00	0.00
SPRING PAD (TOYOTA ALDIS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
STABILIZER BUSHING (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,300.00	0.00
STABILIZER BAR ASSY (SUZU DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,360.00	0.00
STABILIZER BAR ASSY (SUZU NRR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,900.00	0.00
STABILIZER BAR ASSY(KIA KC2700)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	625.00	0.00
STABILIZER BAR SMALL (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	71.00	0.00
STABILIZER BAR BUSH (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	490.00	0.00
STABILIZER BAR BUSHING (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,450.00	0.00
STABILIZER BAR BUSHING (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	313.00	0.00
STABILIZER BAR BUSHING (Toyota Revo)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	730.00	0.00
STABILIZER BUSHING (Foton Ambulance)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	560.00	0.00
STABILIZER BUSHING KIT(MOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	620.00	0.00
STABILIZER LINK (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,660.00	0.00
STABILIZER LINK (SUZU DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,980.00	0.00
STABILIZER LINK (SUZU NRR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,380.00	0.00
STABILIZER LINK ASSY (KIA KC2700)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	480.00	0.00
STABILIZER LINK ASSY (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	520.00	0.00
STABILIZER LINK BUSHING (FORD RANGERO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	900.00	0.00
STABILIZER LINK BUSHING w/ Bud (Foton Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	560.00	0.00
STABILIZER ROD w/ BUSHING (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
STARTER (SUZU MINI DUMPTRUCK)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,700.00	0.00
STARTER ASSY (FAW TRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,560.00	0.00
STARTER ASSY (SUZU DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	9,650.00	0.00
STARTER ASSY (SUZU NRR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	9,650.00	0.00
STATOR ASSY, for Honda xl 200	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
STATOR ASSY, for Kawasaki CT-100	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	950.00	0.00
STATOR ASSY, for Kawasaki rouser	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
STEERING BOOTS (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	0.00
STEERING BOOTS (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	900.00	0.00
STEERING CLAMP (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	95.00	0.00
STEERING CLAMP BUSHING(MOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	560.00	0.00
STEERING COUPLING ASSY LOWER (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,200.00	0.00
STEERING COUPLING BAR WITH CROSSJOINT(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,650.00	0.00
STEERING RACK ASSEMBLY (CHIANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,500.00	0.00
STEERING RACK ASSEMBLY (CHIANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,500.00	0.00
STEERING ROD KIT (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,280.00	0.00
STEERING ROD BAR ASSY (Cater Faw Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,200.00	0.00

STEERING WHEEL(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,950.00	0.00	
STEP BOARD (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,900.00	0.00	
STOP LIGHT SWITCH, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
STRAP FOR BAR BOOTS(WOB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	88.00	0.00	
STRETCH BAR BUSHING (Toyota Revd)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	480.00	0.00	
STROBE LIGHT	unit	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10,900.00	0.00	
STRUT BAR BUSHING (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00	
STRUT BAR BUSHING - BIG (TOYOTA REV'D)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	220.00	0.00	
STRUT BAR BUSHING (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	270.00	0.00	
STRUT BAR BUSHING(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00	
STUD BOLT NUT 1/2x 55(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	54.00	0.00	
SUNCTION HOSE (Toyota Revd)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00	
SWITCH ASSY. (FRONT), for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
SWITCH ASSY. (LEFT), for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
SWITCH ASSY. (LEFT), for Kawasaki router	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
SWITCH ASSY. (RIGHT), for Kawasaki router	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
SWITCH ASSY., left, for Honda air 200	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
SWITCH ASSY., right, for Honda air 200	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
TAIL/STOP LIGHT BULB 12V, for Honda air 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	20.00	0.00	
TAIL / STOP LIGHT BULB 12V, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	20.00	0.00	
TAIL / STOP LIGHT BULB 12V, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	20.00	0.00	
TAIL / STOP LIGHT BULB 12V, for Shering 150	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	20.00	120.00	
TAIL LIGHT - RH (TOYOTA REV'D)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,660.00	0.00	
TAIL LIGHT ASSEMBLY (Foton Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,100.00	0.00	
TAIL LIGHT ASSEMBLY (SUZUKI DMAX)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,800.00	0.00	
TAIL LIGHT ASSEMBLY (Nissan NVR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,600.00	0.00	
TAIL LIGHT ASSEMBLY (Cater File Truck)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,850.00	0.00	
TAIL LIGHT ASSY (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	18	4,500.00	72,000.00	
TAIL LIGHT ASSY (SUZUKI DMAX)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,800.00	0.00	
TAIL LIGHT ASSEMBLY (Toyota Revd)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,800.00	0.00	
TAIL LIGHT BULB SINGLE CONTACT (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	25.00	0.00	
TAIL LIGHT LAR (TOW TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,832.00	0.00	
TAIL LIGHT RIGHT SIDE (Toyota Revd)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00	
TAIL LIGHT/BRAKE LIGHT ASSY. (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,250.00	0.00	
TENSIONER (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,500.00	0.00	
TENSIONER BEARING (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	975.00	0.00	
TENSIONER BEARING (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	675.00	0.00	
TENSIONER GUIDE (VIO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,160.00	0.00	
THREE BOND GASKET, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	0.00	
THREE BOND GASKET, for Shering 150	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	60.00	480.00	
THROTTLE CABLE, for Honda air 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	160.00	0.00	
THROTTLE CABLE, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	400.00	0.00	
THROTTLE CABLE, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00	
THROTTLE CABLE, for Shering 150	piece	0	4	0	0	0	0	2	0	0	0	0	0	0	0	0	0	75.00	450.00	
THROTTLE PIPE, for Honda air 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
THROTTLE PIPE, for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
THROTTLE PIPE, for Kawasaki router	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	75.00	0.00	
THROTTLE PIPE, for Shering 150	piece	0	4	0	0	0	0	0	0	0	0	0	0	0	0	2	6	75.00	450.00	
TIE ROD ARM BRACKET (FORD RANGER)	Pieces	0	12	0	0	0	0	0	0	0	0	0	0	0	0	12	0	24	4,500.00	108,000.00
TIE ROD BAR (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,900.00	0.00	

TIE ROD BAR (FORD RANGER)	Pieces	0	12	0	0	0	0	0	0	0	0	12	0	24	2,640.00	63,360.00
TIE ROD BAR (FORDLYNX)	Pieces	0	3	0	0	0	0	0	0	0	0	0	0	3	873.00	2,625.00
TIE ROD BAR (Foton Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,700.00	0.00
TIE ROD BAR (HONDA CIVIC, CITY)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	2	1,950.00	2,100.00
TIE ROD BAR (SUZU OMAX)	PCS	0	12	0	0	0	0	0	0	0	0	0	0	18	4,180.00	75,240.00
TIE Rod Bar (Isuzu NKR)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	4,180.00	0.00
TIE Rod Bar (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
TIE ROD BAR (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,400.00	0.00
TIE ROD BAR (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,680.00	0.00
TIE ROD BAR BOOTS (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,778.00	0.00
TIE ROD BAR BOOTS (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00
TIE ROD BAR BOOTS (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
TIE ROD BAR BOOTS W/ STRAP (HONDA CIVIC, CITY)	Pieces	0	2	0	0	0	0	1	0	0	0	0	0	3	350.00	1,050.00
TIE ROD BAR BOOTS(RVIOS)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	8	900.00	4,800.00
TIE ROD BAR(KIA XC2700)	Pieces	0	12	0	0	0	0	0	0	0	0	12	0	24	975.00	23,400.00
TIE ROD BAR(VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,850.00	0.00
TIE ROD END (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,040.00	0.00
TIE ROD END (FORDLYNX)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	2	880.00	1,760.00
TIE ROD END(Foton Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,200.00	0.00
TIE ROD END (HONDA CIVIC, CITY)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	2	880.00	1,720.00
TIE ROD END (SUZU OMAX)	PCS	0	8	0	0	0	0	0	0	0	0	0	0	8	1,940.00	15,520.00
TIE ROD END (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,940.00	0.00
TIE ROD END (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00
TIE ROD END (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,700.00	0.00
TIE ROD END (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	8	1,300.00	10,400.00
TIE ROD END OUTER (Carter Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,950.00	0.00
TIE ROD END(KIA XC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	800.00	0.00
TIE ROD END(VIOS)	Pieces	0	8	0	0	0	0	0	0	0	0	0	0	8	1,632.00	13,056.00
TIE ROD LONG (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,125.00	0.00
TIE ROD SHORT (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	782.00	0.00
TIMING BELT (SUZU BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,700.00	0.00
TIMING BELT (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,900.00	0.00
TIMING BELT (CHANA OR EQUIVALENT)	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	2,100.00	0.00
TIMING BELT (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00
TIMING BELT (FAW TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,400.00	0.00
TIMING BELT (FORDLYNX)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	2	2,800.00	5,600.00
TIMING BELT (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	3,000.00	0.00
TIMING BELT (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,900.00	0.00
TIMING BELT IDLER BEARING (FORDLYNX)	Pieces	0	2	0	0	0	0	0	0	0	0	1	0	3	680.00	2,040.00
TIMING BELT TENSIONER (CHANA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,380.00	0.00
TIMING BELT TENSIONER (FORDLYNX)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	2	1,180.00	2,360.00
TIMING BELT TENSIONER (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	2,200.00	0.00
TIMING CHAIN (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	1,650.00	0.00
TIMING CHAIN (MOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	4,080.00	0.00
TIMING CHAIN, for Honda vt 200	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	0.00
TIMING CHAIN, for Kawasaki CT-100	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	650.00	0.00
TIMING CHAIN, for Kawasaki router	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	870.00	0.00
TIMING GEAR (TOYOTA REVO)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	2,220.00	0.00
TIRE 100/90R17	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	4	2,200.00	8,200.00
TIRE 120/90R17	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	4	2,200.00	8,800.00

TIRE 155R12	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,890.00	0.00
TIRE 155R12X8	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00
TIRE 155R13	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,500.00	0.00
TIRE M570R13	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,750.00	0.00
TIRE TUBE for Honda str 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,700.00	0.00
TIRES 10.00 x 20, Dump Truck, 10 wheeler	Pieces	0	10	0	0	0	0	0	0	0	0	0	0	0	0	0	18	90,000.00	900,000.00
TIRES 105/80 R13	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,800.00	0.00
TIRES 175/70 R13	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,500.00	0.00
TIRES 185 /70 R13	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,400.00	0.00
Tires 185 R14 8 Ply	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,500.00	0.00
TIRES 185/65 R14	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,200.00	0.00
TIRES 195 60 R14	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,700.00	0.00
Tires 195 R14 8 Ply	sets	0	16	0	0	0	0	4	0	0	0	0	0	0	0	0	20	5,300.00	106,000.00
TIRES 195 R14C	Pieces	0	16	0	0	0	0	4	0	0	0	0	0	0	0	0	20	4,350.00	87,000.00
TIRES 195/65 R14	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,500.00	0.00
TIRE 195R14 8	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,300.00	0.00
TIRES 20.00 x 20, Payloader, 675	Pieces	0	16	0	0	0	0	4	0	0	0	0	0	0	0	0	20	30,000.00	600,000.00
TIRES 205 /65 R15	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,150.00	0.00
TIRES 215/ 70 R15	Pieces	0	16	0	0	0	0	4	0	0	0	0	0	0	0	0	20	6,400.00	128,000.00
TIRES 235/75 R15	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,000.00	0.00
TIRES 245/75 R16	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,000.00	0.00
TIRES 7.50/16 R16	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,600.00	0.00
TIRES 700 R15	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,850.00	0.00
TIRES 700 R16	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	8,400.00	0.00
TORQUE WRENCH (1/2 DRIVE (200 FT LBS))	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	840.00	0.00
TRANS SUPPORT FRONT SIDE (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,250.00	0.00
TRANS SUPPORT LEFT SIDE (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,250.00	0.00
TRANS SUPPORT REAR (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,000.00	0.00
TRANSMISSION SUPPORT (ISUZU DMAX)	sets	0	4	0	0	0	0	0	0	0	0	0	0	2	0	0	0	5,400.00	38,880.00
TRANSMISSION SUPPORT (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	5,480.00	0.00
TRANSMISSION SUPPORT (Toyota Rev0)	pieces	0	4	0	0	0	0	0	0	0	0	0	0	0	0	0	4	2,400.00	9,600.00
TRANSMISSION SUPPORT B62WD5	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,840.00	0.00
TRANSMISSION SUPPORT SMALL VVCS	Pieces	0	4	0	0	0	0	0	0	0	0	0	0	2	0	0	0	3,000.00	18,000.00
TRANSMISSION SUPPORT(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,325.00	0.00
TRASH WASHER (ISUZU MINI DUMPTRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00
TUBE GREASE	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	150.00	0.00
U-BOLT (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
UPPER BALL JOINT (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,820.00	0.00
UPPER BALL JOINT (Ford Ambulance)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00
UPPER BALL JOINT (ISUZU DMAX)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,750.00	0.00
UPPER BALL JOINT (Isuzu NKR)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,750.00	0.00
UPPER BALL JOINT (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
UPPER BALL JOINT (Toyota Rev0)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,150.00	0.00
UPPER BALL JOINT (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,200.00	0.00
UPPER BALL JOINT (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,188.00	0.00
UPPER BALL JOINT (TOYOTA REV0)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,020.00	0.00
UPPER RADIATOR HOSE (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	980.00	0.00
UPPER RADIATOR HOSE(Carter Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
UPPER RADIATOR HOSE (TOYOTA INNOVA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	680.00	0.00
UPPER RADIATOR HOSE(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	0.00

UPPER SUSPENSION ARM (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,300.00	0.00
UPPER SUSPENSION ASSY (HONDA CIVIC CITY)	Pieces	0	2	0	0	0	0	0	0	0	0	0	0	0	1	3	2,000.00	6,000.00
UPPER SUSPENSION BUSHING (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,100.00	0.00
UPPER SUSPENSION BUSHING (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,880.00	0.00
UPPER SUSPENSION BUSHING (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	0.00
UPPER SUSPENSION BUSHING (Toyota Revo)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,380.00	0.00
UPPER SUSPENSION BUSHING L/R(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,500.00	0.00
VALVE COVER GASKET (KIA SEDONA)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	0.00
VALVE DRIER (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,000.00	0.00
VALVE DRIER (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,125.00	0.00
VALVE DRIER (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,178.00	0.00
VALVE GUIDE (Toyota Revo)	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,400.00	0.00
VALVE SEAL (LIFTER TRUCK)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	1,900.00	15,200.00
VALVE SEAL, for Honda xr 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	500.00	0.00
VALVE SEAL, for Kawasaki CT-100	sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	400.00	0.00
VALVE SEAL, for Kawasaki rouser	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	400.00	0.00
VALVE SEAL, for Shining 150	sets	0	4	0	0	0	0	0	0	0	0	0	0	0	2	6	400.00	2,400.00
WATER PUMP ASSYSEMBLY (SUZUKI MINI DUMPTRUCK)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	4,800.00	36,400.00
WATER PUMP ASSYSEMBLY (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,100.00	0.00
WATER PUMP KIT (BUS)	PCS	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,700.00	0.00
WELDING CABLE	Meters	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	160.00	0.00
WELDING MASK	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	216.00	0.00
WHEEL BEARING (FRONT), for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
WHEEL BEARING (FRONT), for Kawasaki rouser	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
WHEEL BEARING (FRONT), for Shining 150	piece	0	0	4	0	0	0	0	0	0	0	0	0	0	2	6	450.00	2,700.00
WHEEL BEARING (REAR), for Honda xr 200	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
WHEEL BEARING (REAR), for Kawasaki CT-100	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
WHEEL BEARING (REAR), for Kawasaki rouser	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
WHEEL BEARING (REAR), for Shining 150	piece	0	0	4	0	0	0	0	0	0	0	0	0	0	2	6	450.00	2,700.00
WHEEL BEARING HUB (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	7,200.00	0.00
WHEEL BEARING OIL SEAL (FORD RANGER)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	375.00	0.00
WHEEL BEARING OIL SEAL (KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
WHEEL BEARING OIL SEAL (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	340.00	0.00
WHEEL BEARING OIL SEAL (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	528.00	0.00
WHEEL BEARING OIL SEAL FRONT (Carter Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	350.00	0.00
WHEEL BEARING OIL SEAL FRONT (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	528.00	0.00
WHEEL BOOT (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	720.00	0.00
WHEEL BOOTS (Carter Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	686.00	0.00
WHEEL BOOTS (HONDA CIVIC CITY)	Sets	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	698.00	1,392.00
WHEEL BOOTS (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	100.00	0.00
WHEEL BOOTS BRAKE (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00
WHEEL CLIPS (Carter Fire Truck)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	680.00	5,440.00
WHEEL CLIPS (HONDA CIVIC CITY)	Sets	0	2	0	0	0	0	0	0	0	0	0	0	0	0	2	690.00	1,392.00
WHEEL CLIPS (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	100.00	0.00
WHEEL CLIPS (TOYOTA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	120.00	0.00
WHEEL CLIPS (VIOS)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	790.00	0.00
WHEEL CLIPS BRAKE (KIA SEDONA)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	40.00	0.00
WHEELBEARING COVER (TOYOTA REVO)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	275.00	0.00
WIND SHIELD(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	6,500.00	0.00
WINDOW GLASS PASSENGER SIDE (Left) (Toyota Revo)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	3,800.00	0.00

WINDOW RISER(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	375.00	0.00
WINDOW RISER (Toyota Rev0)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
WINDOW RISER HANDLE (TOW TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	300.00	2,400.00
WIPER ARM W/ BLADE(KIA KC2700)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
WIPER BLADE (FORD EVEREST)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,813.00	0.00
WIPER BLADE (KIA SEDONA)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	420.00	0.00
WIPER BLADE (SUZUKI MULTICAB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	750.00	0.00
WIPER BLADE (MOB)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	840.00	0.00
WIPER BLADE ASSY(Center Fire Truck)	piece	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	225.00	0.00
WIPER BLADE ASSY (KIA KC)	pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	850.00	0.00
WIPER BLADE(TOYOTA REV0)	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	450.00	0.00
WIPER MOTOR ASSEMBLY (TOW TRUCK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,500.00	20,000.00
WIPERBLADE ASSEMBLY (TOYOTA BACK TO BACK)	Pieces	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	950.00	0.00
YAMALUBE	gal	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	200.00	0.00
YOCK with cross joint assembly, 4DR5	Sets	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	10,000.00	0.00
SPARE PARTS for repair of Backhoe	lot	0	0	1	0	0	0	0	0	0	0	0	0	0	0	1	504,600.00	704,600.00
Flowers																		
BOUQUET	piece	250	250	250	250	250	250	250	250	250	250	250	250	3000			350.00	1,050,000.00
FLOWERS DECOR/ARRANGEMENT FOR THE STAGE, composed of variety of flowers, local or imported, with or without stand, inclusive of ribbons, balloons, basket or stand (if applicable)	piece	100	100	100	100	100	100	100	100	100	100	100	100	1200			5,000.00	6,000,000.00
STANDING SPRAYS, composed of a variety of local flowers (at least 20), fillers and leaves, inclusive of ribbon, and basket or clay pot, for bereaved families (Mayor's Office)	piece	300	300	300	300	300	300	300	300	300	300	300	300	3600			2,000.00	7,200,000.00
STANDING SPRAYS, species, composed of wide variety of flowers (at least 30), imported or local, inclusive of ribbon, and basket or clay pot, for bereaved families (Mayor's Office)	piece	200	200	200	200	200	200	200	200	200	200	200	200	2400			2,800.00	6,720,000.00
Accountable Forms																		
ACCOUNTABLE FORM NO. 16, Community Tax Certificate (Individual)	page	750	750	750	750	750	750	750	750	750	750	750	750	9000			57.50	517,500.00
ACCOUNTABLE FORM NO. 55-E, Cash Ticket	page	50	50	50	50	50	50	50	50	50	50	50	50	600			85.00	51,000.00
ACCOUNTABLE FORM NO. 56, Personalized Land Tax Receipt	page	200	200	200	200	200	200	200	200	200	200	200	200	2400			075.00	430,000.00
ACCOUNTABLE FORM NO. 61, Personalized Official Receipt, Carbonless with water mark encrypted (barcoding code 2D, modulus 10 with security ink, 3 ply 50 x 3 carbonless paper)	page	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	1000	12000			110.00	1,320,000.00
ACCOUNTING 121-A, cashbook (cash-in-bank)	books	20	20	20	20	20	20	20	20	20	20	20	20	240			287.50	69,000.00
ACCOUNTING 121-A, cashbook (cash-in-treasury)	books	20	20	20	20	20	20	20	20	20	20	20	20	240			287.50	69,000.00
BR FORM 0016 COMMUNITY TAX CERTIFICATE (Individual)	page	800	800	800	800	800	800	800	800	800	800	800	800	9600			53.24	511,104.00
BR FORM 0017 COMMUNITY TAX CORPORATION (Individual)	page	100	100	100	100	100	100	100	100	100	100	100	100	1200			110.88	133,056.00
BR FORM 907	page	30	30	30	30	30	30	30	30	30	30	30	30	360			51.00	19,800.00
Municipal Forms																		
FETAL DEATH CERTIFICATE FORM	PAD	100	0	0	100	0	0	100	0	0	100	0	0	400			305.00	122,000.00
MUNICIPAL FORM NO. 100 - REGISTER OF APPLICATION FOR MARRIAGE LICENSES	ream	10	0	0	10	0	0	10	0	0	10	0	0	40			631.00	25,400.00
MUNICIPAL FORM NO. 102 - ATTACHMENT	PAD	100	0	0	100	0	0	100	0	0	100	0	0	400			305.00	122,000.00

MUNICIPAL FORM NO. 102 - CERTIFICATE OF LIVE BIRTH	PAD	600	0	0	600	0	0	600	0	0	600	0	0	2400	305.00	732,000.00	
MUNICIPAL FORM NO. 103 - ATTACHMENT	PAD	50	0	0	50	0	0	50	0	0	50	0	0	200	305.00	61,000.00	
MUNICIPAL FORM NO. 103 - CERTIFICATE OF DEATH	PAD	100	0	0	100	0	0	100	0	0	100	0	0	400	305.00	122,000.00	
MUNICIPAL FORM NO. 25 - REGISTER OF MARRIAGES	BOOK	10	0	0	10	0	0	10	0	0	10	0	0	40	850.00	34,000.00	
MUNICIPAL FORM NO. 26-1 REGISTER OF BIRTHS	BOOK	10	0	0	10	0	0	10	0	0	10	0	0	40	850.00	34,000.00	
MUNICIPAL FORM NO. 27 - REGISTER OF DEATHS	BOOK	10	1	1	10	1	1	10	1	1	10	1	1	48	850.00	40,800.00	
MUNICIPAL FORM NO. 54 - MARRIAGE LICENSE AND FEE RECEIPT	BOOK	50	0	0	50	0	0	50	0	0	50	0	0	200	245.00	49,000.00	
MUNICIPAL FORM NO. 90 - APPLICATION FOR MARRIAGE LICENSE	PAD	200	0	0	200	0	0	200	0	0	200	0	0	800	245.00	196,000.00	
MUNICIPAL FORM NO. 97 - ATTACHMENT	PAD	50	0	0	50	0	0	50	0	0	50	0	0	200	305.00	61,000.00	
MUNICIPAL FORM NO. 97 - CERTIFICATE OF MARRIAGE	PAD	150	0	0	150	0	0	150	0	0	150	0	0	600	305.00	183,000.00	
Customized Forms																	
CALLING CARDS, various	boxes	0	21	2	21	1	1	21	1	1	21	1	1	82	100.00	9,200.00	
CERTIFIED TAX DECLARATION SHEET (DUPLICATE COPY)	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	875.00	350,000.00	
CERTIFIED TAX DECLARATION SHEET (OWNER'S COPY)	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	875.00	350,000.00	
CHILDHOOD CARE DEVELOPMENT CARDS (ECCD CARDS)	cards	0	500	0	500	0	0	500	0	0	500	0	0	2000	33.00	66,000.00	
CUSTOMIZED APPLICATION FOR BUILDING PERMIT	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	860.00	344,000.00	
CUSTOMIZED ASSESSOR'S FIELD SHEET	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	870.00	348,000.00	
CUSTOMIZED ASSESSOR'S FIELD SHEET	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	870.00	348,000.00	
CUSTOMIZED BUSINESS PERMIT	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	100.00	40,000.00	
CUSTOMIZED CERTIFICATE OF APPRECIATION	reams	0	50	2	50	1	1	50	1	1	50	1	1	206	785.00	163,280.00	
CUSTOMIZED CERTIFICATE OF ATTENDANCE	reams	0	50	2	50	1	1	50	1	50	1	1	706	5.00	3,540.00		
CUSTOMIZED CERTIFICATE OF RECOGNITION	reams	0	50	2	50	1	1	50	1	1	50	1	1	206	785.00	163,280.00	
CUSTOMIZED CLASS CARD, WHITE BRISTOL BOARD	pieces	0	0	0	5000	0	0	0	0	5000	0	0	0	10000	1.50	15,000.00	
CUSTOMIZED DEMOLITION PERMIT	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	880.00	344,000.00	
CUSTOMIZED DESK PAD	pads	0	50	15	50	8	8	50	8	50	27	8	8	283	48.00	13,584.00	
CUSTOMIZED DIPLOMA HOLDER	piece	0	410	20	3010	610	10	310	10	10	310	10	10	4720	50.00	236,000.00	
CUSTOMIZED ELECTRICAL PERMIT	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	880.00	344,000.00	
CUSTOMIZED ENROLLMENT FORM CERTIFICATE, TRIPPLICATE	set	0	0	0	5000	0	0	0	0	5000	0	0	0	10000	7.51	75,100.00	
CUSTOMIZED EXCAVATION & GROUND PERMIT	reams	0	100	0	50	0	0	100	0	0	50	0	0	300	870.00	261,000.00	
CUSTOMIZED FENCING PERMIT	reams	0	50	0	50	0	0	50	0	0	50	0	0	200	870.00	174,000.00	
CUSTOMIZED GRADING SHEET	pads	0	50	0	50	0	0	50	0	0	50	0	0	200	1,035.00	207,000.00	
CUSTOMIZED HEALTH CERTIFICATE ID CARD	pieces	0	8000	0	0	0	0	8000	0	0	0	0	0	16000	5.00	80,000.00	
CUSTOMIZED I LOVE TAGUIG LOGO STICKER, 12X12	pieces	0	50	100	50	50	50	50	50	50	50	50	50	600	55.00	33,000.00	
CUSTOMIZED INVENTORY TAG STICKER	pieces	0	100	200	100	100	100	100	100	100	100	100	200	1300	12.80	16,640.00	
CUSTOMIZED LETTER ENVELOPE WITH CITY SEAL	boxes	0	50	100	50	50	50	50	50	50	50	50	50	600	665.00	399,000.00	
CUSTOMIZED LETTERHEAD - A4	reams	0	50	100	50	50	50	50	50	50	50	50	50	600	550.00	330,000.00	
CUSTOMIZED LETTERHEAD - LEGAL SIZE	reams	0	50	100	50	50	50	50	50	50	50	50	50	600	650.00	390,000.00	
CUSTOMIZED LIBRARY CARD, WHITE BRISTOL BOARD (TCU)	cards	0	0	0	5000	0	0	0	0	5000	0	0	0	10000	1.70	17,000.00	
CUSTOMIZED MAYOR'S CLEARANCE FORM	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	860.00	344,000.00	
CUSTOMIZED MECHANICAL PERMIT	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	880.00	352,000.00	
CUSTOMIZED PLUMBING PERMIT	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	880.00	352,000.00	
CUSTOMIZED POLICE CLEARANCE APPLICATION FORM	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	750.00	300,000.00	
CUSTOMIZED POLICE CLEARANCE FORM	reams	0	100	0	100	0	0	100	0	0	100	0	0	400	880.00	352,000.00	
CUSTOMIZED RPT INDEX CARD	reams	0	5	10	5	5	5	5	5	5	5	5	5	80	1,775.00	106,500.00	
CUSTOMIZED SANITARY PERMIT TO OPERATE	pieces	0	100	0	100	0	0	100	0	0	100	0	0	400	5.05	2,020.00	

CUSTOMIZED SENIOR CITIZEN I.D. CARD	pieces	0	10000	0	0	0	0	1000	0	0	1000	0	0	12000	2.00	24,000.00
CUSTOMIZED SENIOR CITIZEN PURCHASE BOOKLET (AGRI)	booklets	0	10000	0	0	0	0	1000	0	0	1000	0	0	12000	15.00	180,000.00
CUSTOMIZED SENIOR CITIZEN PURCHASE BOOKLET (MEDS)	booklets	0	10000	0	0	0	0	1000	0	0	1000	0	0	12000	15.00	180,000.00
CUSTOMIZED STICKERS FOR ID	pieces	0	50	100	50	50	50	50	50	50	50	50	50	600	30.00	18,000.00
CUSTOMIZED STOCK CARD (TPDH)	pieces	0	50	0	50	0	0	50	0	0	50	0	0	200	1.80	360.00
NEWSLETTER, for TCU, 8 pages, full color	copies	0	0	0	0	0	0	0	0	0	0	0	0	0	95.00	0.00
TPDH CHARGE SLIP	pads	0	50	0	50	0	0	50	0	0	50	0	0	200	400.00	80,000.00
TPDH STATEMENT OF ACCOUNT	pads	0	50	0	50	0	0	50	0	0	50	0	0	200	400.00	80,000.00
School Uniforms, Supplies and Graduation Requirements																
CUSTOMIZED YEARBOOK	lot	0	0	0	0	1	0	0	0	0	0	0	0	1	12,000,000.00	12,000,000.00
CUSTOMIZED SCHOOL SUPPLIES FOR DAY CARE STUDENTS	sets	0	0	11950	0	0	0	0	0	0	0	0	0	11950	1,067.85	12,999,807.50
GRADUATION PACKAGE	lot	0	1	0	0	0	0	0	0	0	0	0	0	1	10,000,000.00	10,000,000.00
CUSTOMIZED SCHOOL UNIFORM FOR TCU STUDENTS	lot	0	0	0	1	0	0	0	0	0	0	0	0	1	13,000,000.00	13,000,000.00

CUSTOMIZED SCHOOL UNIFORM for Day Care Students	sets	0	0	11950	0	0	0	0	0	0	0	0	0	11950	1,107.80	13,238,210.00
CUSTOMIZED SCHOOL UNIFORM for High School Students	sets	0	0	48329	0	0	0	0	0	0	0	0	0	48329	1,210.50	58,502,254.50
CUSTOMIZED SCHOOL UNIFORM for Preparatory, Grade 1 to Grade 6 Students	sets	0	0	97282	0	0	0	0	0	0	0	0	0	97282	1,107.80	107,768,999.60
Student's Chair for High School Materials: Polypropylene. Average Height: 750 mm., Average Width: 450 mm., Average Thickness: 4.5 mm., Average Product Weight: 5.4 lbs.	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	3,295.00	0.00
Teacher's Chair Chair with Upholstery Standard Size	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	4,920.00	0.00
Teacher's Table Table with Topless Standard Size	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	6,895.00	0.00

Other Supplies and Materials																
2009 YEARBOOK of Labor Statistics	pcs	2	0	0	0	0	0	0	0	0	0	0	0	2	1,500.00	3,000.00
2010 YEARBOOK of Labor Statistics	pcs	2	0	0	0	0	0	0	0	0	0	0	0	2	1,500.00	3,000.00
2011 YEARBOOK of the Philippines	pcs	5	0	0	0	0	0	0	0	0	0	0	0	5	1,500.00	7,500.00
ACETONE	pcs	5	5	5	5	5	5	5	5	5	5	5	5	50	20.95	1,257.00
AMPALAYA, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	24	1,500.00	36,000.00
ANAHAW POST	pcs	30	30	30	30	30	30	30	30	30	30	30	30	350	400.00	144,000.00
ANTI-SMOKE BELCHING MACHINE	unit	0	2	0	0	0	0	0	0	0	0	0	0	2	750.00	1,500.00
ASAROL, Garden tools	pcs	5	10	5	5	5	5	5	5	5	5	5	5	55	770.00	50,050.00
AUDITING: A Journal of Practice & Theory	pcs	2	0	0	0	0	0	0	0	0	0	0	0	2	5,457.00	10,914.00
BAG, customized with I Love Taguig Logo, small	pcs	12	0	0	0	0	0	0	0	0	0	0	0	12	15.00	180.00
BALLOONS	pcs	120	156	620	120	120	120	120	120	220	120	120	120	2076	25.00	51,900.00
BAMBOO	pcs	0	0	0	0	20	0	0	0	0	0	0	0	20	120.00	2,400.00
BANGUS FINGERLINGS	pcs	25	25	25	25	25	25	25	25	25	25	25	25	300	2.00	600.00
BANNER, nylon tafeta, size 4 x 7 ft. embroidered, back to back	pcs	2	0	0	0	0	0	0	0	0	0	0	0	2	2,850.00	5,700.00
BANNER, nylon tafeta, size 5 x 9 ft. embroidered, back to back	pcs	2	0	0	0	0	0	0	0	0	0	0	0	2	3,200.00	6,400.00
BARBED WIRE	rolls	0	0	0	0	0	0	0	0	0	0	0	0	0	1,493.00	0.00
BASEBALL CAP, with Taguig City logo print Color: Various, Single Color or Combination of Two Colors	pcs	500	500	500	500	500	500	500	500	500	500	500	500	6000	127.00	762,000.00
BATTERY CHARGER	pcs	4	0	0	0	0	0	0	0	0	0	0	0	4	250.00	1,000.00
BAYONG, pandan, big	pcs	10	10	32	10	10	10	10	10	10	32	10	10	164	75.00	12,300.00

BILAO, large	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	75.00	9,000.00	
BULO	pcs	0	0	0	0	0	0	0	0	0	0	0	0	0	8	1,500.00	12,000.00	
BOTTLE SPRAY	pcs	10	22	10	10	10	10	10	10	10	10	10	10	10	132	100.00	13,200.00	
BURI HAT	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120	75.00	9,000.00	
BUSH SITAW, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	2	24	600.00	14,400.00	
CALIBRATION BUCKET	pcs	7	7	7	7	7	7	7	7	7	7	7	7	7	84	2,800.00	243,600.00	
CAN SEALER	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	63	3,000.00	189,000.00	
CAR FRESHENER	can	46	52	28	28	28	28	46	28	28	28	28	28	28	398	200.00	79,200.00	
CASH BOX, with lock	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	10	65	2,000.00	130,000.00
CASSEROLE	pcs	12	5	5	5	5	5	5	5	5	5	5	5	5	67	750.00	50,250.00	
Categorical Advance / Specialized Training on Disaster Preparedness	lot	1	0	0	0	0	0	0	0	0	0	0	0	0	1	11,300,000.00	11,300,000.00	
CELLULAR PHONE, for Service Phone	units	46	0	0	0	0	0	10	0	0	0	0	0	0	56	8,000.00	448,000.00	
CELLULAR PHONE, with GPS for tax mapping	units	50	0	0	0	0	0	0	0	0	0	0	0	0	50	3,500.00	175,000.00	
CHEF KNIFE, orange handle	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	60	500.00	30,000.00	
Chef Magazine	pcs	1	1	1	1	1	1	1	1	1	1	1	1	1	12	860.00	7,920.00	
CHOPPING BOARD	pcs	10	5	5	5	5	5	5	5	5	5	5	5	5	65	300.00	19,500.00	
CIRCULAR	pcs	3	0	0	0	0	0	0	0	0	0	0	0	0	3	6,800.00	20,400.00	
CLEAVER KNIFE	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	60	500.00	30,000.00	
COCO CLOTH	rolls	1	1	1	1	1	1	1	1	1	1	1	1	1	12	5,000.00	60,000.00	
COLLEGE PLANNING & MANAGEMENT	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	60	430.00	25,800.00	
CONSSOMME CUP, with underliner	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	60	80.00	4,800.00	
COSTUMES, barong and Rajiniana gowns and costumes	lot	2	0	0	0	0	0	0	0	0	0	0	0	0	2	490,000.00	992,000.00	
COTTON	pcs	12	12	12	12	12	12	12	12	12	12	12	12	12	144	12.50	1,800.00	
CREATIVE-The Magazine of Promotion	pcs	2	0	0	0	0	0	0	0	0	0	0	0	0	2	665.00	1,330.00	
CROWN	pieces	2	2	2	2	2	2	2	2	2	2	2	2	2	24	520.00	12,480.00	
CUCUMBER, vegetable seeds	set	2	2	2	2	2	2	2	2	2	2	2	2	2	24	158.00	3,792.00	
CUP & SAUCER	pairs	74	50	50	50	50	50	50	50	50	50	50	50	50	624	50.00	31,200.00	
CUSTOMIZED COLLAPSED TENT, 7 x 10, G.I. Pipe	pcs	50	10	10	50	10	10	50	10	10	50	10	10	280	15,400.00	4,312,000.00		
CUSTOMIZED COLLAPSED TENT, 8 x 16, G.I. Pipe	pcs	50	10	10	50	10	10	50	10	10	50	10	10	280	24,150.00	6,762,000.00		
CYMBUSH, insecticide	pcs	4	4	4	4	4	4	4	4	4	4	4	4	4	48	1,000.00	48,000.00	
DIGITAL METER	pcs	5	0	0	0	0	0	0	0	0	0	0	0	0	5	800.00	4,000.00	
DINNER FORK	pcs	49	25	25	25	25	25	25	25	25	25	25	25	25	324	25.00	8,100.00	
DINNER PLATES, porcelain, white	pcs	49	25	25	25	25	25	25	25	25	25	25	25	25	324	100.00	32,400.00	
DINNER SPOONS	pcs	49	25	25	25	25	25	25	25	25	25	25	25	25	324	25.00	8,100.00	
DISASTER IMPLEMENTS AND SUPPLIES INCLUSIONS: 50 Units Aluminum Boat with max 10 passengers 25 Units Floodboats (hardwood or fiberglass) 2 sets Emergency Field Hospital tents (JH Standards Hospital) 5,770 Pieces Purified Water Plastic container with faucet 2,000 Bath Towel 2,000 bed Mat (Banig), 2,000 Blanket, 2,000 Mosquito Net Emergency Evacuation Feeding Accessories: Stainless Plates, Fork & Spoon, Plastic Water Container (5 gallons capacity) Aluminum Biggest Caldero, Aluminum Tumar, Aluminum Ladel, Iron Kettle, Biggest Kawa, Stainless Glass, Water Heating Equipments, Wooden Collapsible steel frame table with bench (8 seats)	lot	0	1	0	0	0	0	0	0	0	0	0	0	0	1	35,248,278.14	35,248,278.14	
DISCOVER MAGAZINE	pcs	2	2	2	2	2	2	2	2	2	2	2	2	2	24	460.00	11,040.00	
DRAWING INSTRUMENT w/ PROTRACTOR	pcs	1	0	0	0	0	0	0	0	0	0	0	0	0	1	150.00	150.00	
DUST MASK	pcs	22	70	20	22	20	20	72	20	20	22	20	20	240	35.00	12,180.00		
EARLING WARMING SYSTEM	lot	1	0	0	0	0	0	0	0	0	0	0	0	0	1	2,600,000.00	2,600,000.00	
EGGPLANT, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	2	24	1,000.00	24,000.00	

EMERGENCY MEDICAL/DENTAL SERVICES EQUIPMENT	lot	0	1	0	0	0	0	0	0	0	0	0	0	0	0	1	12,800,000.00	12,800,000.00
EMERGENCY MEDICINES	lot	0	1	0	0	0	0	0	0	0	0	0	0	0	0	1	10,000,000.00	10,000,000.00
EYE PROTECTOR	pairs	72	18	12	12	12	12	12	12	12	12	12	12	12	210		300.00	63,000.00
FINGERLINGS, knw	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	60		1.00	60.00
FIRE AXE	pcs	6	0	0	0	0	0	0	0	0	0	0	0	0	6		100.00	600.00
FIRE EXTINGUISHER REFILL, 10 lbs. capacity tank	units	16	0	0	0	0	0	0	0	0	0	0	0	0	16		750.00	12,000.00
FIRE EXTINGUISHER REFILL, 50 lbs. capacity tank	units	9	0	0	0	0	0	0	0	0	0	0	0	0	9		3,750.00	33,750.00
FIRE FIGHTING TOOLS, EQUIPMENT AND ACCESSORIES INCLUSIONS: 1 Set Complete Fire Truck Accessories 2,800 Sets Fire Extinguishers (10 lbs.) 12 Units Chemical Suit with Accessories (with certification) 12 Units CBRN Suits with Accessories (with certification)																		28,852,800.00
	lot	0	1	0	0	0	0	0	0	0	0	0	0	0	1		28,852,800.00	
FIRE HOSE 1 1/2 diameter, double jacket	rolls	50	0	0	0	0	0	0	0	0	0	0	0	0	50		100.00	5,000.00
FIRE HOSE 2 1/2 diameter, double jacket	rolls	25	0	0	0	0	0	0	0	0	0	0	0	0	25		350.00	8,750.00
FRAMED CERTIFICATES	pieces	10	10	30	10	10	10	10	10	10	10	10	10	10	140		350.00	49,000.00
FRENCH CURVE	pcs	2	0	0	0	0	0	0	0	0	0	0	0	0	2		400.00	800.00
FRIENDSHIP BAND OR BALLER, for various activities	pcs	50	50	50	50	50	50	50	50	50	50	50	50	50	600		20.00	12,000.00
FRYING PAN, stainless, small	pcs	10	5	5	5	5	5	5	5	5	5	5	5	5	65		150.00	9,750.00
GARDEN SOIL	dt	10	10	10	10	10	10	10	10	10	10	10	10	10	120		950.00	114,000.00
GAS MASK	pcs	10	10	10	10	10	10	10	10	10	10	10	10	10	120		3,500.00	420,000.00
GAS OVEN, stainless	units	1	0	0	0	0	0	0	0	0	0	0	0	0	1		7,000.00	7,000.00
GAS REGULATOR	units	3	0	0	0	0	0	0	0	0	0	0	0	0	3		1,200.00	3,600.00
GAS STOVE TABLE	units	3	0	0	0	0	0	0	0	0	0	0	0	0	3		3,000.00	9,000.00
GAS STOVE, 12 burner, with gas tank	units	3	0	0	0	0	0	0	0	0	0	0	0	0	3		3,000.00	9,000.00
GAS TANK	tanks	3	0	0	0	0	0	0	0	0	0	0	0	0	3		2,200.00	6,600.00
GASOLINE, OIL AND LUBRICANTS	lot	1	1	1	1	1	1	1	1	1	1	1	1	1	12		4,186,865.00	49,999,980.00
GLASS, tall	pcs	46	10	10	10	10	10	10	10	10	10	10	10	10	158		50.00	7,800.00
Green Tassel	pieces	2	2	2	2	2	2	2	2	2	2	2	2	2	24		150.00	3,600.00
IDENTIFICATION CARDS, customized, inclusive of pvc cards, printing and ID lace	pcs	100	100	100	100	100	100	100	100	100	100	100	100	1200			90.00	108,000.00
JOURNAL of Small Business & Business Entrepreneurship	pcs	1	1	1	1	1	1	1	1	1	1	1	1	1	12		2,710.00	32,520.00
KANGKONG, vegetable seeds	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600			500.00	300,000.00
KARAOKE	pcs	2	0	0	0	0	0	0	0	0	0	0	0	0	2		16,500.00	39,000.00
KARET, garden tool	pcs	5	10	5	5	5	5	5	5	5	5	5	5	5	66		280.00	18,200.00
LAMINATED WOVEN CLOTH, 8ft x 100 meters	rolls	1	1	1	1	1	1	1	1	1	1	1	1	1	12		16,000.00	120,000.00
LAMINATOR # 12	units	1	0	0	0	0	0	0	0	0	0	0	0	0	1		500.00	500.00
LETTUCE CORELLE, vegetables seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	2	24		1,200.00	28,800.00
LPG, 11 kilos	tanks	10	10	10	10	10	10	10	10	10	10	10	10	10	120		900.00	108,000.00
LPG, 50 kilos	tanks	10	10	10	10	10	10	10	10	10	10	10	10	10	120		4,000.00	480,000.00
LUBID, pamblin	rolls	1	1	1	1	1	1	1	1	1	1	1	1	1	12		100.00	1,200.00
LUNCH BOX with cover, rectangular, disposable	pcs	1	0	0	0	0	0	0	0	0	0	0	0	0	1		40.00	40.00
LUNCH BOX with cover, round, disposable	pcs	1	0	0	0	0	0	0	0	0	0	0	0	0	1		40.00	40.00
MEASURING CUP, plastic	sets	5	5	5	5	5	5	5	5	5	5	5	5	5	60		200.00	12,000.00
MEASURING SPOON, plastic	sets	5	5	5	5	5	5	5	5	5	5	5	5	5	60		150.00	9,000.00
MECHANICAL COMPASS	pcs	5	0	3	0	3	0	3	0	3	0	3	0	3	20		1,086.50	21,730.00
METRIC SCALE	pcs	6	0	0	0	0	0	0	0	0	0	0	0	0	6		230.00	1,380.00
MICROWAVE OVEN	unit	3	0	0	0	0	0	0	0	0	0	0	0	0	3		5,000.00	15,000.00
MIXING BOWL	pcs	10	5	5	5	5	5	5	5	5	5	5	5	5	65		300.00	19,500.00
MOSQUITO FORCEPS	pairs	3	3	3	3	3	3	3	3	3	3	3	3	3	36		75.00	2,700.00

MUSTASA, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	24	500.00	12,000.00
NAIL BRUSH	pcs	25	25	25	25	25	25	25	25	25	25	25	25	300	10.00	3,000.00
NAIL CUTTER, big, Royal or equivalent	pcs	25	25	25	25	25	25	25	25	25	25	25	25	300	41.50	12,450.00
NAIL FILE	pcs	25	25	25	25	25	25	25	25	25	25	25	25	300	18.50	5,550.00
NAIL POLISH, dark colors, caronia or equivalent	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	45.00	27,000.00
NAIL POLISH, light colors, caronia or equivalent	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	45.00	27,000.00
NAIL POLISH, natural, caronia or equivalent	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	45.00	27,000.00
NAIL POLISH, platinum, caronia or equivalent	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	45.00	27,000.00
NAIL PUSHER	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	31.50	18,900.00
NATIONAL BUILDING CODE, New Edition, by Vicente Fox	pcs	5	1	1	1	1	1	1	1	1	1	1	1	16	380.00	6,080.00
NATIONAL STRUCTURAL CODE OF THE PHILIPPINES	pcs	5	1	1	1	1	1	1	1	1	1	1	1	16	500.00	8,000.00
NEWSPAPER SUBSCRIPTION, Balita	month	32	32	32	32	32	32	32	32	32	32	32	32	384	303.50	116,544.00
NEWSPAPER SUBSCRIPTION, Malaysa Business Insight	month	31	31	31	31	31	31	31	31	31	31	31	31	372	433.34	161,202.48
NEWSPAPER SUBSCRIPTION, Manila Bulletin	month	33	33	33	33	33	33	33	33	33	33	33	33	396	554.67	219,649.32
NEWSPAPER SUBSCRIPTION, Manila Standard	month	32	32	32	32	32	32	32	32	32	32	32	32	384	372.00	142,848.00
NEWSPAPER SUBSCRIPTION, Manila Times	month	31	31	31	31	31	31	31	31	31	31	31	31	372	547.50	203,670.00
NEWSPAPER SUBSCRIPTION, Philippine Daily Inquirer	month	34	34	34	34	34	34	34	34	34	34	34	34	408	548.67	223,857.36
NEWSPAPER SUBSCRIPTION, Philippine Star	month	32	32	32	32	32	32	32	32	32	32	32	32	384	548.59	209,890.56
NEWSPAPER SUBSCRIPTION, Pilipino Star Ngayon Pang-Mesa	month	31	31	31	31	31	31	31	31	31	31	31	31	372	406.67	225,681.24
NEWSPAPER SUBSCRIPTION, Tempo	month	31	31	31	31	31	31	31	31	31	31	31	31	372	303.50	112,902.00
NEWSPAPER SUBSCRIPTION, The Daily Tribune	month	31	31	31	31	31	31	31	31	31	31	31	31	372	408.34	151,902.48
NYLON ROPE # 16mm	rolls	5	0	0	0	0	0	5	0	0	0	0	0	10	2,100.00	21,000.00
NYLON ROPE # 20mm	rolls	5	1	1	1	1	1	5	1	1	1	1	1	20	2,900.00	58,000.00
NYLON ROPE # 3mm, black	rolls	5	0	0	0	0	0	5	0	0	0	0	0	10	1,300.00	13,000.00
NYLON ROPE (3/16)	pieces	5	0	0	0	0	0	5	0	0	0	0	0	10	1,023.75	10,237.50
NYLON ROPE, 1"	rolls	5	1	1	1	1	1	5	1	1	1	1	1	20	450.00	9,000.00
NYLON ROPE, 3/4	rolls	5	0	0	0	0	0	5	0	0	0	0	0	10	2,800.00	28,000.00
NYLON ROPE, 6mm	rolls	5	0	0	0	0	0	5	0	0	0	0	0	10	1,100.00	11,000.00
OKRA, vegetable seeds	kilos	3	3	3	3	3	3	3	3	3	3	3	3	36	920.00	33,120.00
OTHER EQUIPMENT/Collapsible Evacuation Center	lot	0	0	1	0	0	0	0	0	0	0	0	0	1	13,000,000.00	13,000,000.00
OTHER EQUIPMENT/Portable Stage	lot	0	0	2	0	0	0	0	0	0	0	0	0	2	2,250,000.00	4,500,000.00
OVEN TOASTER	unit	3	0	0	0	0	0	0	0	0	0	0	0	3	3,000.00	9,000.00
PAIL, large	piece	10	5	5	5	5	5	5	5	5	5	5	5	65	70.00	4,550.00
PAIL, medium	piece	11	5	5	10	5	6	10	5	5	10	5	5	82	30.00	2,460.00
PAIL, small	piece	5	5	5	5	5	5	5	5	5	5	5	5	60	35.00	2,100.00
PANALI #200 M	rolls	1	1	1	1	1	1	1	1	1	1	1	1	12	60.00	720.00
PANGHAYUMA #2 x 100	rolls	5	5	5	5	5	5	5	5	5	5	5	5	60	25.00	1,500.00
PAPER PLATES, for fish ball	packs	50	50	50	50	50	50	50	50	50	50	50	50	600	25.00	15,000.00
PAROL, CHRISTMAS DECORS, CHRISTMAS VILLAGE W/ LIGHTS,	lot	0	0	0	0	0	0	0	0	0	0	1	0	1	10,000,000.00	10,000,000.00
MOBILE CHRISTMAS DECORS	lot	0	0	0	0	0	0	0	0	0	0	0	0	1	10,000,000.00	10,000,000.00
PARRING KNIFE	pcs	5	5	5	5	5	5	5	5	5	5	5	5	61	400.00	24,400.00
PATOLA, vegetable seeds	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	1,202.00	835,200.00
PECHAY, vegetable seeds	pcs	50	50	50	50	50	50	50	50	50	50	50	50	600	400.00	240,000.00
PEELER	pcs	5	5	5	5	5	5	5	5	5	5	5	5	60	190.00	11,400.00
PHILIPPINE FLAG "Banner (36" x 72)" Asst. Siz, with tassels, *Material (astm)	pieces	4	0	0	0	0	0	0	0	0	0	0	0	4	3,000.00	
PLANT POTS, big	piece	34	10	10	10	10	10	10	10	10	10	10	10	144	80.00	11,520.00
PLANT POTS, medium	piece	22	10	10	10	10	10	10	10	10	10	10	10	132	50.00	6,600.00
PLANT POTS, small	piece	10	10	10	10	10	10	10	10	10	10	10	10	120	20.00	2,400.00
PLASTIC BOX, 3 x 4	pcs	8	0	0	0	0	0	8	0	0	0	0	0	16	895.00	14,320.00

Polo Shirt with Print with the following specifications: Type: T-SHIRT with Collar Design: Taguig City logo with back printing (3 - 4 colors) Material: CVC (80% Cotton & 40% Polyester) Supercombed Color: Various except white	pcs	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	18000	310.00	5,580,000.00
Polo Shirt with Print with the following specifications: Type: T-SHIRT with Collar Design: Taguig City logo with back printing (3 - 4 colors) Material: CVC (80% Cotton & 40% Polyester) Supercombed Color: White	pcs	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	1500	18000	258.00	4,608,000.00
POTENTIALS MAGAZINE	pcs	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	940.00	11,280.00
Power Magazine	pcs	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	675.00	8,100.00
PROPS, baskets, hats, baston, slakot, 14ft, Metal riser, float props	lot	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	474,000.00	5,688,000.00
PROTRACTOR	pcs	11	5	5	5	5	5	5	5	5	5	5	5	5	5	68	32.75	2,227.50
PUSH CART	pcs	2	0	0	0	0	0	0	0	0	0	0	0	0	0	2	1,800.00	3,600.00
QUICK CHOPPER	sets	6	5	5	5	5	5	5	5	5	5	5	5	5	5	61	800.00	48,800.00
RACUMIN or equivalent	kilos	2	1	2	1	2	1	2	1	2	1	2	1	2	1	18	2,000.00	36,000.00
RADDISH, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	500.00	12,000.00
RAIN COAT	pcs	84	12	12	12	12	43	44	12	12	12	12	12	12	259	280.00	72,520.00	
RAKE, garden tools	pcs	15	5	5	5	5	5	5	5	5	5	5	5	5	70	400.00	28,000.00	
READER'S DIGEST	pcs	2	2	2	2	2	2	2	2	2	2	2	2	2	2	24	140.00	3,360.00
RED TASSEL	pieces	5	5	5	5	5	5	5	5	5	5	5	5	5	5	80	150.00	9,000.00
REFLECTORIZED TRAFFIC VEST	pcs	0	20	0	0	0	0	0	0	0	0	0	0	0	0	20	300.00	6,000.00
RESCUER, PPE's and Accessories	lot	0	1	0	0	0	0	0	0	0	0	0	0	0	0	1	8,168,932.00	8,168,932.00
RIBBON, various colors, 2inches, 10 yards	rolls	20	0	17	0	5	12	5	0	13	0	17	0	89	198.00	17,355.00		
RICE COOKER, heavy duty, LARGE	pcs	5	0	0	0	0	1	0	0	0	0	0	0	1	7	7,500.00	52,500.00	
ROLLING PIN, wooden	pcs	8	5	5	5	5	5	5	5	5	5	5	5	5	58	400.00	23,200.00	
RULER, steel, 24"	pcs	8	3	5	3	5	3	5	3	5	3	5	3	5	48	200.00	9,600.00	
SASH	piece	9	5	5	5	5	5	5	5	35	5	5	5	5	90	248.00	22,050.00	
SAUCE PAN, small	pcs	30	25	25	25	25	25	25	25	25	25	25	25	25	305	450.00	137,250.00	
SAUTE PAN, small	pcs	28	25	25	25	25	25	25	25	25	25	25	25	25	303	150.00	45,450.00	
Search and Rescue Equipment on Basic Hand Tools, Rope Access, Rescue Equipment, Shoring and Medical (Basic Hand Tools)	lot	1	0	0	0	0	0	0	0	0	0	0	0	0	0	1	32,636,067.00	32,636,067.00
Search and Rescue Equipment on Basic Hand Tools, Rope Access, Rescue Equipment, Shoring and Medical, Office Equipment (Evacuation Center, Medical Facility, Warehouse Office Equipment)	lot	1	0	0	0	0	0	0	0	0	0	0	0	0	0	1	8,400,000.00	8,400,000.00
SHARPENING ROD, stainless	pcs	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	200.00	2,400.00
SHOVEL, garden tools	pcs	10	5	5	5	5	5	5	5	5	5	5	5	5	89	380.00	24,700.00	
SILING LABUYO, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	2	24	600.00	12,000.00	
SILING PANIGANG, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	2	24	400.00	9,600.00	
SOUP LADLE	pcs	7	5	5	5	5	5	5	5	5	5	5	5	5	82	120.00	7,440.00	
SPADING FORK, garden tools	pcs	15	10	10	10	10	10	10	10	10	10	10	10	10	125	639.75	79,968.75	
SPANNER	pcs	11	9	9	9	9	12	9	9	9	11	9	9	9	115	1,500.00	172,500.00	
SPONGE	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	60	30.00	1,800.00	
SPOT LIGHT, 120 volts/40 wats	pcs	6	0	0	0	0	0	0	0	0	0	0	0	0	6	1,200.00	7,200.00	
SQUASH, vegetable seeds	kilos	2	2	2	2	2	2	2	2	2	2	2	2	2	24	1,200.00	28,800.00	
SQUEEZING NET	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	60	20.00	1,200.00	
STOCK POT	pcs	12	10	10	10	10	10	10	10	10	10	10	10	10	122	1,000.00	122,000.00	
STYRDOPHOR, 4 x 4 x 8	pcs	50	50	50	50	50	50	50	50	50	50	50	50	50	600	245.00	147,000.00	

SUNGAY TORO	pcs	6	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	6,990.00	41,940.00
TECH PEN INK, STAEDLER	bot	3	2	2	3	2	2	2	2	2	2	3	2	2	2	2	28	83.00	2,324.00
TECHNIC CONCEPT COMPASS	pcs	4	0	0	0	0	0	0	2	0	0	0	0	0	0	0	0	1,266.50	6,519.00
TECHNICAL PEN, 0.1 to 1.5, Rotring or equivalent	set	3	0	0	1	0	0	0	3	0	0	1	0	0	0	0	0	730.00	5,840.00
TECHNICAL PEN, 0.2	set	5	0	0	1	0	0	0	3	0	0	1	0	0	0	0	10	583.00	5,830.00
TECHNICAL PEN, 0.4	set	5	0	0	1	0	0	0	3	0	0	1	0	0	0	0	10	553.00	5,530.00
TECHNICAL PEN, 0.6	set	5	0	0	1	0	0	0	3	0	0	1	0	0	0	0	10	553.00	5,530.00
Technology Review	PCS	2	1	1	2	1	1	2	1	1	2	1	2	1	1	1	18	354.00	5,728.00
TILAPIA NILOTICA & COMMON CARP	pcs	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	109.00	1,200.00
TIME MAGAZINE	pcs	1	1	1	1	1	1	1	1	1	1	1	1	1	1	1	12	63.00	736.00
TOMATO, vegetable seeds	pcs	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	50	1,009.00	600,000.00
TRIANGLE 30x80 - BIG & MEDIUM SIZE	pcs	5	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	175.00	875.00
TRIANGLE 45 DEGREES - BIG & MEDIUM SIZE	pcs	5	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	175.00	875.00
TRIANGLE METRIC SCALE (different measurement) e.g. 1:100, 1:200, 1:400 1:50 1:75, 1:300, 1:40, 1:80, 1:120 and so on	pcs	5	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	209.00	1,045.00
TROPHIES	piece	365	365	5325	315	315	315	315	315	315	335	315	315	315	315	6910	285.00	2,539,350.00	
TROWEL, RANSPLANTER, CULTIVATOR, garden tools	piece	15	10	10	10	10	10	10	10	10	10	10	10	10	10	125	89.75	11,218.75	
T-Shirt with Print with the following specifications: Type: Round Neck T-Shirt (long sleeves) Design: Taguig City logo with back printing (3 - 4 colors) Materials: CVC (80% Cotton & 40% Polyester) Supercombed Color: White	pcs	800	800	800	800	800	800	800	800	800	800	800	800	800	800	9000	225.00	2,160,000.00	
T-Shirt with Print with the following specifications: Type: Round Neck T-Shirt Design: Taguig City logo with back printing (3 - 4 colors) Materials: CVC (80% Cotton & 40% Polyester) Supercombed Color: Various except White	pcs	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	84000	225.00	18,984,000.00	
T-Shirt with Print with the following specifications: Type: Round Neck T-Shirt Design: Taguig City logo with back printing (3 - 4 colors) Materials: CVC (50% Cotton & 40% Polyester) Supercombed Color: White	pcs	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	7000	84000	190.00	15,960,000.00	
T-SQUARE 24", plastic	pcs	4	0	0	0	0	0	0	2	0	0	0	0	0	0	0	0	550.00	3,300.00
T-SQUARE 24", wooden	pcs	2	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	600.00	1,200.00
T-SQUARE 36"	pcs	3	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	710.00	2,130.00
Umbrella with Taguig City logo print	pcs	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	2000	24000	184.00	3,936,000.00	
UNIFORMS, black long sleeves & pants with complete accessories	pcs	0	0	1	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	12,000.00
UNIFORMS, red long sleeves & pants with complete accessories	pcs	0	0	80	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000.00	120,000.00
UPO, vegetable seeds	pcs	50	50	50	50	50	50	50	50	50	50	50	50	50	50	800	150.00	90,000.00	
UREA FERTILIZER	pcs	25	25	25	25	25	25	25	25	25	25	25	25	25	25	300	1,250.00	375,000.00	
UTILITY BAG	pcs	20	20	20	20	20	20	20	20	20	20	20	20	20	20	240	150.00	36,000.00	
Vehicle Emission Equipment	lot	1	0	0	0	0	0	0	0	0	0	0	0	0	0	0	0	2,000,000.00	2,000,000.00
WALKING METER	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	5	80	850.00	51,000.00	
WATER JUG	pcs	8	0	0	0	0	0	0	5	0	0	0	0	0	0	0	0	800.00	8,400.00
WET LOOK BLACK SHOES	pairs	12	0	0	0	0	0	0	12	0	0	0	0	0	0	0	0	1,350.00	32,400.00
White Tassel	pieces	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	5	150.00	9,000.00
WIRE WHISK, stainless, small	pcs	5	5	5	5	5	5	5	5	5	5	5	5	5	5	80	100.00	6,000.00	
YELLOW TASSEL	pieces	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	2	150.00	3,600.00
Services																			
COLLECTION, TREATMENT AND DISPOSAL OF PATHOGENIC WASTE HOSPITAL	lots	1200	1200	1200	1100	1200	1100	1200	1150	1200	1100	1200	1150	14000				30.00	420,000.00
RENTAL OF CLASSROOM (SILANGAN)	months	1	1	0	0	0	0	0	0	0	0	0	0	0	0	2		60,000.00	120,000.00

Cost for Preventive Maintenance, Mindray BS-200 Fully Automated Chemistry Analyzer	unit	1	1	1	1	1	1	1	1	1	1	1	1	1	12	10,000.00	120,000.00
INTEGRATED WASTE MANAGEMENT SERVICES	months	1	1	1	1	1	1	1	1	1	1	1	1	1	12	33,890,000.00	406,200,000.00
INTEGRATED SECURITY SERVICES	lot	1	1	1	1	1	1	1	1	1	1	1	1	1	12	13,250,000.00	159,000,000.00
INTEGRATED IT SERVICES	lot	1	1	1	1	1	1	1	1	1	1	1	1	1	12	5,350,000.00	64,200,000.00
LAUNDRY SERVICES, infectious	kilos	2500	2500	2500	2500	2500	2500	2500	2500	2500	2500	2500	2500	2500	30000	32.00	960,000.00
LAUNDRY SERVICES, non-infectious	kilos	1200	1200	1200	1200	1200	1200	1200	1200	1200	1200	1200	1200	1200	14400	26.00	374,400.00
LIGHTS AND SOUNDS RENTAL, for various events, inclusive of band equipment	lot	4	4	4	4	4	4	4	4	4	4	4	4	4	48	17,000.00	816,000.00
One Year Preventive Maintenance and Calibration, Olympus Microscope (9 units), Model: CH40 (3 units), CH2 (4 units), CX31 (2 units), Anti-Fungus Tablet, Scope of Work: "Quarterly Diagnostic Check-up, "Quarterly Greasing and Calibration of all Mechanical Parts, " Quarterly check-up and Alignment of Prism, "Semi-Annual Anti-Fungus Treatment, "Semi-Annual Alignment of Prism, "Isolate Defective Parts	lot	1	1	1	1	1	1	1	1	1	1	1	1	1	1	58,725.00	58,725.00
PHOTOBOOTH RENTAL, at least 5 hours use, unlimited photo printing, for various events	units	4	4	4	4	4	4	4	4	4	4	4	4	4	48	10,000.00	480,000.00
PORTALET RENTAL, for various events	units	10	10	10	10	10	10	10	10	10	10	10	10	10	120	1,300.00	156,000.00
PRODUCTION SERVICES for Mutya ng Taguig and Flores de Mayo 2014	lot	0	0	0	1	0	0	0	0	0	0	0	0	0	1	5,000,000.00	5,000,000.00
RENTAL OF FUNCTION ROOM, for various events	lot	2	2	2	2	2	2	2	2	2	2	2	2	2	24	10,000.00	240,000.00
RENTAL OF PHOTOCOPIING MACHINES	units	40	40	40	40	40	40	40	40	40	40	40	40	40	480	8,500.00	4,080,000.00
RENTAL OF SOUND SYSTEM	units	4	4	4	4	4	4	4	4	4	4	4	4	4	48	5,000.00	240,000.00
VIDEO COVERAGE SERVICES	sets	4	4	4	4	4	4	4	4	4	4	4	4	4	48	5,000.00	240,000.00
VARIOUS TRAININGS, with bus rental, accommodation and food	lot	1	1	1	1	1	1	1	1	1	1	1	1	1	12	2,500,000.00	30,000,000.00

***GRAND TOTAL: 2,548,820,358.70
TOTAL W/ 10% ADDITIONAL PROVISION FOR INFLATION 2,803,702,394.57
APPROVED BUDGET:

*Other categories that are not indicated herein
**Prices are FOB Manila/Applicable for items under A.
***Grand total for items under A.

We hereby warrant that the total amount reflected in this Annual Supplies/ Equipment Procurement Plan to procure the listed common-use supplies, materials and equipment has been included in or is within our approved budget for the year.

Prepared by: _____ Appropriations Available: _____ Approved: _____

(Sgd.) ROLANDO DAGALA
Property/Supply Officer

(Sgd.) AGNES ABRATIQUÉ
Local Budget Officer

(Sgd.) ATTY. JOSÉ LUIS G. MONTALES
OIC, Office of the City Administrator

Date Prepared: 02 JANUARY 2014